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Exact Time Now:

A.1.0.1

 

1. Yes 5. No

A:1

0 1 2

3 4 5 6 7 8 9 10

11.  S.L.C. or Equivalent

Let's talk about your education.  Did you go to school, attend any nonformal education classes, or 

appear in any exam any time since 1996?

SECTION A:  EDUCATION AND EXPERIENCE

What is the highest grade in school or year of  college you have completed?

Go to A:2.0

Go to A:2.0

11.  S.L.C. or Equivalent

12.  I.A. or Equivalent

14.  B.A  or Equivalent

16.  M.A. or Equivalent

18.   Ph.D. or Equivalent

Go to A:4.0
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A:2.0 Checkpoint:  (Pre-edit with information from 1996: A: 2 )

1 Response to 1996: A:2 was "No"

2  Response to 1996:A: 2 was "Yes" 

Go to A:4.0

A:2 Can you read a letter written in Nepali ?

1. Yes 5. No

A:3 Can you write a letter in Nepali?

1. Yes 5. No

Go to A:6

A:4.0 Checkpoint:  (Pre-edit with information from 1996:A:4 )

1 Response to 1996: A:4 was "No"

2 Response to 1996:A:4 was "Yes"

Go to A:5

A:4 Have you ever read a newspaper ?

1. Yes 5. No Go to A:6
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A:5

1. Less than once a week

2. Once a week

3. More than once a week

A:6 What languages can you speak ?

For interviewer

Please mark all that apply

1. Nepali  

2. Hindi   

How often do you read newspapers?  Would you say that you read newspapers less than once a 

week, once a week, or more than once a week?

 

3. Tamang

4. Gurung

5. Newar

6. Tharu

7. English   

97. Others (Please Specify)

A.

B.
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A:6.0 Interviewer's  Checkpoint:  (Check from A:6 and Coverpage )

1 R does not speak English AND is 34 or Younger

2 All Others

Go to A:7.0

A:6.1

1. Very Important 

2. Somewhat important 

3. Not at all important

How important is it for you to learn English? Would you say that it is very important, somewhat 

important, or not at all important for you to learn English?

Sometimes things people want to achieve are difficult to get. How likely is it that you will learn A:6.2

1. Very Likely

2. Somewhat Likely

3. Not Likely at All

Sometimes things people want to achieve are difficult to get. How likely is it that you will learn 

English?  Would you say it is very likely, somewhat likely, or not likely at all that ou will 

learnEnglish?
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A:7.0 Checkpoint:  (Pre-edit with information from 1996: A:7)

1 Response to 1996: A: 7 was  "No"

2  Response to 1996:A:7 was "Yes"

Go to A:9

A:7 Have you ever listened to a radio?

1. Yes 5. No Go to A:11.0

A:8 How old were you when you listened to a radio for the first time?

Years

A:9

1. Daily

2. Once or twice a week

3. Rarely

A:10 Do you listen to family planning programs on the radio?

1. Yes 5. No

During the last twelve months, how often have you listened to the radio-daily, once or twice a 

week, or rarely?
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A:11.0 Checkpoint:  (Pre-edit with information from 1996: A :11)

1 Response to 1996: A:11 was "No"

2 Response to 1996: A:11 "Yes"

Go to A:13

A:11 Have you ever watched a movie?

1. Yes 5. No Go to A:14.0

A:12 How old were you when you watched a movie for the first time?

Years

A:13 How many movies have you watched during the last twelve months?

Number
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A:14.0 Checkpoint:  (Pre-edit with information from 1996:A:14)

1 Response to 1996: A:14 was "No"

2  Response to 1996:A14 was "Yes"

Go to A:16

A:14 Have you ever watched a television?

1. Yes 5. No Go to A:17.0

A:15 How old were you when you watched television for the first time?

Years

A:16

1. Once a week or more

2. About once a month

Go to A:16.2

3. Rarely

During the past twelve months, how often did you watch television?  Did you watch  it once a 

week or more, about once a month, or rarely?
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A:16.1 How often did you watch television?  Did you watch it everyday, four to five days a week, 

two to three days a week, or less than two to three days a week?

1. Everyday  

2. Four to five days a week 

3. Two to three days a week

4. Less than two to three days a week

A:16.2 Is the TV you watched most often hooked to a cable or disk line?

 

1. Yes 5. No

A:17.0 Checkpoint:  (Pre-edit with information from 1996: A:17)

1 Response to1996: A:17 was "No"

2 Response to 1996: A:17 was "Yes"

Go to A:17.1

A:17 Have you ever watched a movie on a V.C.R.?

1. Yes 5. No
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A:17.1 Have you ever used a computer ?

1. Yes 5. No

A:17.2 How old were you when you used a computer for the first time?

_____________ Years

A:17.3 Have you ever used email or internet?

1. Yes 5. No Go to A:18

A:17.4 How old were you when you used email or internet for the first time?

Go to A:18

_____________ Years

A:18 Did you become a member of any new youth club after 1996? 

1. Yes 5.  No

A:19-A:20 Question number A19 and A.20 are kept blank

A:20.1

______________AGE

How old were you when you became a member of any new youth club for the first time 

after 1996?

Go to A:21
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A:21

1. Yes 5. No Go to A:26

A:22 What are/were those groups, associations or organizations you became a member of after 1996?

1.

2.

3.

A:23

Did you become a member of any other group, such as a User's Group, Mothers' Group, a group 

organized by health volunteers, Rotary Club, or any other type of association or organization after 

1996?

How old were you when you became a member of a group, association, or organization for the 

first time after 1996?

Years

A:24 Interviewer Checkpoint:  (FromA:22)

1

 

2  All Others

 

Go to A:26

A: 25 What was the name of the group, association or organization of which you became 

a member for the first time after 1996?

Name : Type:

Respondent is/was a member of more than one group, association or 

organization after 1996
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A:26 Interviewer Checkpoint (From A:18 AND A:21)

1

 Go to A:29.0

2  All others

 

Question number A:27 and A:28 are left blank

A 28.1 Have you ever been an Executive Member in any clubs, groups, associations, or  

organizations that you have ever been a member of?

1. Yes 5. No

A:29.0 Checkpoint:  (Pre-edit with information from 1996:A29)

1 Response to 1996: A:29 was "No"

Responses to A: 18 is "No" AND Response to A: 21 is "No"

2  Response to 1996:A:29 was "Yes"

Go to A:31

A:29 Have you ever opened a bank  account?

1. Yes 5. No Go to A:32.0

A:30 How old were you when you opened a bank account for the first time ?

________ Years  
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A:31 Do you have a bank account now?

1. Yes 5. No

A:32.0 Checkpoint:  (Pre-edit with information from 1996: A32)

1 Response to 1996:A32 was "No"

2  Response to 1996:A32 was "Yes"

Go to A:34

A:32 Have you ever visited a clinic, health post, medical facility, or hospital?

1. Yes 5. No Go to A:34

A:33

_______ Years

A:34 Have you ever had health, life or accident insurance?

1. Yes 5. No Go to A:36

A:35 How old were you when you first had had health life or accident insurance?

_______ Years

How old were you when you visited a clinic, health post, medical facility, or  hospital for the first 

time?
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A:36 Have any members of your family or relatives ever been outside of Nepal and India?

1. Yes 5. No

A:37 Have any of your friends ever been outside of Nepal and India?

1. Yes 5. No

A:38

1. Yes 5. No

Have you ever worked for, or traveled or lived with any foreigner (other than Indian) for one 

week or more?

I'm going to read out some different forms of action that people can take toward the government or A.39

1. Have done

2. Might do

3. Never do

98. Don't Know

I'm going to read out some different forms of action that people can take toward the government or 

political parties, and I'd like you to tell me, for each one, whether you have actually done any of these 

things, whether you might do it or would never, under any circumstances, do it.  

First, how about signing a petition – have you actually done this, might you do it, or would you 

never, under any circumstances, do it?
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A.40

1. Have done

2. Might do

3. Never do

98. Don't Know

A.41

1. Have done

2. Might do

Next, how about joining in boycotts or strikes toward the government or political parties– have 

you actually done this, might you do it, or would you never, under any circumstances, do it?

And how about attending lawful demonstrations toward the government or political parties – 

have you actually done this, might you do it, or would you never, under any circumstances, do it?

3. Never do

98. Don't Know
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 Checkpoint:  (LHC Pre-edited)

1 The first column of the LHC is predited with information from 1996 LHC 

2       LHC is not pre-edited 

Stop interview here and contact supervisor

 

SECTION B:  LIFE HISTORY CALENDAR

As we just talked, in the month of ……. in …. .., (date of last interview) one of our friend  talked 

to you about your life expereinces and events that have occurred in your life since your bith. At 

that time, we recoded all  of your information in the Life History Calendar. This time I would  

like to update the same calendar with your experiences and events that have occurred in your life 

since the time our friend talked to you in 1996  

As in last time, we have  prepared a calendar to help you recall the timing of events since the last 

interview.  Here we have put years on the top row of the calendar.  National events such as the 

Royal Palace massacare, 19 days Janaandolon are on the second row.  And, local events such as 

construction of a new school, road, irrigation canal, temple or expansion of electricity in the third 

row of the calendar. We hope this will help you  recall the timing of events since you were 

interviewed last time. 

  For Interviewer

       Elaborate explanation as necessary

B.1 Age

Now you are ……….. years old. Isn't it?

interviewed last time. 

Also we have copied the information in this LHC, which you reported in 1996 to help you to 

remember. If this is wrong, please correct it.
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B.2

B.5

For Interviewer.

In what year did you stop living in that (1996 neighborhood/ palce of residence) ?

Where did you move to ( neighborhood/place)?

How many years did you live in that (neighborhood/place)?

Let's start with the places where you have lived since you were interviewed  in 1996.  Here we are 

not asking where your family lived, but we want to know the places where you have lived for six 

months more. At that time you were  iving in ………(pre-edit with name of the place R was 

living in 1996).  Did you ever stop living in that palce ….….. for more than six months?

Migration

If respondent disagrees with the pre-edited place of residence please record the name of 

the place in the descripency column right to (pre-edited column)and continue the 

interview.

That means you are continuously living here 

for the entire period. Is that right? 
1. Yes 5. No

How many years did you live in that (neighborhood/place)?

For Interviewer:

Now I would like to check whether or not I recorded the information correctly.  If this 

information is wrong, please correct me.

Where were you living when you were …… years old?

How old were you when you moved form……….. to ………. ?

Where were you living (before/after) living in …………… (Place)?

Repeat above questions until you to the respondent's place 

of residence in 2008
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Checkpoint:  (LHC Pre-edited with R marital information)

1 R. was not married in 1996   2  3

B.6 When we talked to you in 1996 you were When we talked to you in 1996  you were 

B.9 unmarried.  married to ………and (living together/  

Have you ever married or lived as husband/ separate) with her/him. 

wife with somebody even for a few days after Were you continuously married to only  

1996? him/her for the entire period?

5. No

5. No  

Have you married or lived as husband/

wife with any body else other than ……..

even for a few days after 1996?

Marital Status

That means you are 

still unmarried.  Is that 

right?

R. was 

married in 

1996

R.was married 

before 1996, but 

unmarried in 

1996

1. Yes

 

1. Yes

even for a few days after 1996?

5. No

That means you are still 

married only to her/him.  

Is that right?

right?

1. Yes

You got married in …………. and because of …………….(widowed/divorced) in 

year……………, you were unmarried in 1996. Are you still unmarried or married or lived as 

husband/wife with somebody even for a few days after 1996?
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1. Yes How many times have you married?

In what year did you marry (for the first time/ to ………….)?

How old were you (at your first marriage/when you marry to …………..) ?

In what month did you have (your first marriage/ marry to ………..) ?

 

If you started living together after some time, how many months or years after marriage was it 

before you started living together?

Was your (first marriage/ (second, …. most recent) marriage done on the auspecious day matched 

with lagan)?

After your marriage, did you and your (husband/wife/ ……husband/wife) start living together in 

the same year or did you start living together after some time?

In this study, we are talking with a variety of people.  Some people may marry more than once.  

Did you (ever / since we talked last time in 1996) marry more than once?

Have you and your (husband/wife/ ………husband/wife) ever lived separately for six months 

after you started living together?

1. Yes

Even though they have a good marriage, sometimes a husband and wife live separately because of 

a job transfer, being commissioned in the police force, or joining the military. Other couples live 

separately because they are having problems getting along.  Have you and your (husband/wife) 

ever lived separately for six or more months?

Sometimes couples live apart because of spousal conflict, the death of a spouse, or other reasons.  

At present, are you living together or living separately?

What caused you to be separated?  Was it because of a 

misunderstanding with your spouse, or because one of you was away 

for work, or because of some other reason?
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In what year did you separate for more than six months?

In what year did you live together again?

After that, did you ever live separately again?

In what year did you live separately for more than six months?

After being separated, did you live together again for six or more months?

 

In which year did you live together again?

1. Yes

Yes

1. Yes What caused you to be separated?  Was it because of a 

misunderstanding with your spouse, or because one of you were away 

for work, or because of some other reason?

After being separated, did you ever live together again as husband and wife for more than 

six months

1. Yes

1. Yes

How long have you been living separately?

For Interviewer

If the respondent has married more than once, ask the above questions for each spouse.

Separated Is that because of divorce (husband/wife went away with other  

woman/man) or death of a spouse?

19



(Cross-check new information with information already recorded on calendar.)

How old were you when you started living together after your marriage?

Where did you live when you started living together?

Where did you live when you started living separately ?

Where did you live when you started living together again?

Where did you live when you started living separately after the divorce or 

death of your husband/wife?

Now I would like to check whether or not I recorded the information correctly.  If 

this information is wrong, please correct me.

What was your age at the time (of your first marriage/ you marry to……  ) ?  

And, where did you live?

20



Checkpoint:  (LHC Pre-edited with R Childbearing)

1 R. did not have children in 1996   2 R.had children in 1996 

B:10 Now lets talk about childbearing. Last time 

B:21 when we talked to you you did not have any child.

Did you give birth to a child since we  talked 

to you in 1996? 

Please tell us about each child even if he/she

died shortly after birth.

5. No

1. Yes 5. No  

That meas you still do not  

have a child. Is that right?  

 

Children

1. Yes

That means you still have 

same number of children. 

as in 1996. Is that rigtht?   

Now lets talk about childbearing. Last time 

when we talked to you you had 

………children. Did you give birth to a 

child since we talked to you in 1996?      

Please tell us about each child even if 

he/she died shortly after birth.

1. Yes 5. No 1. Yes 5. No

 

In addition to the children born to you, do

you have an adopted child?

 

1. Yes 5. No 1. Yes 5. No

Is a son or a daughter?

For Interviewer

Respondent married to more than one husband/wife

For Interviewer 

Begin with youngest child.

When we talked to you last in 1996 

you had ……son (s) and …… 

Daughter(s) with a total of 

…………children. 

In addition to the children born to 

you, do you have an adopted child?

 Go to Living Arrangement Section
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……..born from which (husband/wife)?

Where was this child born? In hospital or at home?

If born at home, did you receive help from a midwife?

In which month of which year was (your first 

child/this child) born ? Wherew as this child born? In 

hospital or at home ?

Has………...been living with you since birth?  Since 

which year has………..been living with you?

If born at home did you receive help 

from a midwife?

Did…………..ever go to school?  Which year 

did…………….start going to school?

Which year did………stop going to school? Did 

(he/she) join school again?

At that time she/he was (going/not 

going) to school. Did she/he ever 

(go/stop going) to school? Which 

year did she/he (start/stop) going to 

school? 

Did (she/he) (join/stop going) to 

school Which year did ….(start/stop) 

going to school?

At that time ………(name of the 

child) has been living with you Is 

she/he still living with you? 

Has……...she/he ever lived away 

from home for more than six months 

during this period?

Is     still going to school?

Is she/he still going to school?

Is     still living with you?

Is ……stilling living with you?

5. No

Died

In which year

did……..die ?

If so, where is………...and 

what is he/she doing now?

Died

If so, where is …… and 

what is she/he doing now?  

going to school?

Since which year has 

been away from home?

Away from home

5. No

Since which year has………. 

been away from home?

In which year 

did ....die ? 

Away from home
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Which year did

……….come back? Yes

For Interviewer

Repeat the above questions for each child of the respondent

Yes

Did……………..return home to eat and sleep for six 

or more months since he/she left home?

After that, did…………….ever return home to eat 

and sleep for six or more months?

Did……… return home to eat and 

sleep for six or more months since 

he/she left home?

Which year 

did……. come 

back?

After that, did……..ever return home 

to eat and sleep for six or more 

months?

Even though this is………'s home, did he/she ever go 

somewhere to live for  six or more months?

Even though this is………'s home, did 

he/she ever go somewhere to live for 

six or more months?

(Cross-check new information with information already recorded on calendar.)

How old were you when…………… was born?

After how many years of your marriage, was……….. born?

Where were you living when…………died?

Up to what age did………….study? 

Now I would like to check whether or not I recorded the information correctly? If this 

information is wrong, please correct me.
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B.22 Checkpoint:  (LHC Pre-edited with R Living Arrangement)

1  2

1. Yes 5. No 1. Yes 5. No

In which year did you stop living in hostels or baracks with unrelated people/ living alone?

R.was living in hostel/barack or alone 

in 1996 

When we talked to you, you reported that 

you were living in hostel/barack with 

unrelated people / living alone. Since we 

talked to you in 1996 did you ever stop 

living in hostel or barack with unrelated 

people or live alone for six months or 

more?  

Living Arrangements

When we talked to you, you reported that you 

were not living in hostel/barack with unrelated 

people / living alone. Since we talked to you in 

1996 did you ever live in hostel or barack with 

unrelated people or live alone for six months or 

more?  

R.was not living in hostel/barack or alone 

in 1996 

In which year did you start living in (dorm or barack with unrelated people or lived alone) for six In which year did you start living in (dorm or barack with unrelated people or lived alone) for six 

months or more

After living in hostels or baracks with unrelated people or alone for six months or more, did you 

ever stop living in hostel or barack with unrelated people or lived alone for six months or more?

Did you ever live in hostels or baracks with unrelated people or live alone again, for six 

months or more any time after that?
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In which year did you stop living in hostels or baracks with unrelated people/ living alone?

For Interviewer

Repeat above questions until you get the complete history of non-family living up 2008

(Cross-check new information with information already recorded on calendar.)

How old were you when you first lived in hostels/barack or alone after 1996? 

 

How old were you when you lived in hostels/barracks for the most recently?

Now I would like to check whether or not I recorded the information correctly? If this 

information is wrong please correct me.

In which year did you start living in  hostels or baracks with unrelated people or live alone 

again for six months or more

How old were you when you lived in hostels/barracks for the most recently?

Where were you living when you lived alone most recently?
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B.23 Now let us talk about places you travelled to since we talk to you in 1996.

B.27 Checkpoint:  (LHC Pre-edited with R Travel)

1 R. travelled to Outside Nepal  2 R.never travelled outside Nepal

before 1996 before 1996

Have you ever travelled outside Nepal after  Have you ever travelled outside Nepal for

1996 for one week or more? one week or more?

In which year did you travel outside of Nepal for one week or more?

Which country/countries did you visit? 

After that, did you travel outside of Nepal again for one week or more?

 

Travel

1. Yes 5. No 1. Yes 5. No 

When was that?

Which country/countries did you visit? 
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Checkpoint:  (LHC Pre-edited with R Travel)

1 R. travelled to Kathmandu  2 R.never travelled to Katmandu

before 1996 before 1996

Have you ever travelled to Kathmandu  any time  Have you ever travelled to Kathmandu for

between 1996 to 2008 for one week or more? one week or more?

Go to Education Go to Education 

In which year did you travel to Kathmandu for one week or more?

After that, did you travel to Kathmandu  again for one week or more?

In which year did you travel to Kathmandu for one week or more?

5. No 1. Yes 5. No 1. Yes 

 

After that, when did you travel to Kathmandu again for one week or more?
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(Cross-check new information with information already recorded on calendar?)

How old were you when you travelled outside of Nepal for the last time?

With whom did you live when you travelled outside of Nepal for the first time?

Did you have any child born to you when you travelled outside of Nepal last time?

Where did you live when you travelled to Kathmandu last time?

Were you married when you travelled to Kathmandu for the first time?

Now I would like to check whether or not I recorded the information correctly. If this 

information is wrong, please correct me.
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B.28 Checkpoint:  (LHC Pre-edited with R Education)

B.29 1        R. was enrolled in 1996    

2      R. been to school but not enrolled in 1996

3      R. never been to school

4      R.attended adult

        education

Did you ever Did you ever attend  

go to school  adult education classes 

to study even any time after 1996?

 for one day?

 

 

Go to Occupation1. Yes 

Did you ever 

STOP going to 

school any time 

after 1996 ?  

Did you ever go to 

school to study 

even for one day 

any time after 

1996?

5. No 

Education

In which year did you (start/stop) going to school/adult classess?

What type of school was it? Was it government, private school or were you studying

in foreign country?

Did you ever (stop/start) going to school/adult classes after that?

Are you still (going/not going) to school?

Did you ever (go/stop going) to school again after that?

1. Yes 5. No 
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In which year did you (start/stop) going to school/adult class?

For Interviewer

(Cross-check new information with information already recorded on calendar.)

Where did you live when you were going to school for the first time?

How old were you when dropped off school for the first time?

Where did you live when you attended adult education for the first 

time?

Repeat above questions for adult education

Now I would like to check whether or not I recorded the information correctly. If this 

information is wrong, please correct me.

What type of school was it? Was it government, private school or were you studying in 

foreign country?

time?

What type of school were you enrolled in when you first started going to school?  

30



B.30

B.34

Checkpoint:  (LHC Pre-edited with R Education)

1        R. was employed in salary job in 1996    

2        R. was not employed in salary job in 1996  

3      R. had daily wage job in 1996

 4      R. did not work in daily wage job in 1996

5      R. had business at home OR outside

      home

6      R. did not have business at 

home OR outside home

7      R.was in military in

     1996

 8     R was

        Not in 

        military

   in 1996

Did you  

QUIT or 

Did you ever 

STOP your 

Employment

Did you ever 

QUIT or were  

Did you ever 

STOP doing daily 

 

QUIT or 

were you 

LAID OF  

from 

Militatary 

after 1996?  

Did you ever 

start doing 

daily wage job 

any time after 

1996?  

Did you ever 

join militray 

service any 

time after 

1996?

STOP your 

business at 

home/outside 

home any time 

1996?  

Did you ever 

start your 

business at 

home/ootside 

home any time 

1996?

QUIT or were  

LAID OF from 

your salary job 

any time after 

1996?

STOP doing daily 

wage job any time 

after 1996 ? 

Did you ever start 

working in salary 

job any time after 

1996? 
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In which year did you (START /QUIT) salary job for the first time after 1996? 

Did you ever quit or were you laid off from this job?  

5. No Are you still working for this employer ?

Did you ever START working in salary job again after that?

In which year did you start again?

For Interviewer

Ask above questions for each different employment

1. Yes 

What type of employer you worked for? Was it Government, Non- governmental ogranization, 

international Organization or Private company/factory? 

What type of employer did you work for? Was it a government, non-governmental ogranization, 

international organization or private company/factory? 

(Cross-check new information with information already recorded on calendar.)

How old were you when you were employed for the first time?

How old were you when you were laid off for the first time?

Where did you live when you were employed for the first time?

How old were you when you were employed for the first time?

Where were you living when you worked as a wage laborer for the first 

time?

Where were you living when you started keeping a shop or another business 

in your own home?

Now I would like to check whether or not I recorded the information correctly. If 

this information is wrong, please correct me.
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E:1 Interviewer checkpoint (From LHC)

 1 Respondent has ever been married

2 Respondent has never been married

Go to E:14

E:1.0 Checkpoint (From Coverage)

1 R married after 1996 AND Marriage supplement has not been asked

2      R was married before 1996 interview OR Marital supplement was asked

3 R married again after 1996

Go to E:15

SECTION E:  MARRIAGE

33

3 R married again after 1996

E:2

 

Go to E:4

2. Myself 3. Both1.Parents/relatives

Now let's talk about marriage.  I would like to ask some questions about your marriage. People 

marry in different ways.  Sometimes our parents or relatives decide whom we should marry, and 

sometimes we decide ourselves.  In your case, who selected your (first) spouse?  Your 

parents/relatives, yourself, or both?

Go to E:9
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E:3

E:4

E:5 Had you met your (first) husband/wife before talk of your marriage began?

In order to find a suitable spouse for you, did somebody other than your family members help 

you?

1. Yes

1. Yes 5. No

Although both of you may have decided, one of you may have had a little more influence than the 

other.  Who had more influence in choosing your (first) spouse?  You or your parents and 

relatives?

5. No

1. Parents/relatives 3. Equally2. Myself

34

E.6-E.8 Question Number E.6 to E.8 Kept Blank
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E:9 Interviewer checkpoint (From LHC)

 1   Respondent has married more than once

2 Respondent has married only once

E:10 Who chose your most recent (husband/wife)?  Your parents and relatives, yourself or both?

Go to E: 12

E:11 Although both of you may have decided, one of you may have had a little more influence than the 

other.  Who had more influence in choosing your most recent spouse?  You or your parents and 

relatives?

3. Both1.Parents/relatives 2. Myself

Go to E:15
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E:12

1. Yes 5. No

relatives?

In order to find a suitable spouse for you, did somebody other than your family members help you 

find your most recent spouse?

1. Parents/Relatives 2. Myself 3.  Equally

35



E:13 Had you met your most recent husband/wife before the talk of your marriage began?

1. Yes 5. No

E:14

 

1. Very Important

2. Somewhat Important

3. Not Important at All

4. Mother Dead

Go to E:15

How important do you think it is to your mother that you get married soon?  Would you say very 

important, somewhat important, or not important at all?

36

E:15 What do you feel is the ideal age for a woman to get married these days?

 

AGE

E:16 What do you feel is the ideal age for a man to get married these days?

AGE
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E:17 After how many years of marriage is it ideal to have a child?

_____________YEARS

E:18 Interviewer checkpoint (From LHC Section)

1 Respondent was never married  AND is age 15-34

2 All Others

E:19

How soon do you think you are going to get married?  Would you say that you are probably going 

to get married within a year, two to three years,  four to five years, six years to seven years or  

eight years or more from now?

During the last few questions we have been talking about people in general. Now we would like 

to talk about what might happen in your life.

Go to Section F

37

1. Within a year 

2. Two to three years 

3. Four to five years Go to E:21

4. Six to seven years

5.   Eight years or more

6. Never (IF VOL)

98. Don't Know Go to E:21

eight years or more from now?
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E:20 Suppose you did get married. At what age would you expect to marry?

________AGE

Go to E:22

E:21 At what age do you expect to marry?

Years

98. Don't Know Approx. age

E:22

97. Never

Go To Section F

People marry in different ways.  Sometimes our parents or relatives decide whom we should 

marry, and sometimes we decide ourselves.  Thinking about the way you might marry, do you 

expect your parents/relatives to select your spouse, for you to select your spouse, or both?
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1. Parents/Relatives

Go to E:24

2. Myself

3. Both

98. Don't Know Go to E:24
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E:23

1. Parents/Relatives

2. Myself

3. Equally

E:24

1. Very likely 

2. Somewhat likely 

3. Not likely at all

How likely is it that you will be in love with the person you are going to marry before your 

marriage?  Would you say that it is very likely, somewhat likely, or not likely at all?

Although both of you may decide, one of you may have a little more influence than the other.  

Who do you think might have more influence in choosing your spouse -- your parents/relatives, 

or yourself?

39

3. Not likely at all

98. Don't Know

E:25

1. Physical beauty 

2. Education 

3. High paying job

4. Someone you love

Which of the following is most important to you in marriage: marrying someone with physical 

beauty; marrying someone who is highly educated; marrying someone with a high paying job; or 

marrying someone you love?

39



E:26

For interviewer: 

Read the three remaining options except the answer of E:25

1. Physical beauty 

2. Education 

3. High paying job

4. Someone you love

E:27 Do you already have someone in your mind that you would expect to marry?

What is the second most important? 

1. Yes 0. No

40

E:28

1. A great deal

2. Some

Go to E:30

3. A little

4. Not at all

98. Don't Know

Suppose things turn out so that you never marry.  How much would that bother you?  Would that 

bother you a great deal, some, a little, or not at all?
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E:29

1. A great deal

2. Some

3. A little

4. Not at all

98. Don't Know

E:30 How long after you have been married do you expect to have your first child?

_________ Months _________ Years Go to E:32  

97. Up to God

I can understand your thinking on that, but how do you think you might feel if you never married?  

How much would that bother you?  Would that bother you a great deal, some, a little, or not at 

all?

41

97. Up to God

E:31

________Months     ________ Years 97. Up to God

Yes, but if you had to choose, after how many months or years after marriage do you expect to 

have your first child?
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E:32

1. Very likely 

2. Somewhat likely 

3. Not likely at all

98. Don't Know

E:33

1. Very likely 

2. Somewhat likely 

How likely do you think it is that you and your husband/wife will use contraceptive methods to 

space the births of your children?

How likely do you think it is that you and your husband/wife will use contraceptive methods to 

postpone your first birth? Would you say that it is very likely, somewhat likely, or not likely at 

all?
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2. Somewhat likely 

3. Not likely at all

98. Don't Know
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F:1.1 Interviewer checkpoint:

 1 Respondent is age 15-34

2 Respondent is age 35+

F:1.2 Interviewer checkpoint: (From LHC)

 1 Respondent (or spouse) has been sterilized

2 All Others

SECTION F:  ATTITUDES TOWARD FERTILITY

Go to F:7

Go to F:7
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F:1 Interviewer checkpoint (From LHC)

 1 Respondent has had children

2 Respondent has never had children

F:2 Would you like to have more children?

1.  Yes 5. No Go to F:7

Go to F:4
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F:3 How many more children would you like to have?

_________ Number of Children Go to F:7

F:4

1. Very Important

2. Somewhat Important

3. Not Important at All

4. Mother Dead

How important do you think it is to your mother that you have children soon? Would you say 

very important, somewhat important, or not important at all?
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F:5 Interviewer checkpoint (From LHC)

 1. Respondent has ever been married

2. Respondent has never been married

Go to F:7

Go to F:6
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F:6

1. Very Important

2. Somewhat Important

3. Not Important at All

4. Mother-in-law Dead

F:7

Number Go to F:10

Range  to 97. Depends/God's Will 98. Don't Know

How important do you think it is to your mother-in-law that you have children soon? Would you 

say very important, somewhat important, or not important at all?

People often do not have exactly the number of children they want to have.  If you could have 

exactly the number of children you want, how many children would you want to have?

45

F:8 If you could have exactly the number you want how many children would you want to have?

Number 97. Depends/God's Will 98. Don't Know

Go to F:10 Go to F:9

Go to F:9
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F:9 Many people feel that way.  However, how many children would you want to have?

Number 97. Depends/God's Will 98. Don't Know

F:10 Interviewer checkpoint

Go to F:15

Look at the answer to F:7 (or F:8, or F:9) and circle that number in the first row of the following 

table.  Fill in the blank space in F:11 with the corresponding numbers from the second row of the 

table
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Go to F:15 Go to F:15
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F:11

Number

F:12 Interviewer checkpoint

F:13

Number

If you could not have  …………... (number from second row) children, would you want to have 

………. Or …….. ?

Circle the answer to F:11 in the second row of the table and fill in the blank space in 

question F:13 with the corresponding numbers from the third row of the table

If you could not have    ………..  (number from first row) children, would you want to have 

…………. Or ………… ?

47

F:14 Interviewer Checkpoint

Circle the answer to F:13 in the third row of the table
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F:15

 

1. Three 2. One Son and 3. Two Sons and 

Daughters Two Daughters One Daughter

Got to F: 20

 

F:16-F:19 Question number F:16 to F:19 are Left Blank

F:20

1. A Great Deal 2. A  Little 3. Not At All

4.   Three

Sons

Some people think that children are a cause of worry or stress.  Do you think children cause a 

great deal of worry and stress, a little worry and stress, or do not at all cause worry and stress? 

Aside from any children you may have now, if you had exactly three children would you want to 

have three daughters, one son and two daughters, two sons and one daughter, or three sons?

48

Go to F:22

6. Depends

F:21

1. A Great Deal

2. A Little

3. Not at all

In general, throughout their lifetime, do you think that children cause a great deal of worry or 

stress, a little worry and stress, or do not at all cause worry and stress?

48



F:22

1. Strongly Agree

2. Somewhat Agree

3. Don't Agree At All

F:23

 

1. Strongly Agree

2. Somewhat Agree

3. Don't Agree At All

Some people think that a married son should take care of his parents in their older age. Do you 

strongly agree, somewhat agree or don't agree at all?

Some people think that a married daughter should take care of her parents in their older age. Do 

you strongly agree, somewhat agree, or don't agree at all?

49

F:24

1. Strongly Agree

2. Somewhat Agree

3. Don't Agree At All

F:25-F:26 Question number F:25 and F:26 are Left Blank

Some people think that having many children would help parents do their work.  Do you strongly 

agree, somewhat agree, or don't agree at all?
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F:26.1 Interviewer checkpoint: (From LHC)

 1 Respondent has children ages 24 or younger

2 All Others

F:27 Have you saved money for your children's education?

1. Yes 5. No

F:28-F:29 Question number F:28 and F:29 are Left Blank

Go to F:30

5050



F:30 Interviewer checkpoint: (From LHC)

 1 Respondent has never had children

2 Respondent has had children

F:31 Interviewer checkpoint: (From LHC)

 1 Respondent is age 35 or older OR has been sterilized

2 All Others

F:32 Now suppose that it turns out that you do not have any children.  How much would that bother 

Go to Section G

Go to Section G

51

F:32

1. A great deal

2. Some

Go to Section G

3. A little

4. Not at all

98. Don't Know

Now suppose that it turns out that you do not have any children.  How much would that bother 

you?  Would that bother you a great deal, some, a little, or not at all?
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F:33

1. A great deal

2. Some

3. A little

4. Not at all

98. Don't Know

I can understand your thinking on that, but how do you think you might feel if it turns out that 

you do not have any children?  How much would that bother you?  Would that bother you a great 

deal, some, a little, or not at all?
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G:1 Now let's talk about religion.  What is your religion?

1. Hinduism     

2. Buddhism

3. Hinduism and Buddhism

4. Islam

5. Christianity

6. None

97. Other, Specify

G:2

1. Very Important

2. Somewhat Important

3. Not At All Important

SECTION G:  RELIGION

How important is religion to you?  Would you say it is very important, somewhat important, or 

not at all important? 
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G:3

1. More than once a week

2. Once a week or less

3. Never

G:4 How often do you pray at a Temple?  More than once a month, once a month or less, or never?

1. More than once a month

2. Once a month or less

3. Never

G:5 During the past 12 months did a (Brahmin/Priest/Lama) visit your house for a religious purpose? 

1. Yes 5. No

How often do you pray at home?  Would you say more than once a week, once a week or less, or 

never?
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G:6

1. Very Important

2. Somewhat Important

3. Not At All Important

G:7 Do you believe that it is sinful to use contraception?

1. Yes 5.  No

How important is it to you to perform (Shradha/Arghau/Tarpan) for dead ancestors? Would you 

say it is very important, somewhat important, or not at all important?
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THIS PAGE IS KEPT BLANK
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H:1 Interviewer checkpoint (From LHC)

1 Respondent is currently married to at least one spouse

2 All Others

Go to Secion I

 

H:2

1. Frequently

SECTION H:  MARITAL RELATIONSHIPS

We would like to know about relationships between husbands and wives.  Now I am going to ask 

you some questions about your relationship with your (most recent) (husband/wife).

How often do you have disagreements with your (most recent) (husband/wife)?  Frequently, 

sometimes, seldom or never?

2. Sometimes

3. Seldom

4. Never
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H:3

1. Frequently

2. Sometimes

3. Seldom

4. Never

H:4

1. Very Much

2. Some

How often does your (most recent) (husband/wife) criticize you?  Frequently, sometimes, seldom, 

or never?

How much do you love your (most recent) (husband/wife)?  Very much, some, a little, or not at 

all?

3. A Little

4. Not at All

H:5 Has your (most recent) (husband/wife) ever beaten you?

1. Yes 5. No
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H:6 Interviewer checkpoint (From LHC)

1 Respondent is 40 or younger and not sterilized

 

2 Respondent is above 40 or sterilized

 

Go to Section I

H:7

 

1. Often 

2. Sometimes

3. Never

Now I am going to ask about some things that husbands and wives might talk about.  How often 

do you and your (most recent) (husband/wife) discuss how many children to have? Often, 

sometimes, or never?

H:8

1. Often 

2. Sometimes

3. Never

How often do you discuss contraceptive methods with your (most recent) (husband/wife)? Often, 

sometimes, or never?
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I:1-I:4 Question number I:1 & I:4 are Left Blank

I:5.0 Interviewer checkpoint (From LHC)

1 Respondent is age 34 or Younger

2 All Others

I:5 

1. Extremely Happy

SECTION I:  FAMILY RELATIONSHIPS

Now I am going to ask you about your parents. In general, would you say that your relationship 

with your mother is extremely happy, very happy, somewhat happy, or not happy at all?

Go to Section K
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1. Extremely Happy

2. Very Happy

3. Somewhat Happy

4. Not Happy at All

5. Mother Dead

61



I:6

1. Extremely Happy

2. Very Happy

3. Somewhat Happy

4. Not Happy at All

5. Father Dead

I:6.1 Checkpoint:  (From LHC )

1 Respondent is married

2 All Others 

In general, would you say that your relationship with your father is extremely happy, very happy, 

somewhat happy or not happy at all?
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2 All Others 

I:7.0 Checkpoint:  (Pre-edit with information from 1996: I: 7 )

1 Response to 1996: I: 7 was "No"

2 Response to 1996:I:7 was "Yes"

I:7 Did your mother ever go to school?

5. No

Go to Section K

Go to I:7.2

1. Yes Go to I:8

62



I:7.1 Did your mother ever attend nonformal education classes or appear in examination?

I:7.2 Did your mother go to school or attended nonformal education classes or appear in  

examination any time after 1996?

1. Yes 5.  No Go to I:11.0

I:8 How many years of schooling did your mother complete?

0 1 2

3 4 5 6 7 8 9 10

Go to I:9

Go to I:9

5. No

1. Yes

63

11. S.L.C or Equivalent

12. I.A. or Equivalent

14. B.A. or Equivalent

16. M.A. or Equivalent

18. Ph.D. or Equivalent

Go to I:11
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I:9 (Can/could) your mother read a letter written in Nepali?

Go to I:11.0

I:10 (Can/could) your mother write a letter in Nepali?

I:11.0 Checkpoint:  (Pre-edit with information from 1996:I:11)

1 Response to 1996: I:11 was "No"

2  Response to 1996: I:11 was "Yes"

1. Yes 5. No

5. No1. Yes

64

Go to I:11.2

I:11 Did your father ever go to school?

1. Yes

5.  No

I:11.1 Did your father ever attend nonformal education classes or appear in examination?

1. Yes

Go to I:13

5. No

Go to I:12
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I:11.2

1. Yes 5.  No

I:12 How many years of schooling did your father complete?

0 1 2 Go to I: 13

3 4 5 6 7 8 9 10

11. S.L.C or Equivalent

12. I.A. or Equivalent

Did your father go to school or attended nonformal education classes or appear in examination 

any time after 1996?

Go to I:19

65

14. B.A. or Equivalent

16. M.A. or Equivalent

18. Ph.D. or Equivalent

Go To I: 19

I:13 (Can/could) your father read a letter written in Nepali?

1. Yes 5. No Go to I:19
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I:14 (Can/could) your father write a letter in Nepali?

1. Yes 5. No

I: 15 - I:18 Questions form I:15 to I:18 are Kept Blank

I:19 How many children did your mother have?

Number

I:20 How many children did your father have?

Number

66

I:21.0 Checkpoint:  (Pre-edit with information from 1996: I:21)

1 Response to 1996: I:21 was "No"

2  Response to 1996: I:21 was "Yes"

Go to I:28

I:21 Has either of your parents ever been sterilized or used a contraceptive?

1. Yes 5. No
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I:22 - I:27 Questions form I:22 to I:27 are Kept Blank

I:28

1. Extremely Happy

2. Very Happy

3. Somewhat Happy

4. Not Happy at All

5. Mother-in-Law Dead

 

In general, would you say that your relationship with your father-in-law is extremely happy, very 

In general, would you say that your relationship with your mother-in-law is extremely happy, very 

happy, somewhat happy, or not happy at all?
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I:29

1. Extremely Happy

2. Very Happy

3. Somewhat Happy

4. Not Happy at All

5. Father-in-Law Dead

In general, would you say that your relationship with your father-in-law is extremely happy, very 

happy, somewhat happy, or not happy at all?
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K:1

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree

K:2 It is alright for a couple to have sex before marriage if they have decided to marry.

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree

SECTION K:  ATTITUDE

Now I would like to ask about your attitudes toward family life.  I will read some 

statements to you.  Please listen to them carefully and tell me whether you strongly agree, 

agree, disagree, or strongly disagree with the statements.

It is wrong to use contraceptives or other means to avoid or delay pregnancy.  Would you say you 

strongly agree, agree, disagree, or strongly disagree?
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K:3

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree

K:4 A man should make most of the decisions in the household. 

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree

Considering all of the advantages and disadvantages, it is better to remain single than to be 

married.
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K:5

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree

K:6 A vasectomized man can not be blessed by God.

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree

Even if the husband and wife could not get along, they should not separate (Would you say you 

strongly agree, agree, disagree, strongly disagree?)
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K:7 Young people should not have sex before they get married?

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree

K:8 If a husband and wife cannot get along, they should get divorced.

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree
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K:9 A man should spend most of his time with his family rather than at work.

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree

K:10

 

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree

Some people think that a married son should live with his parents in their old age.  Do you 

strongly agree, agree, disagree, or strongly disagree with this statement?
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N:1

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree

N:2 Children should keep all of the money they earn while working away from home?

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree

SECTION N:  ATTITUDE

Next I would like to ask a little more about your attitudes toward family life.  I will read some 

statements to you.  Please listen to them carefully and tell me whether you strongly agree, agree, 

disagree, or strongly disagree with the statements.

Even if his first wife cannot bear a child, a man should not marry a second wife.  Do you strongly 

agree, agree, disagree, or strongly disagree with this statement?
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N:3 Parents should always choose a spouse for their child.

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree

 

N:4

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree

It is better to have no children than to have a child who marries a spouse of a different 

caste?
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N:5 It is okay for a person to decide not to have any children.

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree

N:6 A man should not have more than one wife at a time.

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree
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N:7 A man who has ten children is a fool.

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree

N: 8 A young widow should remarry another man.

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree

78



N:9 To be an infertile woman is the same as not having a life.

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree

N:10 A girl should be married before her first menstruation.

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree
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N:11

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree

N:12 It is better to have many children than to be rich.

 

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree

"One son, what son? One eye, what eye?"  (Having only one son is the same as having only one 

eye.)

80



N:13 Everybody should use contraception.

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree

N:14 Men who do not have children can not go to heaven.

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree
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N:15 Raising children is cheap these days.

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree

N:16

1. Strongly Agree

2. Agree

3. Disagree

4. Strongly Disagree

After coming to her husband's home, a daughter-in-law should be obedient to her mother-

in-law.
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AI:1 Exact Time Now:……………

AI:2

1. In Hospital

Go to AI:4

5. At Home

7. Other

8. Don't Know

Section AI: Values about Societal Attributes 

(Neighborhood things)

There are many different kinds of societies and living situations.  I am going to ask you to 

compare a variety of living situations.  Please tell me overall which one you think is better for 

most people in Nepal today.

Overall, which do you think is better for most people in Nepal today -- a society in which most 

women give birth in a hospital or a society in which most women give birth at home?

83

8. Don't Know

AI:3

1. In Hospital

5. At Home

7. Other

8. Don't Know

Yes, but if you had to choose, which do you think is better -- a society in which most women give 

birth in a hospital or a society in which most women give birth at home?
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AI:4

1. America

Go to AI:6

5. Nepal

7. Other

8. Don't Know

AI:5

1. America

5. Nepal

(Overall, which do you think is better for most people in Nepal today --) culture in America or 

culture in Nepal?

Yes, but if you had to choose, which do you think is better -- culture in America or culture in 

Nepal?
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7. Other

8. Don't Know
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AI:6

1. Local Healer

Go to AI:8

5. Medical Doctor

7. Other

8. Don't Know

AI:7

1. Local Healer

5. Medical Doctor

(Overall, which do you think is better for most people in Nepal today --) a society in which most 

people visit a local healer or a society in which most people visit a medical doctor?

Yes, but if you had to choose, which do you think is better -- a society in which most people visit 

a local healer or a society in which most people visit a medical doctor?
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7. Other

8. Don't Know
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AI:8

1. Do not have TV

Go to AI:10

5. Do have TV

7. Other 

8. Don't Know

AI:9

1. Do not have TV

Yes, but if you had to choose, which do you think is better -- a society in which most families do 

not have television in their homes or a society in which most families do have television in their 

homes?

(Overall, which do you think is better for most people in Nepal today --) a society in which most 

families do not have television in their homes or a society in which most families do have 

television in their homes?
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5. Do have TV

7. Other 

8. Don't Know
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AI:10

1. Work at Home

Go to AI:12

5. Work Outside the Home for Pay

7. Other

8. Don't Know

AI:11

1. Work at Home

5. Work Outside the Home for Pay

(Overall, which do you think is better for most people in Nepal today --) a society in which most 

people work at home or a society in which most people work outside the home for pay?

Yes, but if you had to choose, which do you think is better -- a society in which most people work 

at home or a society in which most people work outside the home for pay?
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7. Other

8. Don't Know
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AI:12

1. Great Personal Freedom

Go to Section BI

5. Little Personal Freedom

7. Other

8. Don't Know

AI:13

1. Great Personal Freedom

5. Little Personal Freedom

Yes, but if you had to choose, which do you think is better -- a society in which there is great 

personal freedom or a society in which there is little personal freedom?

(Overall, which do you think is better for most people in Nepal today --) a society in which there 

is great personal freedom or a society in which there is little personal freedom?
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7. Other

8. Don't Know
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Again let us talk about facilities.

BI:1

1. Very Important 2. Somewhat Important 3. Not Important at all

BI:2

1. Very Important 2. Somewhat Important 3. Not Important at all

BI:3

1. Very Important 2. Somewhat Important 3. Not Important at all

BI:4

1. Very Important 2. Somewhat Important 3. Not Important at all

Section BI: Values about Societal Attributes 

(Household Things)

How important is it to have a radio in your home? Would you say it is very important, 

somewhat important, or not important at all? 

How important is it to have a TV in your home? Would you say it is very important, 

somewhat important, or not important at all? 

How important is it to have a V.C.R or V.C.D. in your home? (Would you say it is very 

important, somewhat important, or not important at all?)

How important is it to have a motorcycle? (Would you say it is very important, somewhat 

important, or not important at all?) 
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BI:5

1. Very Important 2. Somewhat Important 3. Not Important at all

BI:6

1. Very Important 2. Somewhat Important 3. Not Important at all

BI:7

1. Very Important 2. Somewhat Important 3. Not Important at all

BI:8

1. Very Important 2. Somewhat Important 3. Not Important at all

How important is it to have a telephone in your home? (Would you say it is very important, 

somewhat important, or not important at all?)

How important is it to have a gas stove in your home? (Would you say it is very important, 

somewhat important, or not important at all?)

How important is it to have a refrigerator in your home? (Would you say it is very 

important, somewhat important, or not important at all?)

How important is it to have a computer in your home? (Would you say it is very important, 

somewhat important, or not important at all?)
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CI:1

1. Living with Parents

Go to CI:3

5. Living Separately

7. About the Same

8. Don't Know

Section CI: Beliefs that Elements of a Modern Family are 

Good

Now I would like you to compare different family situations. For each of the following 

comparisons, please tell me which situation would be better for most people in Nepal today.

Overall, which do you think is better for most people in Nepal today – married children living 

with their parents or in-laws, or married children living separately? 
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CI:2

1. Living with Parents

5. Living Separately

7. About the Same

8. Don't Know

Yes, but if you had to choose, which do you think is better ( -- married children living with their 

parents or in-laws, or married children living separately)? 
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CI:3

1. Choose Own Spouses

Go to CI:5

5. Parents Choose Spouses

7. About the Same

8. Don't Know

CI:4

1. Choose Own Spouses

5. Parents Choose Spouses

Overall, which do you think is better for most people in Nepal today -– young people choosing 

their own spouses, or parents choosing their spouses for them? 

Yes, but if you had to choose, which do you think is better (-- young people choosing their own 

spouses, or parents choosing their spouses for them)?
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7. About the Same

8. Don't Know
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CI:5

1. Living Together

Go to CI:7

5. Not Living Together

7. About the Same

8. Don't Know

CI:6

1. Living Together

Yes, but if you had to choose, which do you think is better (-- a society in which it is acceptable 

for an unmarried man and woman to live together like a married couple or a society in which it is 

not acceptable for an unmarried man and woman to live together like a married couple)? 

(Overall, which do you think is better for most people in Nepal today--) a society in which it is 

acceptable for an unmarried man and woman to live together like a married couple or a society in 

which it is not acceptable for an unmarried man and woman to live together like a married 

couple?
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5. Not Living Together

7. About the Same

8. Don't Know
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CI:7

1. Waiting Until Marriage

Go to CI:9

5. Sex Before Marriage

7. Others

8. Don't Know

CI:8

1. Waiting Until Marriage

5. Sex Before Marriage

Overall, which do you think is better for a woman -– waiting until marriage to have sex or having 

sex before marriage?

Yes, but if you had to choose, which do you think is better for a woman (-– waiting until marriage 

to have sex or having sex before marriage)?
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7. Others

8. Don't Know

94



CI:9

1. Divorce

Go to CI:11

5. Unhappy Marriage

7. Others

8. Don't Know

CI:10

1. Divorce

5. Unhappy Marriage

7. Others

Overall, which do you think is better for most people in Nepal today -– a divorce or an unhappy 

marriage? 

Yes, but if you had to choose, which do you think is better (– a divorce or an unhappy marriage)? 
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7. Others

8. Don't Know
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CI:11

1. Legal

Go to CI:13

5. Not Legal

7. Others

8. Don't Know

98. Don't Understand Question Go to CI:13

CI:12 Yes, but if you had to choose, which do you think is better (-– a society in which it is legal for 

two men or two women to live together like a married couple or a society in which it is not 

legal)? 

(Overall, which do you think is better for most people in Nepal today -–) a society in which it is 

legal for two men or two women to live together like a married couple or a society in which it is 

not legal? 
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1. Legal

5. Not Legal

7. Others

8. Don't Know

96



CI:13

1. Individual Needs First

Go to CI:15

5. Family Needs First

7. About the Same 

8. Don't Know

CI:14

1. Individual Needs First

5. Family Needs First

Overall, which do you think is better for most people in Nepal today- to put individual needs first 

or to put family needs first? 

Yes, but if you had to choose, which do you think is better (-- to put individual needs first or to 

put family needs first)?
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7. About the Same 

8. Don't Know
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CI:15

1. Own Caste

Go to CI:17

5. Another Caste

7. About the Same 

8. Don't Know

CI:16

1. Own Caste

5. Another Caste

Overall, which do you think is better for most people in Nepal today -- marrying within one's own 

caste or marrying someone of another caste?

Yes, but if you had to choose, which do you think is better (-- marrying within one’s own caste or 

marrying someone of another caste)?
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7. About the Same 

8. Don't Know
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CI:17

1. Remarry

Go to CI:19

5. Not Remarry

7. About the Same

8. Don't Know

CI:18

1. Remarry

5. Not Remarry

(Overall, which is better for most young widows in Nepal today – to remarry or not to remarry? 

Yes, but if you had to choose, which do you think is better for most young widows in Nepal today 

(-- to remarry or not to remarry)?
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7. About the Same

8. Don't Know
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CI:19

1. Get Married

Go to Section FI

5. Not Get Married

7. About the Same

8. Don't Know

CI:20

1. Get Married

5. Not Get Married

7. About the Same

(Overall, which is better for most people in Nepal today – to get married or to not get married?

Yes, but if you had to choose, which do you think is better -- (to get married or to not get 

married)?
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7. About the Same

8. Don't Know
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Now please think about the next twenty years in Nepal.

FI:1

1. Increase 2. Decrease 3. About the Same

FI:2

1. Good Thing 2. Bad Thing 3. Won't Matter�

INTERVIEWER NOTE: PROBE IF R SAYS "DK" OR "DON’T CARE"

FI:3

1. Increase 2. Decrease 3. About the Same

FI:4

1. Good Thing 2. Bad Thing 3. Won't Matter�

Suppose the average age for a woman to first get married increases in Nepal during the next 

twenty years. Overall, will that be a good thing, a bad thing, or won’t it matter? 

Section FI: Beliefs and Values about Family Change

Do you think unmarried men and women living together like married couples will increase or 

decrease in Nepal during the next twenty years? 

Suppose unmarried men and women living together like married couples increases in Nepal 

during the next twenty years. Overall, will that be a good thing, a bad thing, or won’t it matter? 

Do you think the average age for a woman to first get married will increase or decrease in Nepal 

during the next twenty years?  
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FI:5

1. Increase 2. Decrease 3. About the Same

FI:6

1. Good Thing 2. Bad Thing 3. Won't Matter�

FI:7

1. Increase 2. Decrease 3. About the Same

FI:8

1. Good Thing 2. Bad Thing 3. Won't Matter�

FI:9

1. Increase 2. Decrease 3. About the Same

Suppose marriages ending in divorce increase in Nepal during the next twenty years. Overall, will 

that be a good thing, a bad thing, or won’t it matter?

Do you think married couples who live with their parents or in-laws will increase or decrease in 

Nepal during the next twenty years?

Suppose married couples who live with their parents or in-laws decrease in Nepal during the next 

twenty years. Overall, will that be a good thing, a bad thing, or won’t it matter?

Do you think the emphasis on the development of technology will increase or decrease in Nepal 

during the next twenty years?

Do you think marriages ending in divorce will increase or decrease in Nepal during the next 

twenty years?  
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FI:10

1. Good Thing 2. Bad Thing 3. Won't Matter�

FI:11

1. Increase 2. Decrease 3. About the Same

FI:12

1. Good Thing 2. Bad Thing 3. Won't Matter�

FI:13

1. Increase 2. Decrease 3. About the Same

FI:14

1. Good Thing 2. Bad Thing 3. Won't Matter�

Suppose the respect for authority decreases in Nepal during the next twenty years. Overall, will 

that be a good thing, a bad thing, or won’t it matter?

Do you think people putting individual needs before family needs will increase or decrease in 

Nepal during the next twenty years?

Suppose people putting individual needs before family needs increases in Nepal during the next 

twenty years. Overall, will that be a good thing, a bad thing, or won’t it matter?

Suppose the emphasis on the development of technology increases in Nepal during the next 

twenty years. Overall, will that be a good thing, a bad thing, or won’t it matter?

Do you think the respect for authority will increase or decrease in Nepal during the next twenty 

years?
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FI:15

1. Increase 2. Decrease 3. About the Same

FI:16

1. Good Thing 2. Bad Thing 3. Won't Matter�

FI:17

1. Increase 2. Decrease 3. About the Same

FI:18

1. Good Thing 2. Bad Thing 3. Won't Matter�

Suppose parents choosing who their children marry decreases in Nepal during the next twenty 

years. Overall, will that be a good thing, a bad thing, or won’t it matter?

Do you think premarital sex will increase or decrease in Nepal during the next twenty years?

Suppose premarital sex increases in Nepal during the next twenty years. Overall, will that be a 

good thing, a bad thing, or won’t it matter?

Do you think parents choosing who their children marry will increase or decrease in Nepal during 

the next twenty years?
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FI:19

1. Increase 2. Decrease 3. About the Same

98. Don't Understand Question

FI:20

1. Good Thing 2. Bad Thing 3. Won't Matter�

FI:21

1. Increase 2. Decrease 3. About the Same

FI:22

1. Good Thing 2. Bad Thing 3. Won't Matter�

FI:23

1. Increase 2. Decrease 3. About the Same

Suppose people marrying someone from a different caste increases in Nepal during the next 

twenty years. Overall, will that be a good thing, a bad thing, or won’t it matter?

Do you think women never getting married will increase or decrease in Nepal during the next 

twenty years?

Do you think two men or two women living together like a married couple will increase or 

decrease in Nepal during the next twenty years?

Suppose two men or two women living together like a married couple increases in Nepal during 

the next twenty years. Overall, will that be a good thing, a bad thing, or won’t it matter?

Do you think people marrying someone from a different caste will increase or decrease in Nepal 

during the next twenty years?
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FI:24

1. Good Thing 2. Bad Thing 3. Won't Matter�

FI:25

1. Increase 2. Decrease 3. About the Same

FI:26

1. Good Thing 2. Bad Thing 3. Won't Matter�

FI:27

1. Increase 2. Decrease 3. About the Same

FI:28

1. Good Thing 2. Bad Thing 3. Won't Matter�

Suppose the length of time between getting married and having a child increases in Nepal during 

the next twenty years. Overall, will that be a good thing, a bad thing, or won’t it matter?

Suppose women never getting married increases in Nepal during the next twenty years. Overall, 

will that be a good thing, a bad thing, or won’t it matter?

Do you think young widows getting remarried will increase or decrease in Nepal during the next 

twenty years?

Suppose young widows getting remarried increases in Nepal during the next twenty years. 

Overall, will that be a good thing, a bad thing, or won’t it matter?

Do you think the length of time between getting married and having a child will increase or 

decrease in Nepal during the next twenty years?
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HI:1

1. Increase 3. Neither; About the Same 5. Decrease

HI:2

1. Increase 3. Neither; About the Same 5. Decrease

HI:3

1. Increase 3. Neither; About the Same 5. Decrease

HI:4

1. Increase 3. Neither; About the Same 5. Decrease

Section HI: Development Causes Family Change

Now let’s talk about what things would increase and what things would decrease if Nepal became 

richer in the future.

How about females marrying before the age of 18? If Nepal became richer, over time would that 

increase or decrease females marrying before the age of 18?

Parents choosing who their children marry -- if Nepal became richer, over time would that 

increase or decrease parents choosing who their children marry?

Marriages breaking up? (If Nepal became richer, over time would that increase or decrease 

marriages breaking up?)

Unmarried men and women living together like married couples? (If Nepal became richer, over 

time would that increase or decrease unmarried men and women living together like married 

couples?
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HI:5

1. Increase 3. Neither; About the Same 5. Decrease

HI:6

1. Increase 3. Neither; About the Same 5. Decrease

HI:7

1. Increase 3. Neither; About the Same 5. Decrease

HI:8

1. Increase 3. Neither; About the Same 5. Decrease

HI:9

1. Increase 3. Neither; About the Same 5. Decrease

Premarital sex? (If Nepal became richer, over time would that increase or decrease premarital 

sex?)

People putting individual needs before family needs? (If Nepal became richer, over time would 

that increase or decrease people putting individual needs before family needs?)

Married children living with their parents or in-laws? (If Nepal became richer, over time would 

that increase or decrease married children living with their parents or in-laws?)

Women who never marry? (If Nepal became richer, over time would that increase or decrease 

women who never marry?)

People marrying a person of a different caste? (If Nepal became richer, over time would that 

increase or decrease people marrying a person of a different caste?
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HI:10

1. Increase 3. Neither; About the Same 5. Decrease

HI:11

1. Increase 3. Neither; About the Same 5. Decrease

98. Don't Understand Question

HI:12

1. Increase 3. Neither; About the Same 5. Decrease

The length of time between getting married and having a child? (If Nepal became richer, over 

time would that increase or decrease the length of time between getting married and having a 

child?)

Two men or two women living together like married couples? (If Nepal became richer, over time 

would that increase or decrease two men or two women living together like married couples?)

Young widows getting remarried? (If Nepal became richer, over time would that increase or 

decrease young widows getting remarried?)
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II:1

II:2

II:3

II:4 If more unmarried men and women lived together like married couples? (Would that help make 

Nepal richer or help make Nepal poorer?)

1. Richer 3. Neither; About the Same 5. Poorer

Section II: Family Change Causes Development

Some people talk about making Nepal richer. For each of the following things, please tell me 

whether you think it would help make Nepal richer or help make Nepal poorer.

What if fewer females married before the age of 18? Would that help make Nepal richer or help 

make Nepal poorer?

What if fewer parents chose who their children married -— would that help make Nepal richer or 

help make Nepal poorer?

1. Richer 3. Neither; About the Same 5. Poorer

1. Richer 3. Neither; About the Same 5. Poorer

1. Richer 3. Neither; About the Same 5. Poorer

If more marriages broke up? (Would that help make Nepal richer or help make Nepal poorer?)
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II:5

II:6

II:7

II:8

II:9

1. Richer 3. Neither; About the Same 5. Poorer

1. Richer

If there was more premarital sex? (Would that help make Nepal richer or help make Nepal 

poorer?)

If more people put individual needs before family needs? (Would that help make Nepal richer or 

help make Nepal poorer?)

1. Richer 3. Neither; About the Same 5. Poorer

1. Richer 3. Neither; About the Same 5. Poorer

1. Richer 3. Neither; About the Same 5. Poorer

If fewer married children lived with their parents or in-laws? (Would that help make Nepal richer 

or help make Nepal poorer?)

If more women never married? (Would that help make Nepal richer or help make Nepal poorer?)

If more people married a person of a different caste? (Would that help make Nepal richer or help 

make Nepal poorer?)

3. Neither; About the Same 5. Poorer
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II:10

II:11

98. Don't Understand Question

II:12

If more young widows got remarried? (Would that help make Nepal richer or help make Nepal 

poorer?)

If two men or two women living together like married couples increased? (Would that help make 

Nepal richer or help make Nepal poorer?)

If the length of time between getting married and having a child increased? (Would that help 

make Nepal richer or help make Nepal poorer?)

5. Poorer

1. Richer 3. Neither; About the Same 5. Poorer

1. Richer 3. Neither; About the Same 5. Poorer

1. Richer 3. Neither; About the Same
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Interviwer Check Point:

JI:1 Using this development scale, where would you put Japan?

Interviwer Check Point:

IF R ASKS WHERE JAPAN IS, SAY: "This is a country in Asia."

0 1 2 3 4 5 6 7 8 9 10 Go to JI:3

98. Don't know

Section JI: Country Development Scale 

Please show the development show card to the respondents and explain as per needs. You can use 

both of those numbers for rating countries plus all of the numbers in between. 

We would like you to think about  development in different countries around the world today. We 

have scale that measures the development scale and rates countries from zero to ten. The least 

developed places in the world are rated zero and the most developed places in the world are rated 

ten. Two or more countries may get the same score. 
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JI:2

0 1 2 3 4 5 6 7 8 9 10 98. Don't know

Even if you don’t know exactly, about where would you put Japan?
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JI:3

Interviwer Check Point:

IF R ASKS WHERE NIGERIA IS, SAY: "This is a country in West Africa."

0 1 2 3 4 5 6 7 8 9 10 Go to JI:5

98. Don't know

JI:4

0 1 2 3 4 5 6 7 8 9 10 98. Don't know

JI:5

Interviwer Check Point:

IF R ASKS WHERE INDIA IS, SAY: "This is a country in Asia."

Where would you put India? 

Where would you put Nigeria? 

Even if you don’t know exactly, about where would you put Nigeria?
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0 1 2 3 4 5 6 7 8 9 10 Go to JI:7

98. Don't know

JI:6

0 1 2 3 4 5 6 7 8 9 10 98. Don't know

Even if you don’t know exactly, about where would you put India?
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JI:7

Interviwer Check Point:

IF R ASKS WHERE UNITED STATES IS, SAY: "This is a country in North America."

0 1 2 3 4 5 6 7 8 9 10 Go to JI:9

98. Don't know

JI:8

0 1 2 3 4 5 6 7 8 9 10 98. Don't know

JI:9

Interviwer Check Point:

IF R ASKS WHERE CHINA IS, SAY: "This is a country in Asia."

Where would you put the United States? 

Even if you don’t know exactly, about where would you put the United States?  

Where would you put China? 
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0 1 2 3 4 5 6 7 8 9 10 Go to JI:11

98. Don't know

JI:10

0 1 2 3 4 5 6 7 8 9 10 98. Don't know

Even if you don’t know exactly, about where would you put China?
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JI:11

Interviwer Check Point:

IR R ASKS WHERE CAR IS, SAY: “This is a country in Africa.

0 1 2 3 4 5 6 7 8 9 10 Go to JI:13

98. Don't know

JI:12

0 1 2 3 4 5 6 7 8 9 10 98. Don't know

JI:13

Interviwer Check Point:

IR R ASKS WHERE ENGLAND IS, SAY: “This is a country in Europe.

Where would you put the Central African Republic? 

Even if you don’t know exactly, about where would you put the Central African Republic?

Where would you put England? 
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0 1 2 3 4 5 6 7 8 9 10 Go to JI:15

98. Don't know

JI:14

0 1 2 3 4 5 6 7 8 9 10 98. Don't know

Even if you don’t know exactly, about where would you put England?
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JI:15

Interviwer Check Point:

IF R ASKS WHERE BRAZIL IS, SAY: "This is a country in South America."

0 1 2 3 4 5 6 7 8 9 10 Go to JI:17

98. Don't know

JI:16

0 1 2 3 4 5 6 7 8 9 10 98. Don't know

JI:17

Interviwer Check Point:

IF R ASKS WHERE PAKISTAN IS, SAY: "This is a country in Asia."

Where would you put Brazil?

Even if you don’t know exactly, about where would you put Brazil? 

Where would you put Pakistan?

119

0 1 2 3 4 5 6 7 8 9 10 Go to JI:19

98. Don't know

JI:18

0 1 2 3 4 5 6 7 8 9 10 98. Don't know

Even if you don’t know exactly, about where would you put Pakistan?
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JI:19

0 1 2 3 4 5 6 7 8 9 10 Go to Section KI

98. Don't know

JI:20

0 1 2 3 4 5 6 7 8 9 10 98. Don't know

Where would you put Nepal?

Even if you don’t know exactly, about where would you put Nepal? 
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KI:1

1. Independence

2. Determination and Preserverance

3. Religious Faith

4. Obedience

KI:2

Interviwer Check Point:

1. Independence

2. Determination and Preserverance

3. Religious Faith

4. Obedience

Section KI: Traditional/Secular-Rational and 

Survival/Self-Expression Values as Defined and Measured 

by Ronald Inglehart

I am going to read you a list of qualities that children can be encouraged to learn at home. Here 

are four qualities -- independence, determination and   perseverance, religious faith, or obedience.  

Which do you consider to be most  important?  

       

1)………………… 2)……………………… 3)………………… Which do   you consider to be 

the second most important? 

Please Read among the remaining three qualities 

121



KI:3

1. Maintaning Order

2. Giving People More Say

3. Fighting Rising Prices

4. Protecting Freedom of Speech

KI:4

Interviwer Check Point:

1. Maintaning Order

2. Giving People More Say

3. Fighting Rising Prices

4. Protecting Freedom of Speech

Please Read among the remaining three qualities 

If you had to choose, which one of these things would you say is most     important - maintaining 

order in the nation, giving people more say in important government decisions, fighting rising 

prices, or protecting freedom of speech?

1)________, 2)_________, 3)__________, which

    would be the next most important?  
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KI:5

1. Very Happy

2. Quite Happy

3. Not Happy

4. Not at all Happy

98. Don't Know

KI:6 How proud are you to be Nepali ?

1. Very Proud

2. Quite Proud

3. Not Proud

4. Not at all Proud

98. Don't Know

Taking things all together, would you say that you are very happy, quite happy, not happy, or not 

at all happy?
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KI:7

0 1 2 3 4 5 6 7 8 9 10 98. Don't know

KI:8

0 1 2 3 4 5 6 7 8 9 10 98. Don't know

Do you think most people would try to take advantage of you if they got a chance, or would they 

try to be fair? Using a scale from 0 to 10, where 0 means that "people would try to take advantage 

of you," and 10 means that "people would try to be fair" please tell me which number best 

describes how you feel about this.

Using a scale from 0 to 10, where 10 means very important, and 0 means not  at all important, 

how important is God in your life?

[INTERVIEWER: HAND IMPORTANCE SCALE SHOWCARD TO RESPONDENT 

AND EXPLAIN AS NECESSARY]

[INTERVIEWER: HAND FAIRNESS SCALE SHOWCARD TO RESPONDENT AND 

EXPLAIN AS NECESSARY]
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KI:9

0 1 2 3 4 5 6 7 8 9 10 98. Don't know

KI:10 What about homosexuality?

0 1 2 3 4 5 6 7 8 9 10 98. Don't know

KI:11 Abortion? 

0 1 2 3 4 5 6 7 8 9 10 98. Don't know

[INTERVIEWER: HAND JUSTIFICATION SCALE SHOWCARD TO RESPONDENT 

AND EXPLAIN AS NECESSARY]

Now using a different scale from 0 to 10, where 10 means something is always justified and 0 

means something is never justified, how would you rate someone accepting a bribe in the course 

of their duties?
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LI:1

1. Agree 2. Disagree 8. Don't Know

LI:2

1. Agree 2. Disagree 8. Don't Know

LI:3

1. Agree 2. Disagree 8. Don't Know

LI:4

1. Agree 2. Disagree 8. Don't Know

Section LI: Freedom and Equality Questions

Now I am going to read you some statements.  For each one, please tell me whether you agree or 

disagree with it.  

A woman should stay out of the kitchen during menstruation. Do you agree or disagree?

People should not be treated differently based on their caste. (Do you agree or disagree?)

Most men are better suited for political leadership than are most women.  (Do you agree or 

disagree?)

In today's world, parents must respect their children's opinions.  (Do you agree or disagree?)
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LI:5

1. Agree 2. Disagree 8. Don't Know

LI:6

1. Agree 2. Disagree 8. Don't Know

Leave the old ways in the past and do what works in today's world.  (Do you agree or disagree?)

Sons who are not allowed to choose their own spouses may move away from their parents homes 

and not look after them later in life. (Do you agree or disagree?)
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Interviwer Check Point:

MI:1

1 2 3 4 5 6 98. Don't know

MI:2

1 2 3 4 5 6 98. Don't know

Section MI: Value Orientations as Defined and Measured 

by Shalom Schwartz

HAND DESCRIPTION SCALE SHOWCARD TO RESPONDENT. And describe as per need. 

Tell to respondent that the same number can be assigned to other questions. You can use both of 

those numbers for rating descriptions plus all of the numbers in between. 

Next, I am going to briefly describe some people.  Think of a scale from one to six.  Descriptions 

of people that are very much like you are rated 6 and descriptions of people that are not like you 

at all are rated P1.

Thinking up new ideas and being creative is important to (him/her). (He/She)likes to do things in 

(his/her) own original way. How much is this  description like you?

(He/She) thinks it is important that every person in the world should be treated equally.How 

much is this  description like you?
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MI:3

1 2 3 4 5 6 98. Don't know

MI:4

1 2 3 4 5 6 98. Don't know

MI:5

1 2 3 4 5 6 98. Don't know

MI:6

1 2 3 4 5 6 98. Don't know

MI:7

1 2 3 4 5 6 98. Don't know

(He/She) believes that people should do what they are told.  (He/She) thinks people should follow 

the rules at all times, even when no-one is watching. How much is this description like you?

It is important to (him/her) to listen to people who are different from (him/her). Even when 

(he/she) disagrees with them, (he/she) still wants to understand them. How much is this 

description like you?

It is important to (him/her) to be humble and modest.  (He/She) tries not to draw attention to 

(himself/herself). How much is this description like you?

It is important to (him/her) to make (his/her) own decisions about what (he/she) does. (He/She) 

likes to be free and not depend on others. How much is this description like you?

(He/She) likes surprises and is always looking for new things to do.  (He/She) thinks it is 

important to do lots of different things in life.  How much is this description like you?
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MI:8

1 2 3 4 5 6 98. Don't know

MI:9

1 2 3 4 5 6 98. Don't know

MI:10

1 2 3 4 5 6 98. Don't know

Tradition is important to (him/her).  (He/She) tries to follow the customs handed down by 

(his/her) religion or (his/her) family. How much is this description like you?

(He/She) looks for adventures and likes to take risks.  (He/She) wants to have an exciting life. 

How much is this description like you?

It is important to (him/her) always to behave properly.  (He/She) wants to avoid doing anything 

people would say is wrong.  How much is this description like you?

131



THIS PAGE IS KEPT BLANK

132



NI:1

1. Agree 2. Disagree 98. Don't Know

NI:2

1. Agree 2. Disagree 98. Don't Know

NI:3

1. Agree 2. Disagree 98. Don't Know

NI:4

1. Agree 2. Disagree 98. Don't Know

Every life outcome depends on your luck. Do you agree or disagree?  

Even the luckiest person in the world can not hold milk in a bamboo-basket. Do you agree or 

disagree? 

Section NI: Fatalism

People have different ideas about how or why things happen to them. I am going to read you a list 

of reasons how or why things happen to people. After each one, please tell me whether you agree 

or disagree with it. 

"lekheko matrai painchha, dekheo paidaina" [meaning you can only have the things that are 

written on your forehead not the things you can see]. Do you agree or disagree?  

When a person marries, he or she should marry the partner who has already been fixed in his or 

her fate. Do you agree or disagree? 
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NI:5

1. Agree 2. Disagree 98. Don't Know

NI:6

1. Agree 2. Disagree 98. Don't Know

"Bhagaban le diya jati hat thapnai paryo" [meaning we should accept whatever God gives us. Do 

you agree or disagree? 

To be successful you always need your Aafno Manche [meaning your own people in power who 

can help you]. Do you agree or disagree? 
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OI:1 Interviewer Checkpoint: (From LHC)

1 Respondent is age 34 or younger

2  Respondent is age 35 or older

Go to Section PI

OI:2 Interviewer Checkpoint:(From LHC)

1 Respondent is NOT currently attending school

2  Respondent is currently attending school

Go to OI:4

SECTION OI:  ASPIRATIONS FOR EDUCATION 

AND WORK

135

Go to OI:4

OI:3 Do you think you will go to school (again)?

1. Yes 5. No Go to OI:9
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OI:4 What is the highest grade of school or year of college you would like to complete?

1 2 3 4 5 6 7 8 9 10

11.  S.L.C. or Equivalent

12.  I.A. or Equivalent

14.  B.A  or Equivalent

16.  M.A. or Equivalent

18.   Ph.D. or Equivalent

136

97. Any Amount 98. Don't Know

Go to OI:6
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OI:5

1 2 3 4 5 6 7 8 9 10

11.  S.L.C. or Equivalent

12.  I.A. or Equivalent

14.  B.A  or Equivalent

16.  M.A. or Equivalent

18.   Ph.D. or Equivalent

97. Any Amount

98. Don't Know

Go to OI:7

If you had to choose, what would be the highest grade of school or year of college you 

would like to complete?

137

98. Don't Know

OI:6

1. Very Likely

2. Somewhat Likely

3. Not at all Likely

98. Don't Know

Sometimes things people want to have happen are hard to attain.  If you really want to 

complete (GRADE OF SCHOOL/YEAR OF COLLEGE), and work hard to do that, do you 

think that it will be very likely, somewhat likely, or not at all likely that you will do that?
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OI:7

1 2 3 4 5 6 7 8 9 10

11.  S.L.C. or Equivalent

12.  I.A. or Equivalent

14.  B.A  or Equivalent

16.  M.A. or Equivalent

18.   Ph.D. or Equivalent

97. Any Amount 98. Don't Know

Go to OI:9

What is the lowest grade of school or year of college that you would consider it acceptable 

for you to complete?
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97. Any Amount 98. Don't Know

138



OI:8

1 2 3 4 5 6 7 8 9 10

11.  S.L.C. or Equivalent

12.  I.A. or Equivalent

14.  B.A  or Equivalent

16.  M.A. or Equivalent

18.   Ph.D. or Equivalent

97. Any Amount

98. Don't Know

If you had to choose, what would be the lowest grade of school or year of college you would 

consider acceptable for you to complete?

139

98. Don't Know

OI:9

1. Very Important

2. Somewhat Important

3. Not at all Important

How important is it to you that you study or work in a place like America, Europe or 

Australia? Is it very important, somewhat important, or not at all important?
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OI:10

1. Very Likely

2. Somewhat Likely

3. Not at all Likely

(Sometimes things people want to have happen are hard to attain.)  Do you think it will be 

very likely, somewhat likely, or not at all likely that you will study or work in a place like 

America, Europe, or Australia?
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PI:1 Interviewer Checkpoint (Pre-edited from HH Relationship Grid)

1        R does not have never married 12-34 old child.

2        R has never married 12-34 old child.

PI:2

Thank You!

Exact time now:………………

SECTION PI: Parental Aspirations for Never Married 

Children Ages 12-34

We would like to thank you for sharing your valuable time and information 

with us.  We also look forward to talking with you again in the future. 

Pre-edit Child Sheet for respondent's naver 

married 12-34 years old child

141

Exact time now:………………
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PI:3

Respondent ID

Child's Name

Serial Number form Parent's LHC

Age Gender

Chitwan Valley Family Study-2008

Child Sheet

Female Male

Child's ID

OFFICE: TEAR OFF THIS PAGE FROM THE CHILD SHEET AND STORE SEPARATELY



Respondent ID 

Child ID

PI:4

1. Extremely Happy

2. Very Happy

3. Somewhat Happy

4. Not Happy at All

CHILD SHEET

Now we would like to talk about your (son/daughter) …….. (name), who is currently 

………….years old.  In general, would you say that your relationship with her/him is extremely 

happy, very happy, somewhat happy, or not happy at all?

1

4. Not Happy at All

PI:5 Is ……………..(name) currently attending school?

1. Yes 5. No

PI:6 Do you think ………….(name) will go to school (again)?

1. Yes 5. No Go to PI:9

Go to PI:7

1



PI:7

1 2 3 4 5 6 7 8 9 10

11.  S.L.C. or Equivalent

12.  I.A. or Equivalent

14.  B.A  or Equivalent

16.  M.A. or Equivalent

18.   Ph.D. or Equivalent

97. Any Amount 98. Don't Know

What is the lowest grade of school or year of college that you would consider it acceptable 

for  ……….(name) to complete?

Go to PI:9

22



PI:8

1 2 3 4 5 6 7 8 9 10

11.  S.L.C. or Equivalent

12.  I.A. or Equivalent

14.  B.A  or Equivalent

16.  M.A. or Equivalent

18.   Ph.D. or Equivalent

97. Any Amount

98. Don't Know

If you had to choose, what would be the lowest grade of school or year of college you would 

consider acceptable for ………(name) to complete?

33



PI:9

1. Within a year 

2. Two to three years 

3. Four to five years

4. Six to seven years

5. Eight years or more

6. Never 

98. Don't Know

PI:10 Children marry in different ways. Sometimes their parents or relatives decide whom they should 

How soon do you want ……….(name) to get married? Would you say you want him/her to 

get married within a year, two to three years, four to five years, six to seven years, or eight 

years or more from now? 

4

PI:10

1. Parents/Relatives

2. Herself/Himself

3. Both

Go to PI:12

Children marry in different ways. Sometimes their parents or relatives decide whom they should 

marry, and sometimes children decide for themselves. Thinking about the way ……….(name) 

might marry, do you think you or your relatives will select the spouse for ……….(name), that

  ……….(name) will select his/her own spouse, or both you and your relatives and  …….(name) 

will select a spouse for him/her?

4



PI:11

 

1. Parents/Relatives 2. Herself/Himself 3. Equally

PI:12

1.  Very likely

2.  Somewhat likely 

3.  Not likely at all

PI:13

Although both of you may decide, one of you may have a little more influence than the 

other. Who do you think might have more influence in choosing ……….(name) spouse – 

you or your relatives or ………(name) himself/herself?

How likely is it that ………(name) will be in love with the person ………….(name) is 

going to marry before ……..(name) marriage?  Would you say it is very likely, somewhat 

likely, or not likely at all?

Which of the following do you believe is most important for ……… ( name) in marriage: 

5

PI:13

1. Physical beauty 

2. Education 

3. High paying job

4. Someone she/he loves

Which of the following do you believe is most important for ……… ( name) in marriage: 

marrying someone with physical beauty; marrying someone who is highly educated; 

marrying someone with a high paying job; or marrying someone …….(name) loves?

5



PI:14

1. Physical beauty 

2. Education 

3. High paying job

4. Someone she/he loves

PI:15

1. A great deal

2. Some

(For interviewer: Read the three remaining options except the 

answer of PI:13)

Suppose things turn out so that ……….(name) never marries.  How much would that bother you? 

Would that bother you a great deal, some, a little, or not at all?

What is the  the second most important? 

6

2. Some

Go to PI:17

3. A little

4. Not at all

98. DK

6



PI:16

1. A great deal

2. Some

3. A little

4. Not at all

98. DK

PI:17

_________ Months _________ Years  

How long after ……….(name) has been married do you expect  ………… (name) to have 

………..(name) first child?

Go to PI:19

I can understand your thinking on that, but how do you think you might feel if …….(name) 

never marries? How much would that bother you? Would that bother you a great deal, some, 

a little, or not at all?

7

97. Up to God

PI:18

________Months     ________ Years 97. Up to God

Yes, but if you had to choose, after how many months or years after marriage do you expect 

…………..(name) to have …………...(name) first child? 

7



PI:19

1. A great deal

2. Some

Go to PI:21

3. A little

4. Not at all

98. DK

PI:20

1. A great deal

Suppose things turn out so that ……….(name) does not have any children. How much 

would that bother you? Would that bother you a great deal, some, a little, or not at all?

I can understand your thinking on that, but how do you think you might feel if turns out that 

……….(name) does not have any children? How much would that bother you? Would that 

bother you a great deal, some, a little, or not at all?

8

2. Some

3. A little

4. Not at all

98. DK

8



PI:21

1.  Very Important

2.  Somewhat Important

3.  Not Important at All

PI:22

1.  Very likely 2.  Somewhat likely 3.  Not likely at all

PI:23

How important is it to you that…………(name) marry a person you approve of/choose ? 

Would you say very important, somewhat important, or not important at all?

How likely do you think it is that …………(name) will marry a person you approve 

of/choose?  Would you say that it is very likely, somewhat likely, or not likely at all?

How important is it to you that ……….(name) obey/listen to you when he/she been grown 

up? Would you say very important, somewhat important, or not important at all?

9

1.  Very Important

2.  Somewhat Important

3.  Not Important at All

PI:24

1.  Very likely 2.  Somewhat likely 3.  Not likely at all

How likely do you think it is that …………(name) 0bey/ listen to you when she/he been 

grown up ?  Would you say that it is very likely, somewhat likely, or not likely at all?

9



PI:25 Checkpoint (Pre-edit the information from relationship grid)

1     Has another Child Sheets 

2        Has no more Child Sheet 

Take separate Child Sheet for second child and ask appropriate questions.

 

PI:26

Thank You!

Go to PI:26

We would like to thank you for sharing your valuable time and information with us.  

We also look forward to talking with you again in the future. 
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Note Copy



Description First Time Second Time Third Time Fourth Time Remarks

Date

Name of Interviewer

Final Result*

Time

Date for Next Visit

Call Record

*Result

1. Interview Complete 2. Respondent not at home 3. Interview Partially Complete

4. Refusal 5. Other (Specify) ………………………………….
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c sf]{ k fg fsf] s= 6  df h fg "x f]; \

s= 3 tk fO { g ]k fnLdf l r ¶L n]V g  ; Sg "x "G %  <

1 =  ; S% " 5 =  ; l Sbg

1 =  ; S% " 5 =  ; l Sbg

s = 4 = 0s = 4 = 0s = 4 = 0s = 4 = 0 k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ] s = 4  x ]/ ]/k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ] s = 4  x ]/ ]/k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ] s = 4  x ]/ ]/k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ] s = 4  x ]/ ]/
l r G x  n u f p g "x f ]; \_l r G x  n u f p g "x f ]; \_l r G x  n u f p g "x f ]; \_l r G x  n u f p g "x f ]; \_

1 20 5 3 ; fnsf] h fg sf/Lsf] s= 4  df "% }g" p Q/ c fP sf]]

2   20 5 3 ; fnsf] h fg sf/Lsf] s= 4  df "%" p Q/ c fP sf]

s= 4 tk fO {n] sl x N o} k q k l q sf k ( \g "e P sf] %  <

c sf]{ k fg fsf] s= 5  df h fg "x f]; \

1 =  % 5 =  % }g c sf]{ k fg fsf] s= 6  df h fg "x f]; \

2



s = 5s = 5s = 5s = 5

1 =  x K tfdf P s k ^se G bf sd

2=  x K tfdf P s k ^s h : tf]

3=  x K tfdf P s k ^se G bf a ( L

s = 6s = 6s = 6s = 6 tk fO { s "g  s "g  e fi ff a f]N g " x "G %  <

c G t / j f t f { l n g ]s f ] n f l u Mc G t / j f t f { l n g ]s f ] n f l u Mc G t / j f t f { l n g ]s f ] n f l u Mc G t / j f t f { l n g ]s f ] n f l u M
l dN g ] ; a }df l r G x  nu fp g "x f]; \

1 =  g ]k fnL  

2=  l x G bL   

tk fO { k q k l q sf x K tfdf P s k ^se G bf sd k ( \g "x "G %  l s,  x K tfdf P s k ^s h : tf] 
k ( \g "x "G %  l s,  x K tfdf P s k ^s e G bf a ( L k ( \g "x "G %  <

3=  tfdfé

4 =  u "?é

5 =  g ]j f/

6 =  yf?

7=  c +u ]|h L

9 7=  c ¿ e P  p N n]v  u g "{x f]; \ 
sM

v M

3



s = 6 = 0s = 6 = 0s = 6 = 0s = 6 = 0 c G t / j f t f { l n g ]s f ] n f l u M  - s = 6  /  a f l x / L  k f g f d f ] x ]/ ]/  l r G x  n u f p g "x f ]; \_c G t / j f t f { l n g ]s f ] n f l u M  - s = 6  /  a f l x / L  k f g f d f ] x ]/ ]/  l r G x  n u f p g "x f ]; \_c G t / j f t f { l n g ]s f ] n f l u M  - s = 6  /  a f l x / L  k f g f d f ] x ]/ ]/  l r G x  n u f p g "x f ]; \_c G t / j f t f { l n g ]s f ] n f l u M  - s = 6  /  a f l x / L  k f g f d f ] x ]/ ]/  l r G x  n u f p g "x f ]; \_

1 p Q/bftf c +u ]|h L a f]N g " x "G g  / 34  j i f{ j f Tof] e G bf sd p d]/sf]
x "g "x "G %  .

2 c G o

s= 6 = 1

1 =  P sbd} dx Tj k ')f{ & fG % "

2=  c l nc l n dx Tj k ')f{ & fG % "

3=  sl Q k l g  dx Tj k ')f{ & fG bLg

c sf]{ k fg fsf] s= 7= 0  df h fg "x f]; \

tk fO { c fk 'm n] c +u ]|h L a f]N g  l ; Sg " sl Qsf] dx Tj k ')f{ & fG g "x "G %  < P sbd} dx Tj k ')f{ 
& fG g "x "G %  l s,  c l nc l n dx Tj k ')f{ & fG g "x "G %  l s,  sl Q k l g  dx Tj k ')f{ & fG g "x "G g  <

s = 6 = 2s = 6 = 2s = 6 = 2s = 6 = 2

1 =  P sbd} nfU%

2=  c l nc l n nfU%

3=  sl Q k l g  nfUb}g

sl x n]sf¤x L dfl g ; x ?n] c fk m 'n] ; f]r ] c g "; f/sf] x "b}g  . tk fO {nfO { c +u ]|h L l ; Sg  ; S% " h : tf] 
sl Qsf] nfU%  < P sbd} nfU%  l s,  c l nc l n nfU%  l s,  sl Q k l g  nfUb}g  <
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s = 7 = 0s = 7 = 0s = 7 = 0s = 7 = 0 k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ] s = 7  x ]/ ]/  k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ] s = 7  x ]/ ]/  k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ] s = 7  x ]/ ]/  k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ] s = 7  x ]/ ]/  
l r G x  n u f p g "x f ]; \_l r G x  n u f p g "x f ]; \_l r G x  n u f p g "x f ]; \_l r G x  n u f p g "x f ]; \_

1 20 5 3 ; fnsf] h fg sf/Lsf] s= 7 df "% }g" p Q/ c fP sf]

2 20 5 3 ; fnsf] h fg sf/Lsf] s= 7 df "% "" p Q/ c fP sf]

s=  9  df h fg "x f]; \

s= 7 tk fO {n] sl x N o} /]l *of] ; "G g "e P sf] %  <

s= 8 k l x nf] r f]l ^ /]l *of] ; "G bf tk fO { sl t j i f{sf] x "g "x "G Yof] <

j i f{

1 =  % " 5 =  % }g c sf]{ k fg fsf] s= 1 1 = 0  df h fg "x f]; \

s = 9s = 9s = 9s = 9

1 =  l bg l bg }

2=  x K tfdf P sb"O { k ^s dfq }

3=  sl x n]sf¤x L dfq

s= 1 0 tk fO {n] /]l *of]df k l /j f/ l g of]h g  sfo{q m d ; "G g "x "G %  l s ; "G g "x "G g  <

u P sf] 1 2 dl x g fdf tk fO {n] /]l *of] l bg l bg } ; "G g ] u g "{ x "G Yof] l s,  x K tfdf P sb"O { k ^s dfq } 
; "G g ] u g "{x "G Yof] l s,  sl x n]sf¤x L dfq  ; "G g ] u g "{x "G Y of] <

1 =  ; "G % " 5 =  ; "l G bg
5



s = 1 1 = 0s = 1 1 = 0s = 1 1 = 0s = 1 1 = 0 k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ]] s = 1 1  x ]/ ]/  k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ]] s = 1 1  x ]/ ]/  k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ]] s = 1 1  x ]/ ]/  k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ]] s = 1 1  x ]/ ]/  
l r G x  n u f p g "x f ]; \_l r G x  n u f p g "x f ]; \_l r G x  n u f p g "x f ]; \_l r G x  n u f p g "x f ]; \_

1 20 5 3 ; fnsf] h fg sf/Lsf] s= 1 1  df "% }g" p Q/ c fP sf]

2 20 5 3 ; fnsf] h fg sf/Lsf] s= 1 1  df "%" p Q/ c fP sf]

s=  1 3 df h fg "x f]; \

s= 1 1 tk fO {n] sl x N o} l ; g ]df x ]g "{ e P sf] %  <

s= 1 2 k l x nf] r f]l ^ l ; g ]df x ]bf{ tk fO { sl t j i f{sf] x "g "x "G Yof] <

j i f{

1 =  % 5 =  % }g cs f]{ kfg fs f] s = 14 = 0 d f h fg "x f]; \

s = 1 3s = 1 3s = 1 3s = 1 3 u P sf] 1 2 dl x g fdf h D df sl t r f]l ^ l ; g ]df x ]g "{e of ] <

k ^s
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s = 1 4 = 0s = 1 4 = 0s = 1 4 = 0s = 1 4 = 0 k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ] s = 1 4  x ]/ ]/  k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ] s = 1 4  x ]/ ]/  k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ] s = 1 4  x ]/ ]/  k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ] s = 1 4  x ]/ ]/  
l r G x  n u f p g "x f ]; \_l r G x  n u f p g "x f ]; \_l r G x  n u f p g "x f ]; \_l r G x  n u f p g "x f ]; \_

1 20 5 3 ; fnsf] h fg sf/Lsf] s= 1 4  df "% }g" p Q/ c fP sf]

2 20 5 3 ; fnsf] h fg sf/Lsf] s= 1 4  df "% "" p Q/ c fP sf]

s=  1 6  df h fg "x f]; \

s= 1 4 tk fO {n] sl x N o} ^L=  e L=  x ]g "{e P sf] %  <

s= 1 5 k l x nf] r f]l ^ ^L= e L=  x ]bf{ tk fO { sl t j i f{sf] x "g "x "G Yof] <

j i f{

1 =  % 5 =  % }g cs f]{ kfg fs f] s = 17 = 0 d f h fg "x f]; \

s = 1 6s = 1 6s = 1 6s = 1 6

1=  x K tfd f P s k^ s  cy j f To f] eGbf w ]/ } k^ s

2=  dl x g fdf P s k ^s h : tf]
cs f]{ kfg fs f] s = 16= 2  d f h fg "x f]; \

3=  sl x n]sf¤x L dfq

u P sf] 1 2 dl x g fdf tk fO {n] ^L=  e L=  x K tfdf P s k ^s c yj f  Tof] e G bf w ]/} k ^s 
x ]g {"x "G Yof] l s,  dl x g fdf P s k ^s h : tf] x ]g "{x "G Yof] l s,  sl x n]sf¤x L dfq  x ]g "{x "G Yof] <
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s= 1 6 = 1

1 =  l bg l bg }

2=  x K tfsf] r f/ k f¤r  l bg

3=  x K tfsf] b"O { tLg  l bg  dfq

4 =  x K tfsf] b"O { tLg  l bg  e G bf k l g  sd 

s = 1 6 = 2s = 1 6 = 2s = 1 6 = 2s = 1 6 = 2

tk fO {n] ^L=  e L=  sl Qsf] x ]g "{x "G %  < l bg l bg } x ]g {"x "G %  l s,  x K tfsf] r f/ k f¤r  l bg  x ]g {"x "G %  
l s,  x K tfsf] b"O { tLg  l bg  dfq  x ]g "{x "G %  l s x K tfsf] b "O { tLg  l bg  e G bf k l g  sd 
x ]g {"x "G %  <

1 =  % 5 =  % }g

tk fO {n] w ]/}h ; f] x ]g ]{ u /]sf] ^L= e L=  df s ]a n nfO g  j f l *;  nfO g  h f]*]sf] %  l s % }g  <

s = 1 7 = 0s = 1 7 = 0s = 1 7 = 0s = 1 7 = 0 k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ] s = 1 7  x ]/ ]/  k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ] s = 1 7  x ]/ ]/  k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ] s = 1 7  x ]/ ]/  k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ] s = 1 7  x ]/ ]/  
l r G x  n u f p g "x f ]; \_l r G x  n u f p g "x f ]; \_l r G x  n u f p g "x f ]; \_l r G x  n u f p g "x f ]; \_

1 20 5 3 ; fnsf] h fg sf/Lsf] s= 1 7 df "% }g" p Q/ c fP sf]

2 20 5 3 ; fnsf] h fg sf/Lsf] s= 1 7 df "% "" p Q/ c fP sf]

s= 1 7 tk fO {n] sl x N o} l e l *of]df l k m N d x ]g "{e P sf] %  <

1 =  % 5 =  % }g

c sf]{ k fg fsf] s= 1 7= 1  df h fg "x f]; \
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s = 1 7 = 1s = 1 7 = 1s = 1 7 = 1s = 1 7 = 1 tk fO {n] sl x N o} sD K o"̂ / r nfp g "e P sf] %  <

s= 1 7= 2 k l x nf] r f]l ^ sD K o"̂ / r nfp ¤bf tk fO { sl t j i f{sf ] x "g "x "G Yof] <

j i f{  

s= 1 7= 3 tk fO {n] sl x N o} O {-d]n c yj f O G ^/g ]̂  r nfp g " e P sf] %  <

s= 1 7= 4 k l x nf] r f]l ^ O {-d]n c yj f O G ^/g ]̂  r nfp ¤bf tk fO { sl t j i f{sf] x "g "x "G Y of] <

1 =  % 5 =  % }g

1 =  % 5 =  % }g

s= 1 8 df h fg "x f]; \

s= 1 8 df h fg "x f]; \

j i f{  

s = 1 8s = 1 8s = 1 8s = 1 8 tk fO { 20 5 3 ; fnk l %  s "g } g of¤ o"j f Sna sf] ; b: o x " g "e P sf] %  <

s= 1 9-s= 20 k |Z g  g +=  s= 1 9  / s= 20  v fnL /fl v P sf] %

s= 20 = 1

j i f{

20 5 3 ; fnk l %  ; a } e G bf k l x n] tk fO { sl t j i f{sf] p d]/df  o: tf] Sna sf] ; b: o 
a G g "e P sf] x f] <

1 =  l yP ¤÷ % 5 =  l yO {g ÷ % }g cs f]{ kfg fs f] s = 2 1 d f h fg "x f]; \
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s = 2 1s = 2 1s = 2 1s = 2 1

s= 22 20 5 3 ; fn k l %  tk fO { s "g s "g  ; d'x ,  ; +# ; +: yfsf] ; b : o a G g "e P sf] l yof] j f %  <

1= 

2 = 

3 = 

s= 23

j i f{

tk fO { 20 5 3 ; fnk l %  s "g } p k e f]Qm f ; d'x ,  : j f: Yo ; ]l j sf n] a g fP sf] -c fdf_ ; d'x ,  
( "s "̂ L ; d'x  / c ¿ s "g } ; +# ; +: yfsf] ; b: o a G g " e P sf] %  <

c sf]{ k fg fsf] s= 26  df h fg "x f]; \1 =  % 5 =  % }g

20 5 3 ; fnk l %  ; a }e G bf k l x n] To;  l sl ; dsf] ; d'x ,  ; +# ; + : yfsf] ; b: o x "¤bf tk fO { 
sl t j i f{sf] x "g "x "G Yof] <

j i f{

s = 2 4s = 2 4s = 2 4s = 2 4 c G t / j f t f { l n g ]s f ] n f l u M  - s M 2 2  x ]/ ]/  l r G x  n u f p g " x f ]; \_c G t / j f t f { l n g ]s f ] n f l u M  - s M 2 2  x ]/ ]/  l r G x  n u f p g "x f ]; \_c G t / j f t f { l n g ]s f ] n f l u M  - s M 2 2  x ]/ ]/  l r G x  n u f p g "x f ]; \_c G t / j f t f { l n g ]s f ] n f l u M  - s M 2 2  x ]/ ]/  l r G x  n u f p g "x f ]; \_

1 P p ^f e G bf a ( L ; d'x ,  ; +# ; : +yfsf] ; b: o x "g "x "G Yof] j f x "g "x "G %

2 P p ^ f d fq ; d 'x ,  ; +#  ; : +y fs f] ; b: o  x "g "x "GY o f] j f x "g "x "G%

s= 25

g fdM l sl ; d

cs f]{ kfg fs f] s = 2 6 d f h fg "x f]; \ 

20 5 3 ; fn k l %  tk fO { ; a }e G bf k l x n] s "g  ; d'x ,  ; +# ; : +y fsf] ; b: o a G g "e P sf] x f]<

1 0



s = 2 6s = 2 6s = 2 6s = 2 6 c G t / j f t f { l n g ]s f ] n f l u M  - s M 1 8  /  s = 2 1  x ]/ ]/  l r G x  n u f p g "x f ]; \_c G t / j f t f { l n g ]s f ] n f l u M  - s M 1 8  /  s = 2 1  x ]/ ]/  l r G x  n u f p g "x f ]; \_c G t / j f t f { l n g ]s f ] n f l u M  - s M 1 8  /  s = 2 1  x ]/ ]/  l r G x  n u f p g "x f ]; \_c G t / j f t f { l n g ]s f ] n f l u M  - s M 1 8  /  s = 2 1  x ]/ ]/  l r G x  n u f p g "x f ]; \_

1 s"g } o "j f S n a , ;d "x, ;+# ;+:y fsf ] ;b :o  a Gg "e Psf ] l y P g  j f % }g  .

s= 29 = 0  df h fg "x f]; \

2 cGo

k |Z g  g +=  s= 27 / s= 28 v fnL /fl v P sf] %

s = 2 8 = 1s = 2 8 = 1s = 2 8 = 1s = 2 8 = 1

s = 2 9 = 0s = 2 9 = 0s = 2 9 = 0s = 2 9 = 0 k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ] s = 2 9  x ]/ ]/  k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ] s = 2 9  x ]/ ]/  k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ] s = 2 9  x ]/ ]/  k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ] s = 2 9  x ]/ ]/  
l r G x  n u f p g "x f ]; \_l r G x  n u f p g "x f ]; \_l r G x  n u f p g "x f ]; \_l r G x  n u f p g "x f ]; \_

tk fO { sl x N o} s "g } Sna ,  ; d'x ,  ; +# ; : +yfsf] sfo{ ; l dl t -J oj : yfk g  ; l dl t_ sf] ; b: o 
a G g "e P sf] l yof] j f %  < 

1 =  l yP ¤÷ % " 5 =  l yP g ÷ % }g

l r G x  n u f p g "x f ]; \_l r G x  n u f p g "x f ]; \_l r G x  n u f p g "x f ]; \_l r G x  n u f p g "x f ]; \_

1 20 5 3 ; fnsf] h fg sf/Lsf] s= 29  df "% }g" p Q/ c fP sf]

2 20 5 3 ; fnsf] h fg sf/Lsf] s= 29  df "% "" p Q/ c fP sf]

c sf]{ k fg fsf] s= 31  df h fg "x f]; \

s= 29 tk fO {n] sl x N o} a }+sdf v ftf v f]N g "e P sf] %  < 

s= 30 ; a } e G bf k l x n] a }+sdf v ftf v f]N bf tk fO { sl t j i f {sf] x "g "x "G Yof] < 

j i f{

1 =  % " 5 =  % }g c sf]{ k fg sf] s= 32= 0  df h fg "x f]; \ 
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s = 3 1s = 3 1s = 3 1s = 3 1 c l x n] a }+sdf tk fO {sf] g fddf v ftf %  l s % }g  <

s = 3 2 = 0s = 3 2 = 0s = 3 2 = 0s = 3 2 = 0 k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ] s = 3 2  x ]/ ]/  k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ] s = 3 2  x ]/ ]/  k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ] s = 3 2  x ]/ ]/  k 'j { ; D k f b g  u g ]{s f ] n f l u M  - 2 0 5 3  ; f n s f ] h f g s f / L s f ] s = 3 2  x ]/ ]/  
l r G x  n u f p g "x f ]; \_l r G x  n u f p g "x f ]; \_l r G x  n u f p g "x f ]; \_l r G x  n u f p g "x f ]; \_

1 20 5 3 ; fnsf] h fg sf/Lsf] s= 32 df "% }g" p Q/ c fP sf]

2 20 5 3 ; fnsf] h fg sf/Lsf] s= 32 df "%" p Q/ c fP sf]

s= 34  df h fg "x f]; \ 

s= 32 tk fO { sl x N o} s "g } l Snl g s,  x ]N yk f]i ^,  d]l *sn c yj f c : k tfn h fg "e P sf] l yof] j f % <

1 =  %

s= 34  df h fg "x f]; \ 

5 =  % }g

1 =  l yP ¤÷ % " 5 =  l yP g ÷ % }g

s= 33

j i f{

s = 3 4s = 3 4s = 3 4s = 3 4

s= 35

j i f{

; a } e G bf k l x n] To: tf] l Snl g s,  x ]N yk f]i ^,  d]l *sn c yj f c : k tfn h f¤bf tk fO { sl t 
j i f{sf] x "g "x "G Yof] <

tk fO {n] sl x N o} : j f: Yo ; D a G w L a Ldf,  h Lj g  a Ldf c yj f b "#{̂ g f a Ldf u /fp g "e P sf] 
l yof] j f %  <

1 =  l yP ¤÷ % " c sf]{ k fg sf] s= 36  df h fg "x f]; \ 

; a } e G bf k l x n] To: tf] a Ldf u /fp ¤bf tk fO { sl t j i f{sf ] x "g "x "G Yof] <

5 =  l yP g ÷ % }g

1 2



s = 3 6s = 3 6s = 3 6s = 3 6

s= 37

s= 38

5 =  l yP g ÷ % }g1 =  l yof]÷ %

tk fO { sl x N o} P s x K tf j f Tof] e G bf a ( L ; do ; D d e f/tL o a fx ]ssf s "g } l j b]zL; +u  
; +u } sfd u g "{e P sf],  #"D g  h fg "e P sf] j f ; +u } a : g "e P sf ] l yof] <

1 =  l yof]÷ % 5 =  l yP g ÷ % }g

1 =  l yP 5 =  l yP g

tk fO {sf] s "g } ; fyL sl x N o} g ]k fn / e f/tb]l v  a fl x / c ¿  b]zdf h fg "e P sf] l yof] j f %  
<

tk fO {sf] k l /j f/sf] s "g } ; b: o j f g ft]bf/ sl x N o} g ]k f n / e f/tb]l v  a fl x / c ¿ b]zdf 
h fg "e P sf] l yof] j f %  <

s= 39

1 =  e fu  l nP sf] % "

2=  k l %  e fu l ng  ; S% "

3=  s "g } k l g  x fntdf u l b{g

9 8=  yfx f % }g

c a  d tk fO {nfO { dfl g ; x ¿n] c fk m \g f] x s c l w sf/sf] nfl u  u g ]{ l j l e G g  l sl ; dsf 
s "/fx ¿ k ( ]/ ; "g fp ¤% " . tk fO {n] To: tf sfo{q m dx ¿df c f h e G bf c u fl * g } e fu  l nO ; Sg " 
e P sf] %  l s,  k l %  s "g } ; dodf e fu  l ng  k l g  ; S% " h : tf] n fU%  l s,  s "g } k l g  
x fntdf e fu  l nG g  h : tf] nfU%  a tfO l bg "; \ x } !

; a } e G bf k l x n],  x : tfI f/ -; x L% fk _ ; +sng sf] a f/]df s " /f u /f}+ . tk fO {n] sl x N o} s "g } 
s "/fsf] ; dy{g  j f l j /f]w df u l /g ] x : tfI f/ -; x L% fk _ ; + sng sf] sfo{q m ddf e fu  
l ng "e P sf] %  l s,  k l %  s "g } ; dodf e fu  l ng  k l g  ; S% " h : t f] nfU%  l s,  To: tf] sfd 
s "g } k l g  x fntdf u l b{g  h : tf] nfU%  <

1 3



s= 4 0

1 =  e fu  l nP sf] % "

2=  k l %  e fu  l ng  ; S% "

3=  s "g } k l g  x fntdf e fu  l nG g

9 8=  yfx f % }g

s= 4 1

1 =  e fu  l nP sf] % "

To; } u /L tk fO {n] sfg "g L ¿k df u g { k fp g ] h "n"; df c fh e G bf c u fl * e fu  l ng "e P sf] %  
l s,  k l %  s "g } ; dodf e fu  l ng  k l g  ; S% " h : tf] nfU%  l s,  To: tf] sfo{q m ddf s "g } k l g  
x fntdf e fu  l nG g  h : tf] nfU%  <

To; } u /L a l x i sf/ j f l j /f]w  sfo{q m ddf c fh e G bf c u fl * e fu  l ng "e P sf] %  l s,  k l %  
s "g } ; dodf e fu  l ng  k l g  ; S% " h : tf] nfU%  l s,  To: tf] s fo{q m ddf s "g } k l g  x fntdf 
e fu  l nG g  h : tf] nfU%  <

2=  k l %  e fu  l ng  ; S% "

3=  s "g } k l g  x fntdf e fu  l nG g

9 8=  yfx f % }g

1 4



v=1=0 cGt/jftf{ lng]sf] nfluM hLjg kfqf] x]/]/ lrGx nufpg"xf];\cGt/jftf{ lng]sf] nfluM hLjg kfqf] x]/]/ lrGx nufpg"xf];\cGt/jftf{ lng]sf] nfluM hLjg kfqf] x]/]/ lrGx nufpg"xf];\cGt/jftf{ lng]sf] nfluM hLjg kfqf] x]/]/ lrGx nufpg"xf];\

1 hLjgkfqf]sf] klxnf] vfgfdf 2053 ;fnsf] hfgsf/L
k'j{-;Dkfbg u/]sf] % .

2 hLjgkfqf] k'j{ ;Dkfbg u/]sf] %}g .

hfgsf/L lng aGb ug]{ / ;"kl/j]IfsnfO{ ;Dks{ ug]{

xfdLn] ev{/ s"/f u/]sf] h:tf] xfd|f] Ps hgf ;fyLn] =========== ;fnsf] ====== dlxgfsf] 
====== ut] -cGt/jftf{ lnPsf] ldlt_ tkfO{ hGd]b]lv 2053 ;fn ;Dd tkfO{sf] hLjgdf 
ePsf #^gfx? / tkfO{sf] cg"ejx?sf] af/]df hfgsf/L lng"ePsf] lyof] . Tolt a]nf, 
tkfO{n] lbg" ePsf] hfgsf/L xfdLn] hLjg kfqf]df /]s*{ u/]sf lyof}+ . clxn] d 2053 
;fnkl% tkfO{sf] hLjgdf ePsf #^gf / tkfO{sf] cg"ejnfO{ b"?:t agfpg km]l/ cfPsf] 
%" .  

klxn]sf] h:t} o;k^s 2053 ;fn b]lv otf xfdLn] tkfO{sf] hLGbuLdf #^]sf #^gfx¿ 
;Demg ;lhnf] xf];\ eg]/ Pp^f hLjg kfqf] agfPsf %f}+ . kfqf]sf] ;aeGbf dflysf] 
nfOgdf jif{ /flvPsf] % . To;}u/L bf];|f] nfOgdf /fli^«o #^gf h:t}M b/jf/ xTofsf)*, 

v)* vM hLjg kfqf]v)* vM hLjg kfqf]v)* vM hLjg kfqf]v)* vM hLjg kfqf]

15

cGt/jftf{sf/sf] nfluMcGt/jftf{sf/sf] nfluMcGt/jftf{sf/sf] nfluMcGt/jftf{sf/sf] nfluM
cfjZostf cg";f/ JofVof ug"{xf];\

v=1 pd]/pd]/pd]/pd]/

tkfO{ clxn] ============ aif{ k"Ug" eP% xlu !

nfOgdf jif{ /flvPsf] % . To;}u/L bf];|f] nfOgdf /fli^«o #^gf h:t}M b/jf/ xTofsf)*, 
19 lbg] hgcfGbf]ng /flvPsf] % eg] t];|f] nfOgdf :yfgLo #^gf h:t} tkfO{sf] ^f]n 
glhs ePsf gof¤ :s'n, af^f]#f^f], gx/, dlGb/ ag]sf], lah"nLaQL cfPsf] cflb /flvPsf] 
% . xfdLn] oL s"/fx?n] 2053 ;fnkl% tkfO{sf] hLjgdf ePsf #^gfx? ;+emg 
tkfO{nfO{ d@t k"U% eGg] cfzf u/]sf %f}+ .

To;}ul/ tkfO{nfO{ 2053 ;fn kl%sf #^gfx? ;Demg ;lhnf] xf];\ eg]/ tkfO{n] 2053 
;fndf lbg"ePsf] hfgsf/L klg oxf¤ ;f/]/ NofPsf %f}+ . olb d}n] oxf¤ ;f/]/ NofPsf] 
hfgsf/L ldn]g eg] ;RofO{lbg"xf];\ x} t .

15



v=2
v=5

cGt/jftf{sf/sf] nfluMcGt/jftf{sf/sf] nfluMcGt/jftf{sf/sf] nfluMcGt/jftf{sf/sf] nfluM

1= lyof] 5= lyPg

tkfO{ s"g ;fnb]lv Tof] &fp¤af^ cGt} a:g hfg"eof] < -2053 ;fndf a;]sf] &fp¤_

a;fO{a;fO{a;fO{a;fO{-;/fO{;/fO{;/fO{;/fO{
ca xfdL, tkfO{ 2053 ;fndf hfgsf/L lbPkl% clxn] ;Dd s"g s"g ;fndf sxf¤ sxf¤ 
a:b} cfpg"ePsf] % eGg] ;DaGwdf s"/f u/f}+ . o;df tkfO{sf] kl/jf/ sxf¤ sxf¤ a:g" 
eof] eGg] geO{ tkfO{ cfkm' 6 dlxgf cyjf Tof] eGbf al( ;dosf] nflu hflu/ vfg 
cyjf c?g} sfdn] s"g s"g ;fndf sxf¤ sxf¤ a:g" ePsf] lyof] To; af/]df hfGg 
rfx]sf %f}}+ .

2053 ;fndf tkfO{ =========================df -2053 ;fndf pQ/bftf a:g"ePsf] &fp¤sf] 
gfd k'j{ ;Dkfbg ug]{_ a:b} x"g"x"GYof] . tkfO{ % dlxgf jf Tof] eGbf a(L ;dosf] nflu 
slxNo} Tof]÷of] &fp¤af^ cGt st} a:g hfg"eof] <

olb pQ/bftfn] k'j{ ;Dkfbg ul/Psf] &fp¤df a;]sf] lyO{g, cGt} a;]sf] lyP¤ 
eGg"ePdf To;nfO{ "leGgtf" n]v]sf] vfgfdf n]Vg"xf];\ / Tolx¤ af^ hfgsf/L lng 
z"? ug"{xf];\ .

o;sf] dtna tkfO{ To; a]nfb]lv nuftf/ ?kdf oxL 
&fp¤df a:b} cfpg"ePsf] %, xf]O{g t <

16

To;kl% sxf¤ a:g hfg"eof] -&fp¤sf] gfd_ <

To; &fp¤df tkfO{ slt jif{ a:g"eof] -&fp¤sf] gfd_ <

cGt/jftf{sf/sf] nfluMcGt/jftf{sf/sf] nfluMcGt/jftf{sf/sf] nfluMcGt/jftf{sf/sf] nfluM

� tkfO{ ======== aif{sf] x"¤bf sxf¤ a:g"x"GYof] <

� tkfO{ ======-&fp¤_ af^ ========-&fp¤_ df a:g hf¤bf slt aif{sf] x"g"x"GYof] <

� tkfO{ ======== df a:g" -cl#÷kl%_ sxf¤ a:g"eof] <

pQ/bftf 2065 ;fn jf xfn;Dd a:g"ePsf] &fp¤ gcfP ;Dd dflysf k|Zgx? 
bf]xf]¥ofpg"xf];\ 

ca d tkfO{n] lbg" ePsf] hfgsf/L &Ls;+u n]v+] ls n]lvg hf¤Rb} %" . s]xL km/s 
eP ;RofOlbg"xf];\ x} t .

16



k'j{ ;Dkfbg ug]{sf] nfluM k'j{ ;Dkfbg ug]{sf] nfluM k'j{ ;Dkfbg ug]{sf] nfluM k'j{ ;Dkfbg ug]{sf] nfluM 
pQ/bftfsf] 2053 ;fnsf] a}aflxs l:ylt hLjg kfqf]df ;fg"{"xf];\

1 2 3

v=6
v=9

1= % 5= %}g

1= lyof]÷% 5= lyPg÷%}g

p= 2053 cl# slxNo} 
klg laaflxt x"g"x"Gy]g

p= 2053 df 
laaflxt x"g"x"GYof]

p= lax] eP 
klg 2053 
df PSn} 
x"g"x"GYof]

2053 ;fndf xfdLn] hfgsf/L ln+bf 
tkfO{n] ljjfx ug"{ePsf] lyPg . 
To;kl% tkfO{n] slxNo} lax] ug"{ 
ePsf] % cyjf -s;};+u÷s;}nfO{_ 
b"O{rf/ lbgsf] nflu dfq} eP klg -
nf]Ug]÷:jf:gL_ sf] ¿kdf -hfg"÷Nofpg"_ 
ePsf] % cyjf lyof] <

2053 ;fndf xfdLn] hfgsf/L ln+bf 
tkfO{n] lax] u/]/ ===========;+u -
;+u}÷%"§}_ a:b} cfpg"ePsf] lyof] . 
To;kl% tkfO{ nuftf/ jxf¤;+u dfq} 
x"g"x"G% <

2053 ;fnkl% tkfO{n]========== b]lv 
afx]s slxNo} -s;};+u÷s;}nfO{_ b"O{rf/ 

j}jflxs l:yltj}jflxs l:yltj}jflxs l:yltj}jflxs l:ylt

17

1= lyof]÷% 5= lyPg÷%}g

1= lyof]÷% 5= lyPg÷%}g

tkfO{sf] ========= ;fndf lax] ePsf] / =========== ;fndf ===========-nf]Ug]÷:jf:gL_ 
sf]÷;+u ===================-d[To'÷%f]*kq_ eP/ 2053 ;fndf xfdLn] tkfO{;+u hfgsf/L 
lng cfp¤bf tkfO{ PSn} x"g"x"GYof] . tkfO{ clxn] ;Dd klg PSn} x"g"x"G% ls, -
s;};+u÷s;}nfO{_ b"O{rf/ lbgsf] nflu dfq} eP klg -nf]Ug]÷:jf:gL_ sf] ?kdf -
hfg"÷Nofpg"_ ePsf] % cyjf lyof] <

afx]s slxNo} -s;};+u÷s;}nfO{_ b"O{rf/ 
lbgsf] nflu dfq} eP klg -
nf]Ug]÷:jf:gL_sf] ¿kdf -hfg"÷Nofpg"_ 
ePsf] % cyjf lyof] <

o;sf] cy{ tkfO{n] 
clxn] ;Dd ljjfx 
ug"{ ePsf] %}g, 
xf]O{g t <

o;sf] cy{ tkfO{ clxn] 
;Dd jxf¤;+u dfq} 
x"g"x"G% xf]O{g t <

17



tkfO{n] hDdf slt k^s lax] ug"{ ePsf] % <

tkfO{sf] -klxnf]÷2053 ;fnkl% ePsf]_ ljx] s"g ;fndf ePsf] xf] <

tkfO{n] -klxnf]÷======= ;+u_ ljx] ubf{ slt jif{sf] x"g"x"GYof] <

tkfO{sf] -klxnf]_ ljjfx s"g dlxgfdf ePsf] lyof] < 

tkfO{sf] -klxnf]÷-bf];|f],======;a}eGbf kl%Nnf]_ lax] nug÷;fOt h"/fP/ u/]sf] xf] <

olb s]lx ;do kl% dfq ;+u} a:g"ePsf] eP lax] ePsf] slt dlxgf 
cyjf aif{ kl% ;+u} a:g yfNg"eof] <  

xfdLn] o; cWoogdf ljleGg lsl;dsf dflg;x?;+u s"/f ug"{kg]{ x"G% . s]xL dflg;x? 
ljleGg sf/)fn] ubf{ Ps eGbf a(L -nf]Ug]÷:jf:gL_ ;+u lax] u%{g\ . tkfO{n] -2053 
;fnkl%_ Ps eGbf a(L lax] ug"{ ePsf] % <

1=lyof]

ljjfx u/]kl% tkfO{x¿ -nf]Ug]÷:jf:gL÷======= ;+u_ Tolx ;fn b]lv g} ;+u} a:g 
yfNg"eof] ls, s]xL ;do kl% dfq <

nf]Ug] :jf:gLsf] ;DjGw /fd|f] x"¤bf x"+b} klg slxn] sflx¤ hflu/ vfP/, k"nL; jf cfdL{df 

18

1= lyof]÷%

slxn] sflx¤ nf]Ug] :jf:gL jLr s"/f gldn]/ cyjf Psn] csf{nfO{ dg gk/fP/ cyjf 
nf]Ug] :jf:gL dWo] Pshgfsf] d[To' eP/ cyjf c¿ sf/)fx?n] ubf{ dflg;sf] j}jflxs 
hLjg /fd|f];+u laTb}g / PSn} a:g"kg]{ x"G% . clxn] tkfO{x¿ -nf]Ug]÷:jf:gL_ ;+u} 
a:g"ePsf] % ls s"g} sf/)fn] %"§f%"§} x"g"x"G% <

nf]Ug] :jf:gLsf] ;DjGw /fd|f] x"¤bf x"+b} klg slxn] sflx¤ hflu/ vfP/, k"nL; jf cfdL{df 
etL{ eP/ %"§} a:%g\ . To:t} sf]lx sf]lx rflx¤ nf]Ug] :jf:gLsf] s"/f gldn]/ %"§} a:%g\ . 
tkfO{ / tkfO{sf] -nf]Ug]÷:jf:gL_ slxNo} % dlxgf jf Tof] eGbf a(L ;dosf] nflu %"§} 
a:g"ePsf] % <

tkfO{x? -nf]Ug]÷:jf:gL_ ;+u} a:g z"? u/] kl% slxNo} 6 dlxgf cyjf Tof] eGbf 
a(L ;dosf] nflu %"l§P/ a:g" ePsf] lyof]÷% <

tkfO{x? lsg %"l§g" ePsf] lyof] < nf]Ug]÷:jf:gLsf] s"/f gldn]/ xf] 
ls, tkfO{x? dWo] Pshgf sfd ug{ cyjf hflu/ vfg uPsf]n] xf] 
ls, cyjf c¿ s"g} sf/)fn] ubf{ xf] <

18



tkfO{x? s"g ;fndf km]l/ ;+u} a:g"eof] < 

To;kl% tkfO{x? km]l/ 6 dlxgf cyjf Tof] eGbf a(L ;do %"§}} a:g"eof] <

tkfO{x? s"g ;fndf 6 dlxgf cyjf Tof] eGbf a(L ;do %"§}} 
a:g"eof] <

%"§} a;]kl% km]l/ tkfO{x? nf]Ug]÷:jf:gL 6 dlxgf cyjf Tof] eGbf a(L ;dosf] nflu 
;+u} a:g"ePsf] lyof]÷% <

1= lyof]÷%

tkfO{x? s"g ;fndf 6 dlxgf cyjf Tof] eGbf al( ;do %"§}} 
a:g"eof] <

1= lyof]÷%

1= lyof]÷%

1= lyof]÷% tkfO{x? lsg %"l§g" ePsf] lyof] < nf]Ug]÷:jf:gLsf] s"/f gldn]/ 
xf] ls, tkfO{x? dWo] Pshgf sfd ug{ jf hflu/ vfg 
uPsf]n] xf] ls, cyjf c¿ s"g} sf/)fn] ubf{ xf] <

%"§} a;]kl% km]l/ tkfO{x? nf]Ug]÷:jf:gL 6 dlxgf cyjf Tof] eGbf a(L ;dosf] nflu 
;+u} a:g"ePsf] lyof]÷% <

19

tkfO{x? s"g ;fndf km]l/ ;+u} a:g"eof] < 

%"§f%"§} %f}

s"g ;fnb]lv To;/L %"§} a:g"ePsf] xf]÷To;/L %"§} a:g"ePsf] slt aif{ eof] <

cGt/jftf{ lng]sf] nfluMcGt/jftf{ lng]sf] nfluMcGt/jftf{ lng]sf] nfluMcGt/jftf{ lng]sf] nfluM

1= lyof]÷%

tkfO{x? nf]Ug]÷:jf:gLn] %f]*kq u/]/ -:jf:gL kf]On uP/_ 
'%"§f%"§} a:g" ePsf] xf] sL -nf]Ug]÷:jf:gL_ sf] d[To" eP/ < 

pQ/bftfn] Ps hgf;+u eGbf a(L lax] ug"{ePsf] eP k|To]s -nf]Ug]÷:jf:gL_ sf] 
af/]df dflysf k|Zgx¿ bf]xf]¥ofpg"xf];\  .

19



� -klxnf]_==============lax] ubf{ tkfO{ slt aif{sf] x"g"x"GYof] / sxf¤ a:g"x"GYof] <

�

�

�

� tkfO{sf] nf]Ug]÷:jf:gL ;+u} a:gz"? ubf{ tkfO{x? s"g &fp¤df a:g"x"GYof] <

� klxnf] k^s tkfO{x? nf]Ug]÷:jf:gL %"l§P/ a:bf tkfO{ s"g &fp¤df a:g"x"GYof] <

� tkfO{sf] nf]Ug]÷:jf:gL km]l/ ;+u} a:g z"? ubf{ tkfO{ s"g &fp¤df a:g"x"GYof] <

2053 ;fnkl% klxnf] k^s tkfO{x? nf]Ug]÷:jf:gL %"§} a:bf tkfO{ sxf¤ 
a":g"x"GYof] <

2053 ;fnkl% lax] ubf{ tkfO{ slt aif{sf] x"g"x"GYof] / sxf¤ a:g"x"GYof] <

ca d tkfO{n] lbg" ePsf] hfgsf/L &Ls;+u n]v+] ls n]lvg hf¤Rb} %" . s]lx km/s 
eP ;RofOlbg"xf];\ x} t .

lax] u/]kl% tkfO{ cfk\mgf] -nf]Ug]÷:jf:gL_ ;+u} a:g z"? ubf{ tkfO{ slt aif{sf] 
x"g"x"GYof] <

tkfO{x? %f]*kq ubf{ cyjf tkfO{sf] -nf]Ug]÷:jf:gL_ sf] d[To" eO{ PSn} a:g 

20

� tkfO{x? %f]*kq ubf{ cyjf tkfO{sf] -nf]Ug]÷:jf:gL_ sf] d[To" eO{ PSn} a:g 
z"? UFbf{ tkfO{ s"g &fp¤df a:g"x"GYof] <

20



k'j{ ;Dkfbg ug]{sf] nfluM k'j{ ;Dkfbg ug]{sf] nfluM k'j{ ;Dkfbg ug]{sf] nfluM k'j{ ;Dkfbg ug]{sf] nfluM 
pQ/bftfsf] 2053 ;fnsf] %f]/f%f]/Lsf] ljj/)f hLjg kfqf]df ;fg"{"xf];\

1 2

v=10

v=21

1=hGdfP¤ 5= %}g 1=hGdfP¤ 5= %}g

o;sf] dtnj tkfO{n] 2053 
kl% %f]/f%f]/L hGdfpg" ePsf] 

%f]/f%f]/Lsf] ljj/)f%f]/f%f]/Lsf] ljj/)f%f]/f%f]/Lsf] ljj/)f%f]/f%f]/Lsf] ljj/)f

2053 ;fndf p=sf] 
%f]/f%f]/L gePsf] 

2053 ;fndf p= sf] 
%f]/f%f]/L ePsf] 

ca xfdL %f]/f%f]/Lx?sf] af/]df s]xL 
s"/f u/f}+ . klxnf 2053 ;fndf 
xfdLn] s"/f ubf{ tkfO{sf %f]/f%f]/L 
ePsf lyPgg\ . To;kl% tkfO{n] s"g} 
%f]/f%f]/L hGdfpg" eof] < olb s"g} 
%f]/f%f]/L hGd]sf]] Ps}l%g dfq af¤r]/ 
v]/ uPsf] eP, To:tf %f]/f%f]/Lsf] 
af/]df klg laa/)f lbg gla;{g"xf]nf .

o;sf] dtnj tkfO{n] 
clxn];Dd %f]/f%f]/L kfpg" 

ca xfdL %f]/f%f]/Lx?sf] af/]df s]xL 
s"/f u/f}+ . 2053 ;fndf s"/f ubf{ 
tkfO{sf] ====== hgf %f]/f / ===== hgf 
%f]/L ul/ ====hgf aRrf -x?_ lyP . 
To;kl% klg tkfO{n]] s"g} %f]/f%f]/L 
hGdfpg" eof] < olb s"g} %f]/f%f]/L 
hGd]sf]] Ps}l%g dfq af¤r]/ v]/ uPsf] 
eP, To:tf %f]/f%f]/Lsf] af/]df klg 
laa/)f lbg gla;{g"xf]nf

21

1= xf] 5= xf]O{g 1= xf] 5= xf]O{g

1= % 5= %}g 1= % 5= %}g

========= %f]/f x"g"x"G% ls %f]/L <

cGt/jf{tf{ lng]sf] nfluM cGt/jf{tf{ lng]sf] nfluM cGt/jf{tf{ lng]sf] nfluM cGt/jf{tf{ lng]sf] nfluM 

cGt/jf{tf{ lng]sf] nfluM cGt/jf{tf{ lng]sf] nfluM cGt/jf{tf{ lng]sf] nfluM cGt/jf{tf{ lng]sf] nfluM 
;a}eGbf ;fgf] aRrfaf^ z"? ug"{xf];\

2053 ;fndf s"/f ubf{ tkfO{sf] ====== 
hgf %f]/f / ===== hgf %f]/L ul/ ====== 
hgf aRrf -x?_ lyP .pQ/bftfsf] Ps k^s eGbf a(L lax] 

ePsf] % .

a;f]af; v)*df hfg"xf];\

kl% %f]/f%f]/L hGdfpg" ePsf] 
%}g, xf]O{g t <

cfkm"n] hGdfPsf %f]/f%f]/L 
afx]s tkfO{n] c¿ s"g} 
aRrf %f]/f%f]/L dfg]/ kfNg" 
ePsf] % ls %}g <

clxn];Dd %f]/f%f]/L kfpg" 
ePsf] %}g, xf]O{g t <

cfkm"n] hGdfPsf %f]/f%f]/L 
afx]s tkfO{n] c¿ s"g} 
aRrf %f]/f%f]/L dfg]/ kfNg" 
ePsf] % ls %}g <

21



=========c:ktfndf hGdg"ePsf] xf] ls 
#/df <

=========c:ktfndf hGdg"ePsf] xf] ls 
#/df <

s"g rflx+ -nf]Ug]÷:jf:gL_ 
af^ hGdg"ePsf] xf] <

tkfO{sf] -klxnf]÷of]_ aRrf s"g ;fnsf] 
s"g dlxgfdf hGdg"ePsf] xf] <

#/}df hGdg"ePsf] eP pxf¤ hGdbf ;"*]gL 
jf cGo :jf:Yo sfo{stf{sf] ;xfotf 
lng"ePsf] lyof] <

#/}df hGdg"ePsf] eP pxf¤ hGdbf ;"*]gL 
jf cGo :jf:Yo sfo{stf{sf] ;xfotf 
lng"ePsf] lyof] <

To;kl% ===== slxNo} % dlxgf jf Tof] 
eGbf a(L ;dosf] nflu #/aflx/ a:g"eof] 
<

Tolt a]nf =====tkfO{;+u a:b} x"g"x"GYof] . 
clxn] klg tkfO{;+u} x"g"x"G% <

======= slxNo} :s'n hfg" ePsf] % < 
s"g ;fnb]lv :s'n hfg" eof] <

======= slt ;fnb]lv :s'n hfg %f]*\g" 
slt ;fnb]lv ==== :s'n -
hfg"eof]÷%f]*\g"eof]_ < km]l/ klg s"g} 

Tolt a]nf ===== :s'n -hfg"x"GYof]÷ 
hfg"x"Gy]g_ . To;kl% slxNo} ==== :s'n -
hfg"eof]÷%f]*\g"eof]_ < s"g ;fnb]lv :s'n 
hfg"eof]÷%f]*\g"eof]_ <

======= hGd]b]lv g} tkfO{;+u} a:g 
yfNg"ePsf] xf] < ========s"g ;fnb]lv 
;+u} a:gyfNg" eof] <

22

s] ===== clxn] klg k(\b} x"g"x"G% <
s] ===== clxn] klg k(\b} x"g"x"G% <

5=%}g

To;f] eP clxn]===sxf¤ s] ub}{ x"g"x"G%< To;f]eP clxn]===sxf¤ s] ub}{ x"g"x"G%<

aflx/ hfg"ePsf] % dl/;Sg"eof] aflx/ hfg"ePsf] % dl/;Sg"eof]

===slt ;fnb]lv jflx/ 
hfg"eof] < 

s] ===== clxn] klg tkfO{;+u} al;/xg" 
ePsf] % <

5=%}g

===== slt 
;fndf dg"{ jf 
v]/ hfg"eof] <

===slt ;fnb]lv jflx/ 
hfg"eof] < 

===== slt 
;fndf dg"{ jf 
v]/ hfg"eof] <

======= slt ;fnb]lv :s'n hfg %f]*\g" 
eof] < km]l/ klg s"g} ;dodf k(\g 
hfg" ePsf] lyof] <

hfg"eof]÷%f]*\g"eof]_ < km]l/ klg s"g} 
;dodf k(\g hfg"eof]÷%f]*\g"eof]_ <

s] ===== clxn] klg tkfO{;+u} al;/xg" 
ePsf] % <

22



1= lyof] 1= lyof]

cGt/jftf{ lng]sf] nfluMcGt/jftf{ lng]sf] nfluMcGt/jftf{ lng]sf] nfluMcGt/jftf{ lng]sf] nfluM
pQ/bftfsf] Ps hgf eGbf a(L %f]/f%f]/L ePsf] eP k|To]s %f]/f%f]/Lsf] af/]df 
dflysf k|Zgx? bf]xf]¥ofpg"xf];\  .

of] jfx]s c? s"g} ;dodf klg 6 
dlxgf cyjf ;f] eGbf a(L ;dosf] 
nflu #/d} vfg] ;"Tg] u/L slxNo} 
kms]{/ cfpg"ePsf] lyof] ls lyPg <

of] #/ ==============sf] cfk\mg} #/ eP 
tfklg s"g} ;dodf 6 dlxgf cyjf 
;f] eGbf al( ;dosf] nflu pt} vfg] 
;"Tg] u/L cGt st} hfg"ePsf] lyof] <

of] jfx]s c? s"g} ;dodf klg 6 
dlxgf cyjf ;f] eGbf a(L ;dosf] 
nflu #/d} vfg] ;"Tg] u/L slxNo} 
kms]{/ cfpg"ePsf] lyof] ls lyPg <

of] #/ =========sf] cfk\mg} #/ eP 
tfklg s"g} ;dodf 6 dlxgf cyjf ;f] 
eGbf al( ;dosf] nflu pt} vfg] 
;"Tg] u/L cGt st} hfg"ePsf] lyof] <

=== s"g ;fndf kms]{/ 
cfpg"ePsf] lyof] <

===To; kl% slxNo} 6 dlxgf cyjf 
;f] eGbf a(Lsf] nflu #/d} vfg] 
;"Tg] u/L kms]{/ cfpg"ePsf] lyof] ls 
lyPg <

=== s"g ;fndf kms]{/ 
cfpg"ePsf] lyof] <

===To; kl% slxNo} 6 dlxgf cyjf 
;f] eGbf a(Lsf] nflu #/d} vfg] ;"Tg] 
u/L kms]{/ cfpg"ePsf] lyof] ls lyPg 
<

23

� tkfO{ slt jif{sf] x"¤bf tkfO{sf] ========aRrf hGdg"ePsf] lyof] < 
 

� lax] u/]sf] slt jif{ kl% tkfO{sf] ====== aRrf hGdg"ePsf] lyof] < 
 

� tkfO{sf] aRrf ======== dbf{ tkfO{ s"g &fp¤df a:g"x"GYof] < 

� ====== slt aif{sf] x"¤bf ;Dd k(\b} x"g"x"GYof] <

dflysf k|Zgx? bf]xf]¥ofpg"xf];\  .

ca d tkfO{n] lbg" ePsf] hfgsf/L &Ls;+u n]v+] ls n]lvg hf¤Rb} %" . s]xL km/s 
eP ;RofOlbg"xf];\ x} t .

23



v=22 k'j{ ;Dkfbg ug]{sf] nfluM k'j{ ;Dkfbg ug]{sf] nfluM k'j{ ;Dkfbg ug]{sf] nfluM k'j{ ;Dkfbg ug]{sf] nfluM 
pQ/bftfsf] a;f]af;sf] l:ylt hLjg kfqf]df ;fg"{"xf];\

1 2

2053 ;fndf xfdLn] s"/f ubf{ tkfO{ 
gftf gkg]{ dflg;x?;+u 
xf]:^ndf÷Jof/]sdf÷PSn} a:g"ePsf] 
lyPg . 2053 ;fndf xfdLn] s"/f 
ul/;s]kl% tkfO{ slxNo} 6 dlxgf 
cyjf ;f] eGbf a(L ;dosf] nflu 
gftf gkg]{ dflg;x?;+u xf]:^ndf, 
Jof/]sdf cyjf PSn} *]/fdf a:g"ePsf] 
lyof] jf % <

2053 ;fndf xfdLn] s"/f ubf{ tkfO{ 
gftf gkg]{ dflg;x?;+u 
xf]:^ndf÷Jof/]sdf÷PSn} al;/xg" 
ePsf] lyof] . 2053 ;fndf xfdLn] 
s"/f ul/;s]kl% tkfO{ slxNo} 6 
dlxgf cyjf ;f] eGbf a(L ;dosf] 
nflu gftf gkg]{ dflg;x?;+u 
xf]:^ndf÷Jof/]sdf÷PSn} *]/fdf a:g 
%f]*\g"eof] < 

pQ/bftf 2053 ;fndf 
gftf gkg]{ JolQm;+u 
a:g"ePsf] lyof]

a;f]jf;a;f]jf;a;f]jf;a;f]jf;

pQ/bftf 2053 ;fndf gftf gkg]{ 
JolQm;+u a:g"ePsf] lyPg

24

1= % 5= %}g 1= % 5= %}g

To;kl% km]l/ tkfO{n] slxNo} 6 dlxgf cyjf ;f] eGbf a(L ;dosf nflu gftf gkg]{ 
dflg;x?;+u xf]:^ndf, Jof/]sdf PSn} a:g"eof] <

6 dlxgf cyjf ;f] eGbf a(L ;dosf] nflu gftf gkg]{ dflg;x?;+u xf]:^ndf, Jof/]sdf 
cyjf PSn} a;]kl% km]l/ a:g 6 dlxgf jf Tof] eGbf a(L ;dosf] nflu a:g %f]*\g"eof] 
<

tkfO{n] s"g ;fndf 6 dlxgf cyjf ;f] eGbf a(L ;dosf nflu gftf gkg]{ dflg;x?;+u 
xf]:^ndf, Jof/]sdf PSn} *]/fdf a:g %f]*\g"eof] <

tkfO{n] s"g ;fndf 6 dlxgf cyjf ;f] eGbf a(L ;dosf] nflu gftf gkg]{ dflg;x?;+u 
xf]:^ndf, Jof/]sdf cyjf PSn} *]/fdf a:g z"? ug"{ePsf] lyof] <

24



cGt/jftf{ lng]sf] nfluMcGt/jftf{ lng]sf] nfluMcGt/jftf{ lng]sf] nfluMcGt/jftf{ lng]sf] nfluM

    
    

�

�

tkfO{ 2053 ;fnkl% klxnf] k^s xf]:^ndf÷Aof/]sdf cyjf PSn} a:bf slt 
aif{sf] x"g"x"GYyf] <

tkfO{n] s"g ;fndf 6 dlxgf cyjf ;f] eGbf al( ;dosf] nflu gftf gkg]{ dflg;x?;+u 
xf]:^ndf, Jof/]sdf cyjf PSn} a:g %f]*\g"eof] <

tkfO{n] s"g ;fndf 6 dlxgf cyjf ;f] eGbf a(L ;dosf nflu gftf gkg]{ dflg;x?;+u 
xf]:^ndf, Jof/]sdf PSn} a:g z"? ug"{eof] < 

pQ/bftf 2065 ;fn ;Dd gftf gkg]{ dflg;x?;+u xf]:^ndf, Jof/]sdf cyjf PSn} 
a;]sf] a]nfsf] ;a} hfgsf/L lng"xf];\ .

ca d tkfO{n] lbg" ePsf] hfgsf/L &Ls;+u n]v+] ls n]lvg hf¤Rb} %" . s]xL km/s 
eP ;RofOlbg"xf];\ x} t .

tkfO{ ;a}eGbf kl%Nnf] k^s xf]:^ndf÷Aof/]sdf cyjf PSn} a:bf slt aif{sf] 
x"g"x"GYyf] <

25

�

x"g"x"GYyf] <

tkfO{ ;a}eGbf kl% PSn} a:bf sxf¤ x"g"x"GYof] cyjf sxf¤ a:bf PSn} 
a:g"ePsf] lyof] <

25



v=23 k'j{ ;Dkfbg ug]{sf] nfluM k'j{ ;Dkfbg ug]{sf] nfluM k'j{ ;Dkfbg ug]{sf] nfluM k'j{ ;Dkfbg ug]{sf] nfluM 
v=27 pQ/bftfsf] e|d)fsf] l:ylt hLjg kfqf]df ;fg"{"xf];\

1 2

ca xfdL 2053 ;fndf hfgsf/L lnPkl% tkfO{ sxf¤ sxf¤ #"Dg hfg"eof] eGg] 
af/]df s"/f u/f}+ . 

pQ/bftf 2053 ;fn eGbf 
cuf*L g]kfn aflx/ 
hfg"ePsf] lyof]

pQ/bftf 2053 ;fn eGbf cuf*L 
slxNo} klg g]kfn aflx/ 
hfg"ePsf] lyPg

tkfO{ 2053 ;fnkl% klg slxNo} Ps 
xKtf jf ;f] eGbf a(L ;dosf] nflu 
g]kfn eGbf aflx/ #"Dg hfg"ePsf] % 
ls %}g <

tkfO{ 2053 ;fn kl% slxNo} Ps 
xKtf jf ;f] eGbf a(L ;dosf] nflu 
g]kfn eGbf aflx/ #"Dg hfg"ePsf] % 
ls %}g <

5= %}g1= % 1= % 5= %}g

e|d)fe|d)fe|d)fe|d)f

26

tkfO{ s"g -s"g_ b]z-x?_df hfg" ePsf]lyof] <

slxn] jf s"g ;fndf hfg"ePsf] lyof] <

tkfO{ s"g -s"g_ b]z-x?_df hfg"ePsf] lyof] <

tkfO{ 2053 ;fnkl% g]kfnaf^ aflx/ Ps xKtf jf ;f] eGbf a(L ;dosf] nflu 
s"g ;fndf #"Dg hfg"ePsf] lyof] <

To;kl% km]/L tkfO{ slxNo} Ps xKtf jf ;f] eGbf a(L ;dosf] nflu g]kfn 
aflx/ #"Dg hfg"ePsf] lyof] <

26



k'j{ ;Dkfbg ug]{sf] nfluM k'j{ ;Dkfbg ug]{sf] nfluM k'j{ ;Dkfbg ug]{sf] nfluM k'j{ ;Dkfbg ug]{sf] nfluM 
pQ/bftfsf] e|d)fsf] l:ylt hLjg kfqf]df ;fg"{"xf];\
1 2

tkfO{ 2053 ;fn kl% sf&df)*f}+ Ps xKtf jf ;f] eGbf a(L ;dosf] nflu s"g 
;fndf #"Dg hfg"ePsf] lyof] <

To;kl% km]l/ tkfO{ slxNo} Ps xKtf jf ;f] eGbf a(L ;dosf] nflu sf&df)*f}+ 

1= % 5= %}g

pQ/bftf 2053 ;fn eGbf 
cuf*L sf&df)*f}+ hfg"ePsf] 
lyof]

pQ/bftf 2053 ;fn eGbf cuf*L 
slxNo} klg sf&df)*f}+ hfg"ePsf] 
lyPg

lzIff v)*df hfg"xf];\ lzIff v)*df hfg"xf];\

tkfO{ 2053 / 2065 ;fnsf] lardf 
slxNo} Ps xKtf jf ;f] eGbf a(L 
;dosf] nflu sf&df)*f}+ #"Dg 
hfg"ePsf] % ls %}g <

tkfO{ slxNo} Ps xKtf jf ;f] eGbf 
a(L ;dosf] nflu sf&df)*f}+ #"Dg 
hfg"ePsf] % ls %}g <

1= % 5= %}g

27

tkfO{ slxn] jf s"g ;fndf sf&df)*f}+ #"Dg hfg"ePsf] lyof] <

To;kl% km]l/ tkfO{ slxNo} Ps xKtf jf ;f] eGbf a(L ;dosf] nflu sf&df)*f}+ 
#"Dg hfg"ePsf] lyof] <

To;kl% km]l/ tkfO{ slxn] Ps xKtf jf ;f] eGbf a(L ;dosf] nflu sf&df)*f}+ 
#"Dg hfg"ePsf] lyof] <

27



�

� kl%Nnf] k^s g]kfn eGbf aflx/ #"Dg hf¤bf tkfO{ sf];+u a:g"x"GYof] <
 

�

�

� klxnf] k^s sf&df)*f} #"Dg hf¤bf tkfO{n] lax] ug"{ePsf] lyof] ls lyPg<

2053 ;fnkl% klxnf] k^s g]kfn eGbf aflx/ #"Dg hf¤bf tkfO{ slt aif{sf] 
x"g"x"GYof] <

kl%Nnf] k^s tkfO{ g]kfn eGbf aflx/ #"Dg hf¤bf tkfO{sf] %f]/f%f]/L ePsf 
lyP ls lyPgg\ <

kl%Nnf] k^s tkfO{ sf&df)*f}+ #"Dg hf¤bf tkfO{ sxf¤ a:g"x"GYof] <

ca d tkfO{n] lbg" ePsf] hfgsf/L &Ls;+u n]v+] ls n]lvg hf¤Rb} %" . s]xL km/s 
eP ;RofOlbg"xf];\ x} t .

2828



v=28 k'j{ ;Dkfbg ug]{sf] nfluMpQ/bftfsf] z}lIfs l:ylt hLjg kfqf]df ;fg"{"xf]; k'j{ ;Dkfbg ug]{sf] nfluMpQ/bftfsf] z}lIfs l:ylt hLjg kfqf]df ;fg"{"xf]; k'j{ ;Dkfbg ug]{sf] nfluMpQ/bftfsf] z}lIfs l:ylt hLjg kfqf]df ;fg"{"xf]; k'j{ ;Dkfbg ug]{sf] nfluMpQ/bftfsf] z}lIfs l:ylt hLjg kfqf]df ;fg"{"xf]; 
v=29

1 pQ/bftf 2053 ;fndf :s"n hf¤b} x"g"x"GYof]

2   pQ/bftf 2053 eGbf cl# :s"n hfg"ePsf] lyof] t/ 

2053 df hfg"x"Gy]g
3   slxNo} klg :s"n hfg"ePsf] lyPg

4

tkfO{ 2053 
;fnkl% k|f}( 
lzIff k(\gsf] 
nflu 
hfg"ePsf] % 
ls %}g <

tkfO{ slxNo} 
Ps lbg 
ePklg 
k(\gsf] nflu 
:s'n 
hfg"ePsf] % 
ls %}g <

2053 ;fn 
kl% tkfO{n] 
slxNo} :s"n 
hfg 
%f]*\g"eof] <

tkfO{ 2053 
;fnkl% Ps 
lbg ePklg 
k(\gsf] nflu 
:s'n 
hfg"ePsf] % 
ls %}g <

lzIfflzIfflzIfflzIff

pQ/bftfn] k|f}( lzIff 
k(\g"ePsf] lyof]

29

tkfO{n] slt ;fnaf^ -:s'n÷k|f}( sIff_ hfg -z"?ug'{÷%f]*\g"_ eof] <

To;kl% km]l/ tkfO{n] slxNo} -:s'n÷k|f}( sIff_ hfg -%f]*\g"÷z"?ug'{_ eof] <

1= z"?u/]+÷%f]*]+ 5= %}g tkfO{ clxn] klg k(\b} x"g"x"G% <

To;kl% km]l/ tkfO{ slxNo} :s'n÷k|f}( sIff -hfg"÷%f]*\g"_ eof] <

1= %÷lyof] 5= %}g

ls %}g <ls %}g <

/f]huf/L v)*df hfg"xf];\

Tof] s:tf] lsl;dsf] :s'n lyof] < ;/sf/L :s'n lyof] ls, lghL -af]l*{ª_ :s'n 
lyof] ls cyjf g]kfn aflx/ ljb]zdf uP/ k(\g"ePsf] lyof] <

29



tkfO{ s"g ;fnaf^ km]l/ :s'n hfg jf k(\g -yfNg"÷%f]*\g"_ eof] <

cGt/jftf{ lng]sf] nfluMcGt/jftf{ lng]sf] nfluMcGt/jftf{ lng]sf] nfluMcGt/jftf{ lng]sf] nfluM

� 2053 ;fnkl% klxnf] k^s :s'n jf k(\g hf¤bf tkfO{ sxf¤ a:g""x"GYof] <

�

� 2053 ;fnkl% klxnf] k^s k|f}(lzIff k(\g hf¤bf tkfO{ sxf¤ a:g""x"GYof] <
 

�

k|f}( lzIff k(]sf] pQ/bftfx?nfO{ klg dflysf k|Zgx? bf]x¥ofpg"xf];\  .

ca d tkfO{n] lbg" ePsf] hfgsf/L &Ls;+u n]v+] ls n]lvg hf¤Rb} %" . s]xL km/s 
eP ;RofOlbg"xf];\ x} t .

tkfO 2053 ;fn kl% -klxnf] k^s_ k(\g hfg" ePsf] :s'n s:tf] lsl;dsf] 
lyof] < 

2053 ;fnkl% klxnf] k^s :s'n jf k(\g hfg %f]*\bf tkfO{ slt aif{sf] 
x"g"x"GYof] <

Tof] s:tf] lsl;dsf] :s'n lyof] < ;/sf/L :s'n lyof] ls, lghL -af]l*{ª_ :s'n 
lyof] ls cyjf g]kfn aflx/ ljb]zdf uP/ k(\g" ePsf] lyof] <

30

lyof] < 

30



v=30 k'j{ ;Dkfbg ug]{sf] nfluM pQ/bftfsf] /f]huf/Lsf] l:ylt hLjg kfqf]df ;fg"{"xf];\ k'j{ ;Dkfbg ug]{sf] nfluM pQ/bftfsf] /f]huf/Lsf] l:ylt hLjg kfqf]df ;fg"{"xf];\ k'j{ ;Dkfbg ug]{sf] nfluM pQ/bftfsf] /f]huf/Lsf] l:ylt hLjg kfqf]df ;fg"{"xf];\ k'j{ ;Dkfbg ug]{sf] nfluM pQ/bftfsf] /f]huf/Lsf] l:ylt hLjg kfqf]df ;fg"{"xf];\ 
v=34

1  pQ/bftf 2053 ;fndf hflu/ ub}{ x"g"x"GYof]

2 pQ/bftfn] 2053 ;fndf hflu/ ug"{x"Gy]g

3 pQ/bftfn] 2053 ;fndf b}lgs Hofnfbf/L ug"{x"GYof]

4 2053 ;fndf b}lgs Hofnfbf/L ug"{x"Gy]g

5

6  pQ/bftf 2053 ;fndf #/df÷
 #/aflx/ Jofkf/ ug"{x"Gy]g

7  2053 df cfld{df x"g"x"GYof]
8  2053 df 
 cfdL{df 
 x"g"x"Gy]g

/f]huf/L/f]huf/L/f]huf/L/f]huf/L

2053 ;fn 2053 ;fn 2053 ;fn 2053 ;fn 

pQ/bftf 2053 ;fndf #/df jf #/aflx/ 
Jofkf/ ug"{x"GYof]

31

2053 ;fn 
kl% tkfO{n] 
slxNo} 
#/df÷#/ 
aflx/ Jofkf/ 
ug{ %f]*\g"eof] 
<

2053 ;fn 
kl% tkfO{n] 
slxNo} Hofnf 
dhb"/L ug{ 
%f]*\g"eof] <

2053 ;fn 
kl% tkfO{n]  
cfld{sf] 
hflu/ 
%f]*\g"eof] jf 
k]G;gdf 
a:g"eof] <

2053 ;fn 
kl% tkfO{n] 
slxNo} hflu/ 
vfg yfNg"eof] 
<

2053 ;fn 
kl% tkfO{n] 
slxNo} Hofnf 
dhb"/Lsf] 
sfd ug{  
yfNg"eof] <

2053 ;fn 
kl% tkfO{n] 
slxNo} 
#/df÷#/ 
aflx/ Jofkf/ 
ug{  
yfNg"eof] <

2053 ;fn 
kl% tkfO{n] 
slxNo} cfdL{df 
etL{ x"g"eof] <

2053 ;fn 
kl% tkfO{n] 
slxNo} hflu/ 
%f]*\g"eof] jf 
k]G;gdf 
a:g"eof] <

31



tkfO{n] 2053 ;fn kl% klxnf]k^s s"g ;fnaf^ hflu/ vfg -z"?ug"{÷%f]*\g"_ eof] <

1= %f]*]+ 5= %f]*]sf] %}g clxn] klg Tolx hflu/ ub}{ x"g"x"G% <

To;kl% km]l/ tkfO{ slxNo} hflu/ ug"{ eof] <

tkfO{ s"g ;fnaf^ km]l/ hflu/ ug{ yfNg" eof] <

cGt/jftf{ lng]sf] nfluMcGt/jftf{ lng]sf] nfluMcGt/jftf{ lng]sf] nfluMcGt/jftf{ lng]sf] nfluM

tkfO{ s:tf] lsl;dsf] hflu/ ug"{x"GYof] < ;/sf/L hflu/ ug"{x"GYof] ls, u}x| ;/sf/L 
;+:yfdf hflu/ ug"{x"GYof] ls, cGt/fli^«o u}x| ;/sf/L jf ljb]zL ;:+yfdf hflu/ 
ug"{x"GYof] ls, lghL -k|fOe]^_ sDkgL jf km\ofS^«Ldf hflu/ ug"{x"GYof] <

pQ/bftfn] ug"{ ePsf] ;a} lsl;dsf hflu/sf] af/]df dflysf k|Zgx? bf]x¥ofpg"xf];\  
.

tkfO{ s:tf] lsl;dsf] hflu/ ug"{x"GYof] < ;/sf/L hflu/ ug"{x"GYof] ls, u}x| ;/sf/L 
;+:yfdf hflu/ ug"{x"GYof] ls, cGt/fli^«o u}x| ;/sf/L jf ljb]zL ;:+yfdf hflu/ ug"{x"GYof] 
ls, lghL -k|fOe]^_ sDkgL jf km\ofS^«Ldf hflu/ ug"{x"GYof] <

tkfO{n] slxNo} hflu/ ug{ %f]*\g" eof] < cyjf tkfO{nfO{ hflu/af^ cjsfz kfpg"ePsf] 
lyof] ls lyPg <

32

� 2053 ;fn kl% tkfO{n] km]l/ hflu/ ubf{ slt aif{sf] x"g"x"GYof] <

� 2053 ;fn kl% tkfO{n] hflu/ ug{ %f]*\bf tkfO{ sxf¤ a:g"x"GYof] <

� tkfO{ ;a}eGbf klxnf] k^s hflu/ ubf{ sxf¤ a:g"x"GYof] <

� tkfO{ ;a} eGbf klxnf] hfuL/ ubf{ slt jif{sf] x"g"x"GYof] <

�

� tkfO{n] ;a}eGbf klxnf] k^s Hofnfbf/L sfd ubf{ sxf¤ a:g"x"GYof] <

tkfO{ sxf¤ a:bf b]lv cfkm' a;]]sf] #/df k;n cyjf c? g} Joj;fo ug{ 
z'? ug"{ePsf] xf] <

.

ca d tkfO{n] lbg" ePsf] hfgsf/L &Ls;+u n]v+] ls n]lvg hf¤Rb} %" . s]xL km/s 
eP ;RofOlbg"xf];\ x} t .

32



ª=1 cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\_cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\_cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\_cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\_

    1 pQ/bftfsf] lax] ePsf] % 

2 pQ/bftfsf] slxNo} klg lax] ePsf] %}g 

kfgf g+=36 sf] ª=14df hfg"xf];\

ª=1=0 cGt/jftf{ lng]sf] nfluM -hLjg kfqf] / aflx/L kfgfdf cGt/jftf{ lng]sf] nfluM -hLjg kfqf] / aflx/L kfgfdf cGt/jftf{ lng]sf] nfluM -hLjg kfqf] / aflx/L kfgfdf cGt/jftf{ lng]sf] nfluM -hLjg kfqf] / aflx/L kfgfdf 
x]/]/ lrGx nufpg"xf];\_x]/]/ lrGx nufpg"xf];\_x]/]/ lrGx nufpg"xf];\_x]/]/ lrGx nufpg"xf];\_

1

2

kfgf g+=36 sf] ª=15df hfg"xf];\

3 pQ/bftfn] 2053 ;fnkl% km]/L csf]{ lax] ug"{ePsf]

v)* ªM ljjfxv)* ªM ljjfxv)* ªM ljjfxv)* ªM ljjfx

pQ/bftfsf] 2053 ;fn kl% lax] ePsf] / JolQmut cGt/jftf{sf] 
laafx ;DjGwL k|Zg g;f]w]sf]

pQ/bftfsf] 2053 ;fn cl# g} lax] ePsf] / JolQmut 
cGt/jftf{sf] laafx ;DjGwL k|Zg ;f]lw;lsPsf]

33

3 pQ/bftfn] 2053 ;fnkl% km]/L csf]{ lax] ug"{ePsf]
kfgf g+=35 sf] ª=9df hfg"xf];\

ª=2
 

 

csf]{ kfgfsf] ª=4 df hfg"xf];\

2= cfkm}n] dfq1= afj"cfdf÷gft]bf/ 3= b"a} y/Ln]

ca xfdL lax]af/Lsf] af/]df s]xL s"/f u/f}+ . d tkfO{sf] ljjfxsf] af/]df s]xL k|Zgx? 
;f]Wb}%" . dflg;x¿n] lax] w]/} lsl;dn] ub{%g\ . sf] ;¤u ljx] ug]{ eGg] s"/f s"g} a]nf 
xfd|f] afa"cfdf÷gft]bf/n] %fGg"x"G% / s"g} a]nf xfdL cfkm}+ /f]H%f}+ . tkfO{sf] -klxnf]_ -
nf]Ug]÷:jf:gL_ s;n] %fGof] < tkfO{sf] afa"cfdf÷gft]bf/n] dfq} %fGg"eof] ls, tkfO{ 
cfkm}+n] dfq} /f]Hg"eof] ls, afa"cfdf÷gft]bf/ / tkfO{ b"a} y/L ldn]/ %fGg" eof] <

33



ª=3

ª=4ª=4ª=4ª=4

1= lyof] 5= lyPg

ª=5

1= lyof] 5= lyPg

1= afj"cfdf÷gft]bf/ 2= cfkm}n] dfq 3= b"a} yl/n]

tkfO{nfO{ ;"xfp¤bf] -s]^F÷s]^L_ vf]Hg tkfO{sf] kl/jf/sf] dfG%]x¿ jfx]s tkfO{sf c¿ 
gft]bf/n] ;xof]u ug"{ePsf] lyof] ls lyPg <

tkfO{sf] lax]sf] s"/f rNg"eGbf cl# tkfO{sf] -klxnf]_ -nf]Ug]÷:jf:gL_ ;+u lrghfg lyof] 
ls lyPg <

tkfO{x¿ b"j} y/Ln] %fGg"ePsf] eP tfklg Ps y/Ln] w]/} hf]* u/]sf] x"g ;S%  
tkfO{sf] -klxnf]_ -nf]Ug]÷:jf:gL]_ %fGg] sfddf s;sf] w]/} hf]* lyof] . tkfO{sf] 
afa"cfdf÷gft]bf/sf] w]/} hf]* lyof] ls, tkfO{sf] cfkm\gf]] <

34

ª=6-ª=8 k|Zg g+= ª=6 b]lv ª=8 vfnL /flvPsf] %

34



ª=9ª=9ª=9ª=9 cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\_cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\_cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\_cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\_

    1  Ps k^s eGbf a(L lax] ePsf] % .

2  Ps k^s dfq lax] ePsf] % .

csf]{ kfgfsf] ª=15 df hfg"xf];\

ª=10

ª=12 df hfg"xf];\

2= cfkm}+n] dfq

tkfO{n]] ;a} eGbf kl% lax] ug"{ePsf] -nf]Ug]÷:jf:gL_ s;n] %fGof] < tkfO{sf] 
afa"cfdf÷gft]bf/n] dfq} %fGg"eof] ls, tkfO{ cfkm}+n] dfq} /f]Hg"eof] ls, tkfO{x? b"a} y/L 
ldn]/ %fGg"eof] <

1= afj"cfdf÷gft]bf/ 3= b"a} y/Ln]

35

ª=11

ª=12ª=12ª=12ª=12

1= lyof] 5= lyPg

tkfO{nfO{ ;a} eGbf kl% lax] ePsf] -nf]Ug]÷:jf:gL_ vf]Hg tkfO{sf] kl/jf/sf dfG%]x¿ 
afx]s tkfO{sf c¿ gft]bf/n] ;xof]u ug"{ePsf] lyof] <

tkfO{x¿ b"a}y/Ln] %fGg" ePsf] eP tfklg Ps y/Ln] w]/} hf]* u/]sf] x"g;S% . 
tkfO{sf] lax] sf] ;¤u ug]{ eGg] s"/fdf s;sf] w]/} hf]* lyof] < tkfO{sf] afa"cfdf / 
gft]bf/sf] ls, tkfO{sf] cfkm\gf] <

1= afj"cfdf÷gft]bf/ 3= b"a} y/Lsf] a/fa/2= cfkm\gf]

35



ª=13

1= lyof] 5= lyPg

ª=15 df hfg"xf];\

ª=14ª=14ª=14ª=14

1= Psbd} dxTjk')f{ x"G% h:tf] nfU%

2= clncln dxTjk')F{ x"G% h:tf] nfU%

3= slQklg dxTjk')f{ x"b}g h:tf] nfU%

tkfO{sf] lax] l%§} x"g"k%{ eGg] s"/f tkfO{sf] cfdfsf] nflu slQsf] dxTjk')f{ x"G% h:tf] 
nfU% < Tof] s"/f tkfO{sf] cfdfnfO{ Psbd} dxTjk')f{ x"G% h:tf] nfU% ls, clncln 
dxTjk')F{ x"G% h:tf] nfU% ls, slQ klg dxTjk')f{ x"b}g h:tf] nfU% <

tkfO{sf] ;a}eGbf kl% ePsf] lax]sf] s"/f rNg"eGbf cl# tkfO{sf] ;a} eGbf kl% lax] 
ePsf] -nf]Ug]÷:jf:gL_ ;+u lrghfg lyof] ls lyPg <

36

4= cfdf g} x"g"x"Gg

ª=15ª=15ª=15ª=15 cfhsnsf s]^Lsf] lax] slt aif{sf] pd]/df u/] /fd|f] xf]nf <
 

jif{

ª=16 cfhsnsf s]^Fsf] lax] slt aif{sf] pd]/df u/] /fd|f] xf]nf <

jif{

36



ª=17ª=17ª=17ª=17 lax] ePsf] slt aif{kl% aRrf kfpg" /fd|f] xf]nf <

jif{

ª=18 cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\_cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\_cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\_cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\_

1 pQ/bftfsf] lax] ePsf] %}g / 15-34 jif{ leqsf] x"g"x"G%

2 cGo
kfgf g+= 43sf] v)* r df hfg"xf];\

ª=19 dfyLsf s]xL k|Zgx¿df xfdLn] dflg;sf af/]df ;fdfGo s"/fsfgL u¥of}+ . ca xfdL 
tkfO{sf] hLjg s:tf] xf]]nf eGg] af/]df s"/f u/f}+ .

tkfO{ slxn] lax] ug]{ ljrf/ ub}{ x"g"x"G% < tkfO{ Ps jif{leqd} lax] ug]{ ljrf/ ub}{ 
x"g"x"G% ls, b"O{b]lv tLg aif{leqdf ug]{ ljrf/ ub}{ x"g"x"G% ls, rf/b]lv kf¤r aif{leqdf 
ug]{ ljrf/ ub}{ x"g"x"G% ls, %b]lv ;ft jif{leqdf ug]{ ljrf/ ub}{ x"g"x"G% ls, cf& jif{ 

37

1= Ps jif{leqdf

2= b"O{b]lv tLg aif{leqdf

3= rf/b]lv kf¤r aif{leqdf csf]{ kfgfsf] ª=21 df hfg"xf];\

4= %b]lv ;ft aif{leqdf

5= cf& jif{ jf Tof] eGbf kl%

6= slxNo} klg ulb{g 

98= yfxf %}g csf]{ kfgfsf] ª=21 df hfg"xf];\

ug]{ ljrf/ ub}{ x"g"x"G% ls, %b]lv ;ft jif{leqdf ug]{ ljrf/ ub}{ x"g"x"G% ls, cf& jif{ 
jf Tof] eGbf kl% lax] ug]{ ljrf/ ub}{ x"g"x"G% <

37



ª=20 dfgf}+ ls, tkfO{n] lax] ug"{eof] eg], slt jif{sf] pd]/df ug{"x"GYof] xf]nf <

jif{ 97= slxNo} klg ug]{ lyO{g

ª 22 df hfg"xf];\ kfgf g+=43sf] v)* r df hfg"xf];\

ª=21ª=21ª=21ª=21 tkfO{ slt jif{sf] pd]/df lax] ug{ rfxg"x"G% <

jif{

98= yfxf %}g cGbfhL jif{

ª=22ª=22ª=22ª=22 dflg;x¿n] lax] ljleGg lsl;dn] u%{g\ . slxn]sf¤xL afa"cfdf jf gft]bf/n] %fg]sf] -
s]^f÷s]^L_ ;+u lax] ul/G%, eg] slxn]sf¤xL cfkm}}+n] /f]h]sf] -s]^f÷s]^L_ ;+u . tkfO{n] 
ug]{ lax]sf] af/]df ljrf/ ubf{, tkfO{sf] nflu -s]^f÷s]^L_ afa"cfdf / gft]bf/n] %flglbP 
x"GYof] eGg] rfxg"x"G% ls, cfkm}+ /f]Hg rfxg"x"G% ls, b"j} y/L ldn]/ %fGg rfxg"x"G% <

38

1= afa"cfdf÷gft]bf/n]
csf]{ kfgfsf] ª=24 df hfg"xf];\

2= cfkm}+ /f]Hg rfxG%"

3= b"j} y/Ln]

98= yfxf %}g csf]{ kfgfsf] ª=24 df hfg"xf];\

x"GYof] eGg] rfxg"x"G% ls, cfkm}+ /f]Hg rfxg"x"G% ls, b"j} y/L ldn]/ %fGg rfxg"x"G% <

38



ª=23

1= afa"cfdf÷gft]bf/sf]

2= cfkm\gf]

3= b"j}sf] a/fa/

ª=24ª=24ª=24ª=24

1= Psbd} nfU%

2= clncln dfq} nfU%

3= slQ klg nfUb}g

tkfO{x? b"j} y/L ldn]/ %fg] tfklg Ps y/Ln] a(L hf]* ug{ ;S% . tkfO{sf] nflu -
s]^f÷s]^L_ %fGbf s;sf] w]/} hf]* xf];\ eGg] rfxg"x"G% < tkfO{sf] afa"cfdf÷ gft]bf/sf] 
ls tkfO{sf] cfkm\gf] <

lax] cufl* g}, lax] ug]{ -s]^f÷s]^L_ ;+u ne u%"{"{ h:tf] slQsf] nfU% < -Psbd} 
nfU% ls, clncln dfq} nfU% ls, slQ klg nfUb}g <_

39

98= yfxf%}g

ª=25

1= zf/Ll/s ¿k/+u

2= w]/} k(fO

3= /fd|f] hflu/

4= pxf¤;+u nekg"{

tkfO{nfO{ cfkm"n] lax] ug]{ -s]^f÷s]^L_ sf] s"g s"/f ;a}eGbf a(L dxTjk")f{ nfU% < 1= 
zf/Ll/s ¿k/+u, 2= w]/} k(fO ePsf], 3= /fd|f] hflu/ ePsf], 4= tkfO{sf] pxf¤;+u 
nekg"{ jf dfofk|]d a:g" dWo] s"grflx ;a}eGbf a(L dxTjk")f{ nfU% <

39



ª=26

cGt/jftf{ lng]sf] nfluMcGt/jftf{ lng]sf] nfluMcGt/jftf{ lng]sf] nfluMcGt/jftf{ lng]sf] nfluM
ª=25 df cfPsf] pQ/nfO{ %f]*]/ af¤sL tLgj^f pQ/x¿ k(]/ ;"gfpg"xf];\ 

1= zf/Ll/s ¿k/+u

2= w]/} k(fO

3= /fd|f] hflu/

4= pxf¤;+u nekg"{

ª=27 tkfO{n] lax] ug{ rfx]sf] -s]^f÷s]^L_ tkfO{sf] ;f]rfOdf % <

1= % 5= %}g

To;kl% ;a}eGbf dxTjk')f{ s"g s"/f nfU% < 

40

ª=28

1= Psbd} b"MvL agfp¤%

2= s]xL b"MvL agfp¤%
csf]{ kfgfsf] ª=30 df hfg"xf];\

3= clncln b"MvL agfp¤%

4= slQ klg b"MvL agfp¤b}g

98= yfxf %}g

dfgf}+ ls tkfO{sf] lax] slxNo} klg ePg eg] o;n] tkfO{nfO{ slQsf] b"MvL agfp¤% < 
Psbd} b"MvL agfp¤% ls, s]xL b"MvL agfp¤% ls, clncln b"MvL agfp¤% ls, slQ klg 
b"MvL agfp¤b}g <

40



ª=29

1= Psbd} b"MvL agfp¤%

2= s]xL b"MvL agfp¤%

3= clncln b"MvL agfp¤%

4= slQ klg b"MvL agfp¤b}g

98= yfxf %}g

ª=30ª=30ª=30ª=30 tkfO{ lax] u/]sf] slt ;do kl% aRrf kfpg rfxg"x"G% <

dlxgf jif{ csf]{ kfgfsf] ª=32 df hfg"xf];\

dfgf}+ ls tkfO{sf] lax] slxNo} klg ePg eg] o;n] tkfO{nfO{ slQsf] b"MvL agfp¤% < 
Psbd} b"MvL agfp¤% ls, s]xL b"MvL agfp¤% ls, clncln b"MvL agfp¤% ls, slQ klg 
b"MvL agfp¤b}g <

41

ª=31

dlxgf jif{ 97= eujfg\ e/f];f

97= eujfg\ e/f];f

tkfO{n] eg]sf] s"/f klg xf], t}klg, olb tkfO{n] eg]cg";f/ x"g] eP, lax] u/]sf] slt 
;do kl% aRrf kfpg rfxg"x"GYof] <

41



ª=32ª=32ª=32ª=32

1= kSs} klg rnfp¤%f}+ xf]nf h:tf] nfU%

2= rnfpg klg ;lsG% grnfpg klg ;lsG% h:tf] nfU%

3= rnfO¤b} rnfO¤{b}g xf]nf h:tf] nfU% 

98= yfxf %}g

ª=33

tkfO{ / tkfO{sf] -nf]Ug]÷:jf:gL_ n] klxnf] aRrf l(nf] kfpgsf] nflu kl/jf/ lgof]hgsf 
;fwgx¿ rnfpg"xf]nf h:tf] slQsf] nfU% < kSs} klg rnfpg"x"G% xf]nf h:tf] nfU% 
ls, rnfpg klg ;lsG% grnfpg klg ;lsG% h:tf] nfU% ls, rnfOb} rnfO{b}g xf]nf 
h:tf] nfU% <

tkfO{x? nf]Ug]÷:jf:gLn] aRrf hGd]kl% csf]{ aRrf l(nf] kfpgsf] nflu kl/jf/ 
lgof]hgsf ;fwgx? rnfpg"xf]nf h:tf] slQsf] nfU% < kSs} klg rnfpg"x"G% xf]nf 
h:tf] nfU% ls, rnfpg klg ;lsG% grnfpg klg ;lsG% h:tf] nfU% ls, rnfO¤b} 
rnfO¤{b}g xf]nf h:tf] nfU% <

42

1= kSs} rnfO{G% h:tf] nfU%

2= rnfpg klg ;lsG% grnfpg klg ;lsG% h:tf] nfU%

3= rnfO¤b} rnfO¤b}g xf]nf h:tf] nfU% 

98= yfxf %}g

42



casf k||Zgx¿df xfdLn] dflg;x¿sf ;Gtfg ;DaGwL larf/ / ;f]rfO{ a"em\g 
rfx]sf %f} .

r=1=1 cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._

 1111  pQ/bftfsf] pd]/ 15 b]lv 34 aif{ leqsf] %

2222  pQ/bftf 35 jf Tof] eGbf w]/} jif{sf] x"g"x"G%

kfgf g+=45sf] r=7 df hfg"xf];\

r=1=2 cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._

 1 1 1 1  pQ/bftf jf pxf¤sf] bDktLn] :yfoL kl/jf/ lgof]hg ug"{ePsf] %

kfgf g+=45sf] r=7 df hfg"xf];\

2222  cGo

v)* rM ;Gtfg ;DaGwL wf/)ffv)* rM ;Gtfg ;DaGwL wf/)ffv)* rM ;Gtfg ;DaGwL wf/)ffv)* rM ;Gtfg ;DaGwL wf/)ff

43

r=1 cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._

 1111  %f]/f%f]/L %g\ jf lyP .

2222  slxNo} klg %f]/f%f]/L ePsf %}gg\ .

csf]{ kfgfsf] r=4 df hfg"xf];\ 

r=2 tkfO{ c¿ %f]/f%f]/L kfpg rfxg"x"G% ls rfxfg"x"Gg < 

1= rfxfG%" 5= rfxfGg kfgf g+=45sf] r=7 df hfg"xf];\

43



r=3 tkfO{ c¿ sltj^f %f]/f%f]/L kfpg rfxfg"x"G% <

%f]/f%f]/Lsf] ;+Vof csf]{ kfgfsf] r=7 df hfg"xf];\

r=4r=4r=4r=4

1= Psbd} dxTjk')f{ x"G% h:tf] nfU% 

2= clncln dxTjk')f{ x"G% h:tf] nfU% 

3= slQ klg dxTjk')f{ x"b}g h:tf] nfU% 

4= cfdf g} x"g"x"Gg

tkfO{sf] %f]/f%f]/L l%§} x"g"k%{ eGg] s"/f tkfO{sf] cfdfsf] nflu slQsf] dxTjk')f{ x"G% 
h:tf] nfU% < Tof] s"/f tkfO{sf] cfdfnfO{ Psbd} dxTjk')f{ x"G% h:tf] nfU% ls, 
clncln dxTjk')f{ x"G% h:tf] nfU% ls, slQ klg dxTjk')f{ x"b}g h:tf] nfU% <
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r=5 cGt/jftf{ lng]sf] nfluM -hLjgkfqf]df x]/]/ lrGx nufpg"xf];\ ._cGt/jftf{ lng]sf] nfluM -hLjgkfqf]df x]/]/ lrGx nufpg"xf];\ ._cGt/jftf{ lng]sf] nfluM -hLjgkfqf]df x]/]/ lrGx nufpg"xf];\ ._cGt/jftf{ lng]sf] nfluM -hLjgkfqf]df x]/]/ lrGx nufpg"xf];\ ._

 1111  pQ/bftfsf] ljjfx ePsf] % .

2222 pQ/bftfsf] slxNo} klg ljjfx ePsf] %}g .

csf]{ kfgfsf] rM7 df hfg"xf];\ 

csf]{ kfgfsf] r=6 df hfg"xf];\
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r=6r=6r=6r=6

1= Psbd} dxTjk')f{ x"G% h:tf] nfU% 

2= clncln dxTjk')f{ x"G% h:tf] nfU% 

3= slQ klg dxTjk')f{ x"b}g h:tf] nfU% 

4= ;f;' g} x"g"x"Gg

r=7r=7r=7r=7

;+Vof csf]{ kfgfsf] r=10 df hfg"xf];\

tkfO{sf] %f]/f%f]/L l%§} x"g"k%{ eGg] s"/f tkfO{sf] ;f;'sf] nflu slQsf] dxTjk')f{ x"G% 
h:tf] nfU% < Tof] s"/f tkfO{sf] ;f;"nfO{ Psbd} dxTjk')f{ x"G% h:tf] nfU% ls, cln 
cln dxTjk')f{ x"G% h:tf] nfU% ls, slQ klg dxTjk')f{ x"b}g h:tf] nfU% <

dfG%]n] k|foMh;f] cfkm'n] eg]hlt %f]/f%f]/L kfpg ;Sb}gg\ olb tkfO{n] rfx] hlt dfq 
%f]/f%f]/L kfpg ;Sg] eP tkfO{ slt hgf %f]/f%f]/L kfpg"x"GYof] <

45

     b]lv    j^f ;Dd 97= e/k%{÷O{Zj/sf] s[kf 98= yfxf %}g

csf]{ kfgfsf] r=9 df hfg"xf];\

r=8

;+Vof 97= e/k%{÷O{Zj/sf] s[kf 98= yfxf %}g

csf]{ kfgfsf] r=10 df hfg"xf];\   csf]{ kfgfsf] r=9 df hfg"xf];\

olb tkfO{n] rfx] hlt dfq %F]/f%f]/L kfpg ;Sg] eP slt hgf %f]/f%f]/L kfpg"x"GYof] <
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r=9r=9r=9r=9 dfG%]x? k|foM o:t} ;f]R%g\ t/ klg tkfO{n] slt hgf %f]/f%f]/L kfpg rfxg"x"G% <

;+Vof 97= e/k%{÷O{Zj/sf] s[kf 98= yfxf %}g

kfgf g+=48sf] r=15 df hfg"xf];\

r=10r=10r=10r=10  cGt/jftf{ lng]sf] nfluM cGt/jftf{ lng]sf] nfluM cGt/jftf{ lng]sf] nfluM cGt/jftf{ lng]sf] nfluM
r=7, r=8 cyjf r=9 sf] pQ/ ;+Vof tflnsfsf] klxnf] txdf #]/f nufpg"xf];\ / 
tflnsfsf] klxnf] txdf #]/f nufPsf] ;+Vof / bf];|f] txdf ePsf To;sf a}slNks 
;+Vof qmdzM csf]{ kfgfsf] r=11 sf] vfnL &fp¤df eg"{xf];\ / ;f]Wg"xf];\ .

kfgf g+=48sf] r 15 df hfg"xf];\ kfgf g+=48sf] r 15 df hfg"xf];\
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r=11

hgf

r=12  cGt/jftf{ lng]sf] nfluM cGt/jftf{ lng]sf] nfluM cGt/jftf{ lng]sf] nfluM cGt/jftf{ lng]sf] nfluM

r=13

 
hgf

olb tkfO{sf] ========== hgf -bf];|f] txdf #]/f nufPsf] ;+Vof_ %f]/f %f]/L x"g ;s]gg\ 
eg] tkfO{ ========== hgf rfxg"x"G%, -slQklg rfxg"x"Gg_ ls, =========== hgf <

r=11 sf] pQ/ ;+Vof tflnsfsf] bf];|f] txdf #]/f nufpg"xf];\ / tflnsfsf] bf]>f] 
txdf #]/f nufPsf] ;+Vof / t]>f] txdf ePsf To;sf a}slNks ;+Vof qmdzM 
r=13 sf] vfnL &fp¤df eg"{xf];\ / ;f]Wg"xf];\ .

olb tkfO{sf] =============hgf -klxnf] txdf #]/f nufPsf] ;+Vof_ %f]/f %f]/L x"g ;s]gg\ 
eg] tkfO{ ========== hgf rfxg"x"G% -slQ klg rfxfg"x"Gg_ ls =========== hgf <

47

r=14 cGt/jftf{ lng]sf] nfluMcGt/jftf{ lng]sf] nfluMcGt/jftf{ lng]sf] nfluMcGt/jftf{ lng]sf] nfluM
pQ/bftfn] rM13 df eGg" ePsf] %f]/f %f]/Lsf] ;+Vof dflysf] tflnsfsf]
t];|f] txdf ePsf] ;+Vofdf #]/f nufpg"xf];\ .

 

47



r=15r=15r=15r=15

r=16-r=19 k|Zg g+= r=16 b]lv r=19 vfnL /flvPsf] %

r=20r=20r=20r=20

1= Psbd} &fG%" 2= clncln &fG%" 3= slQ klg &flGbg 

  %f]/f
1= tLg}j^L 2= Pp^f %f]/f 3= b"O{j^f %f]/f 4= ltg}j^f

r=20 df hfg"xf];\

-clxn] tkfO{;¤u ePsf] %f]/f%f]/L Psl%gnfO{ lj;f}{{_ . ca olb tkfO{sf] tLg hgf dfq 
%f]/f%f]/L x"g] eP tkfO{ tLg} j^L %f]/L rfxg"x"G% ls, Pp^f %f]/f / b"O{j^L  %f]/L 
rfxg"x"G% ls, b"O{j^F %f]/f / Pp^L %f]/L rfxg"x"G% ls, tLg}j^f %f]/f rfxfg"x"G% <

s]lx dfG%]x¿ cfkm\gf %F]/f%f]/Lx¿ afj"cfdfsf lglDt af]em, lrGtf, kL/ / b"Mvsf 
sf/)f x"g eG&fG%g\ . tkfO{ cfkm\gf %F]/f%f]/Lx¿ b"""Mvsf sf/)f x"g\ eGg] s"/f Psbd} 
&fGg"x"G% ls, clncln &fGg"x"G% ls, slQ klg &fGg"x"Gg < 

 %f]/L  / b"O{j^L %f]/L  / Pp^L %f]/L

48

1= Psbd} &fG%" 2= clncln &fG%" 3= slQ klg &flGbg 

csf]{ kfgfsf] r=22 df hfg"xf];\
6= e/k%{

 

r=21 

1= Psbd} &fG%" 

2= clncln &fG%"

3= slQ klg &flGbg

;fwf/)ftof %f]/f%f]/L -pgLx¿sf] hLjg e/Ldf_ afa"cfdfsf nflu b"Mvsf sf/)f x"g 
eGg] s"/f slQsf] &fGg"x"G% < Psbd} &fGg"x"G% ls, clncln &fGg"x"G% ls, slQ klg 
&fGg"x"Gg <
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r=22r=22r=22r=22

1= Psbd} dfG%" 

2= clncln dfG%"

3= slQ klg dflGbg

r=23

1= Psbd} dfG%" 

2= clncln dfG%"

s]xL dfG%]x¿ lax] ePsf %f]/Lx¿n] afj"cfdfnfO{ a"(];sfndf x]/rfx u%{g\ eG&fG%g\ . 
tkfO{ Tof] s"/f slQsf] dfGg"x"G% < Psbd} dfGg"x"G% ls, clncln dfGg"x"G% ls, slQ 
klg dfGg"x"Gg <

s]xL dfG%]x? lax] ePsf %f]/fx¿n] afj"cfdfnfO{ a"(];sfndf x]/rfx u%{g\ eG&fG%g\ . 
tkfO{ Tof] s"/f slQsf] dfGg"x"G% < Psbd} dfGg"x"G% ls, clncln dfGg"x"G% ls, slQ 
klg dfGg"x"Gg <
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3= slQ klg dflGbg

r=24

1= Psbd} dfG%" 

2= clncln dfG%"

3= slQ klg dflGbg

r=25-26 k|Zg g+= r=25 / r=26 vfnL /flvPsf] %

%f]/f%f]/L w]/} eP eg], afa"cfdfsf] sfd ;#fp¤%g\ eGg]s"/f tkfO{ slQsf] dfGg"x"G% <
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r=26=1 cGt/jftf{ lng]sf] nflu M-hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._cGt/jftf{ lng]sf] nflu M-hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._cGt/jftf{ lng]sf] nflu M-hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._cGt/jftf{ lng]sf] nflu M-hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._
    

 1111  pQ/bftfsf] 24 jif{ jf Tof] eGbf sd pd]/sf %f]/f%f]/L %g\

2222 cGo

csf]{ kfgfsf] rM30 df hfg"xf];\

r=27 tkfO{n] %f]/f%f]/Lsf] k(fO{sf] nflu vr{ %"§ofpg" ePsf] % ls %}g <

1= %" 5= %}g 

r=28-29 k|Zg g+= r=28 / r=29 vfnL /flvPsf] %
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r=30 cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._

 1111  pQ/bftfsf] slxNo} klg %f]/f%f]/L ePsf %}gg\ 

2222  pQ/bftfsf] %f]/f%f]/L %g\ jf lyP .

kfgf g+= 53 sf] v)* % df hfg"xf];\ 

r=31 cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._

  1 1 1 1  pQ/bftfsf] pd]/ 35 jif{ jf Tof] eGbf a(L % cyjf :yfoL
 kl/jf/ lgof]hg ug"{ePsf] %

kfgf g+= 53 sf] v)* % df hfg"xf];\ 

2222  cGo

r=32 dflglnpm¤ ls, tkfO{sf] %f]/f%f]/L g} ePgg\ eg] Tof] s"/fn] tkfO{nfO{ slQsf] b"MvL 
agfp¤% < Psbd} b"MvL agfp¤% ls, s]xL b"MvL agfp¤% ls, clncln b"MvL agfp¤% ls, 

51

1= Psbd} b"MvL agfp¤%

2= s]xL b"MvL agfp¤%
kfgf g+= 53 sf] v)* % df hfg"xf];\

3= clncln b"MvL agfp¤%

4= slQ klg b"MvL agfp¤b}g

98= yfxf %}g

agfp¤% < Psbd} b"MvL agfp¤% ls, s]xL b"MvL agfp¤% ls, clncln b"MvL agfp¤% ls, 
slQklg b"MvL agfp¤b}g <

51



r=33

1= Psbd} b"MvL agfp¤%

2= s]xL b"MvL agfp¤%

3= clncln b"MvL agfp¤%

4= slQ klg b"MvL agfp¤b}g

98= yfxf %}g

tkfO{n] eGg"ePsf] s"/f klg xf], t}klg, tkfO{sf] %f]/f%f]/L g} ePgg\ eg] Tof] s"/fn] 
tkfO{nfO{ slQsf] b"MvL agfp¤% < Psbd} b"MvL agfp¤% ls, s]xL b"MvL agfp¤% ls, 
clncln b"MvL agfp¤% ls, slQ klg b"MvL agfp¤b}g <
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%=1 ca xfdL wd{sf af/]df s]xL s"/f u/f+}+ . o; kl%sf k|Zgx?df d wd{ ;DaGwL 
s"/fx? ;f]Wb}%" . tkfO{ s"g wd{ dfGg" x"G% < 

1= lxGb"     

2 af}¢

3= lxGb" / af}¢ b"j}

4= d"l:nd

5= lqmlZrog

6= s"g} klg wd{ dflGbg

97= c¿ eP pNn]v ug"{xf];\

v)* %M wd{v)* %M wd{v)* %M wd{v)* %M wd{

53

%=2 tkfO{ wd{df slQsf] ljZjf; ug"{x"G% < Psbd} ljZjf; ug"{x"G% ls, clncln 
ljZjf; ug"{x"G% ls, slQ klg ljZjf; ug"{x"Gg <

1= Psbd} ljZjf; u%"{ 

2= clncln ljZjf; u%"{

3= slQ klg ljZjf; ulb{g 

53



%=3 tkfO{ cfkm\gf] #/df xKtfdf Ps k^seGbf al( k"hf ug"{x"G% ls, xKtfdf 
Ps k^seGbf sd k"hf ug"{x"G% <

1= xKtfdf Ps k^seGbf al(

2= xKtfdf Ps k^seGbf sd

3= slxNo} klg ulb{g 

%=4 tkfO{ dlGb/df k"hf ug{ dlxgfdf Ps k^seGbf w]/} k^s hfg"x"G% ls,
dlxgfdf Ps k^seGbf sd hfg"x"G% < 

1= dlxgfdf Ps k^seGbf al(

2= dlxgfdf Ps k^seGbf sd 

3= slxNo} klg hfGg

54

3= slxNo} klg hfGg

%=5 uPsf] 12 dlxgfdf tkfO{sf] #/df wfl{d{s sfdsf] nflu -a|fDx)f÷k"/]t÷nfdf÷
u"/f}_ cfpg"ePsf] lyof] ls lyPg <

1= lyof] 5= lyPg

54



%=6 d/]sf afa" afh]x?sf] nflu ->f¢÷c#f}{÷tk{)F÷xf]d_ cflb ljleGg lsl;dsf 
sfdx? ug"{ slQsf] dxTjk")f{ x"G% <

1= Psbd} dxTjk")f{ x"G% 

2= clncln dxTjk")f{ x"G%

3= slQ klg dxTjk")F{ x"b}}g 
 

%=7 s] tkfO{ kl/jf/ lgof]hgsf] ;fwg k|of]u ug"{ kfk xf] eGg] s"/f ljZjf;
ug"{x"G% <

1= u%"{ 5= ulb{g
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of] kfgf vfnL /flvPsf] %of] kfgf vfnL /flvPsf] %of] kfgf vfnL /flvPsf] %of] kfgf vfnL /flvPsf] %
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h=1 cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\_cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\_cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\_cGt/jftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\_

1111  xfn ljjflxt x"g"x"G% .

2222  xfn ljjflxt x"g"x"Gg .

kfgf g+=61 sf] v)* em df hfg"xf];\

 

h=2

1= k|foh;f] kl//xG% 

v)* hM bDktL aLrsf] ;DaGwv)* hM bDktL aLrsf] ;DaGwv)* hM bDktL aLrsf] ;DaGwv)* hM bDktL aLrsf] ;DaGw

casf k||Zgx?df xfdLn] nf]Ug]÷:jf:gL aLrsf] ;DaGwsf af/]df dflg;x?sf] ljrf/ a"e\mg 
rfx]sf %f} . ca d tkfO{nfO{ tkfO{sf] -nf]Ug]÷:jf:gL_ aLrsf] ;DaGwsf af/]df s]xL 
s"/f ;f]Wb}%" .

tkfO{ / tkfO{sf] -kl%Nnf]_ -nf]Ug]÷:jf:gL_ aLr slQsf] &fs&"s k%{ < k|foh;f] 
kl//xG% ls, a]nf a]nfdf kl//xG% ls, slxn]sfxL+ dfq k%{ ls, slxNo} klg kb}{g <

57

2= a]nfa]nfdf k%{ 

3= slxn]sfxL dfq k%{ 

4= slxNo} klg kb}{g

57



h=3

1= k|foh;f] vf]^ nfpg"x"G% 

2= a]nfa]nfdf vf]^ nfpg"x"G% 

3= slxn]sfxL+ vf]^ nfpg"x"G% 

4= slxNo} klg vf]^ nfpg"x"Gg 

h=4

1= c;fWo} w]/} dfof u%"{ 

tkfO{n] u/]sf] sfddf tkfO{sf] -kl%Nnf]_ -nf]Ug]÷:jf:gL_ n] k|fo h;f] vf]^ nfpg"x"G% 
ls, a]nf a]nfdf vf]^ nfpg"x"G% ls, slxn]sfxL+ vf]^ nfpg"x"G% ls, slxNo} klg vf]^ 
nfpg"x"Gg <

tkfO{n] tkfO{sf] -kl%Nnf]_ -nf]Ug]÷:jf:gL_ nfO{ c;fWo} w]/} dfof ug"{x"G% ls, w]/} dfof 
ug"{x"G% ls, clncln dfof ug"{x"G% ls, slQ klg dfof ug"{x"Gg <
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2= w]/} dfof u%"{ 

3= clncln dfof u%"{ 

4= slQ klg dfof ulb{g 

h=5 tkfO{sf] -kl%Nnf]_ -nf]Ug]÷:jf:gL_ n] tkfO{nfO{ slxNo} lk^\g"ePsf] % ls %}g <

1= % 5= %}g 
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h=6 cGt/aftf{ lng]sf] nfluM -aflx/L kfgfdf x]/]/ lrGx nufpg"xf];\_cGt/aftf{ lng]sf] nfluM -aflx/L kfgfdf x]/]/ lrGx nufpg"xf];\_cGt/aftf{ lng]sf] nfluM -aflx/L kfgfdf x]/]/ lrGx nufpg"xf];\_cGt/aftf{ lng]sf] nfluM -aflx/L kfgfdf x]/]/ lrGx nufpg"xf];\_

1111  pQ/bftfsf] pd]/ 40 aif{ eGbf sd % cyjf :yfoL 
 kl/jf/ lgof]hg ug"{ePsf] %}g .

2222  pQ/bftfsf] pd]/ 40 aif{ eGbf al( % cyjf :yfoL
 kl/jf/ lgof]hg ug"{ePsf] % .

kfgf g+=61 sf] v)* em df hfg"xf];\

h=7
 

1= k|foh;f] ul/G% 

2= slxn]sfxL+ ul/G%

ca d nf]Ug]:jf:gLn] ug]{ sfdx?sf] af/]df tkfO{nfO{ s]xL k|Zgx? ;f]Wb}%" . slthgf 
%f]/f%f]/L hGdfpg] eGg] s"/fdf tkfO{ / tkfO{sf] -kl%Nnf]_ -nf]Ug]÷:jf:gL_ slQsf] 
%nkmn ug"{x"G% < tkfO{x? k|Foh;f] %nkmn ug"{x"G% ls, slxn]sfxL+ %nkmn ug{"x"G% 
ls, slxNo} klg %nkmn ug"{x"Gg <

59

3= slxNo}} klg ul/+b}g

h=8

1= k|foh;f] ul/G% 

2= slxn]sfxL+ ul/G%
 

3= slxNo}} klg ul/+b}g

kl/jf/ lgof]hgsf ;fwgx¿sf] af/]df tkfO{ / tkfO{sf] -kl%Nnf]_ -nf]Ug]÷:jf:gL_ k|foh;f] 
%nkmn ug"{x"G% ls, slxn]sfxL+ %nkmn ug"{x"G% ls, slxNo} klg %nkmn ug"{x"Gg <
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of] kfgf vfnL /flvPsf] % .of] kfgf vfnL /flvPsf] % .of] kfgf vfnL /flvPsf] % .of] kfgf vfnL /flvPsf] % .
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em=1-em=4 k|Zg g+= em=1 b]lv em=4 ;Dd vfnL /flvPsf] %

em=5=0 cGt/aftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._cGt/aftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._cGt/aftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._cGt/aftf{ lng]sf] nfluM -hLjg kfqf]df x]/]/ lrGx nufpg"xf];\ ._

1111 pQ/bftf 34 jif{ jf Tof] eGbf sd pd]/sf] x"g"x"G% . 

2222 cGo

kfgf g+=69 sf] v)* ^ df hfg"xf];\\

em=5 ;/;/tL x]bf{, tkfO{{ / tkfO{{sf] cfdfaLrsf] ;DaGwaf^ tkfO{{ c;fWo} v"zL
x"g"x"G% ls, w}/} v"zL x"g"x"G% ls, clncln v"zL x"g"x"G% ls, slQ klg 
v"zL x"g"x"Gg <

1= c;fWo} v"zL %" 

v)* emM kfl/jfl/s ;DaGwv)* emM kfl/jfl/s ;DaGwv)* emM kfl/jfl/s ;DaGwv)* emM kfl/jfl/s ;DaGw

61

1= c;fWo} v"zL %" 

2= w]/} v"zL %" 

3= clncln v"zL %" 

4= slQ klg v"zL %}g 

5= cfdf g} x"g"x"Gg 

61



em=6

1= c;fWo} v"zL %" 

2= w]/} v"zL %" 

3= clncln v"zL %" 

4= slQ klg v"zL %}g 

5= a"af g} x"g"x"Gg 

em=6=1 k'j{ ;Dkfbg ug]{sf] nfluM -hLjg kfqf] x]/]/ lrGx nufpg"xf];\_k'j{ ;Dkfbg ug]{sf] nfluM -hLjg kfqf] x]/]/ lrGx nufpg"xf];\_k'j{ ;Dkfbg ug]{sf] nfluM -hLjg kfqf] x]/]/ lrGx nufpg"xf];\_k'j{ ;Dkfbg ug]{sf] nfluM -hLjg kfqf] x]/]/ lrGx nufpg"xf];\_

1 pQ/bftf xfn laaflxt x"g"x"G% .

2 cGo

kfgf g+=69 sf] v)* ^ df hfg"xf];\\

;/;/tL x]bf{, tkfO{{ / tkfO{sf] a"jfaLrsf] ;DaGwaf^ tkfO{{ c;fWo} v"zL x"g"x"G% ls, 
w}/} v"zL x"g"x"G% ls, clncln v"zL x"g"x"G% ls, slQ klg v"zL x"g"x"Gg <

62

kfgf g+=69 sf] v)* ^ df hfg"xf];\\

em=7=0 k'j{ ;Dkfbg ug]{sf] nfluM k'j{ ;Dkfbg ug]{sf] nfluM k'j{ ;Dkfbg ug]{sf] nfluM k'j{ ;Dkfbg ug]{sf] nfluM 
-2053 ;fnsf] hfgsf/Lsf] em=7 x]/]/ lrGx nufpg"xf];\_-2053 ;fnsf] hfgsf/Lsf] em=7 x]/]/ lrGx nufpg"xf];\_-2053 ;fnsf] hfgsf/Lsf] em=7 x]/]/ lrGx nufpg"xf];\_-2053 ;fnsf] hfgsf/Lsf] em=7 x]/]/ lrGx nufpg"xf];\_

1 2053 ;fnsf] hfgsf/Lsf] em=7 df "%}g÷lyPg" pQ/ cfPsf]

2 2053 ;fnsf] hfgsf/Lsf] em=7 df "%÷lyof]" pQ/ cfPsf]

csf]{ kfgfsf] em=7=2 df hfg"xf];\

em=7 tkfO{{sL cfdf k(\gsf] nflu slxNo} :s'n hfg"ePsf] % jf lyof] <

1= %÷lyof] csf]{ kfgfsf] em=8 df hfg"xf];\\

5= %}g÷lyPg
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em=7=1

1= %
csf]{ kfgfsf]] em=9 df hfg"xf];\\

5= %}g

em=7=2

1= % 5= %}g csf]{ kfgfsf]] em=11=0df hfg"xf];\\

em=8em=8em=8em=8 tkfO{{sL cfdfn] slt sIff kf; ug"{ePsf] % jf lyof] < 

0 1 2 csf]{ kfgfsf] em=9 df hfg"xf];\

tkfO{sL cfdfn] slxNo} s"g} cgf}krfl/s sIff -k|f}( lzIff_ k(\g" eof] cyjf s"g} 
lsl;dsf] hf¤r lbg"ePsf] % ls %}g <

tkfO{sL cfdfn] 2053 ;fnkl% :s'n jf sn]h÷SofDk;df cyjf k|f}( lzIff k(\g 
hfg"eof] cyjf s"g} lsl;dsf] kl/Iff lbg"eof] ls ePg <

63

3 4 5 6 7 8 9 10

11= P;=Pn=;L= jf ;f] ;/x

12= cfO{=P= jf ;f] ;/x

14= la=P= jf ;f] ;/x

16= Pd=P= jf ;f] ;/x

18= lkPr=*L= jf ;f] ;/x

csf]{ kfgfsf] em=11 df hfg"xf];\\

63



em=9em=9em=9em=9 tkfO{{sL cfdfn] g]kfnLdf n]v]sf] lr¶L k(\g ;Sg"x"G% jf ;Sg"x"GYof] < 

1= ;Sg"x"G% 5= ;Sg"x"Gg em=11=0 df hfg"xf];\\

em=10 tkfO{{sL cfdfn] g]kfnLdf lr¶L n]Vg ;Sg"x"G% jf ;Sg"x"GYof] <

1= ;Sg"x"G% 5= ;Sg"x"Gg

em=11=0em=11=0em=11=0em=11=0 k'j{ ;Dkfbg ug]{sf] nfluM k'j{ ;Dkfbg ug]{sf] nfluM k'j{ ;Dkfbg ug]{sf] nfluM k'j{ ;Dkfbg ug]{sf] nfluM 
-2053 ;fnsf] hfgsf/Lsf] em=11 x]/]/ lrGx nufpg"xf];\_-2053 ;fnsf] hfgsf/Lsf] em=11 x]/]/ lrGx nufpg"xf];\_-2053 ;fnsf] hfgsf/Lsf] em=11 x]/]/ lrGx nufpg"xf];\_-2053 ;fnsf] hfgsf/Lsf] em=11 x]/]/ lrGx nufpg"xf];\_

1 2053 ;fnsf] hfgsf/Lsf] em=11 df "%}g÷lyPg" pQ/ cfPsf]

2 2053 ;fnsf] hfgsf/Lsf] em=11 df "%÷lyof]" pQ/ cfPsf]

csf]{ kfgfsf] em= 11=2 df hfg"xf];\

64

em=11em=11em=11em=11 tkfO{{sf] a"jf k(\gsf] nflu slxNo} :s'n hfg"ePsf] % jf lyof] <

1= %÷lyof] csf]{ kfgfsf] em=12 df hfg"xf];\\

5= %}g÷lyPg

em=11=1

1= %
csf]{ kfgfsf]] em=13 df hfg"xf];\\

5= %}g

tkfO{sf] a"jfn] slxNo} s"g} cgf}krfl/s sIff -k|f}( lzIff_ k(\g" eof] cyjf s"g} 
lsl;dsf] hf¤r lbg"ePsf] % ls %}g <

64



em=11=2em=11=2em=11=2em=11=2

1= % 5= %}g csf]{ kfgfsf]] em=19 df hfg"xf];\\

em=12em=12em=12em=12 tkfO{{sf] a"jfn] slt sIff kf; ug"{ePsf] % jf lyof] < 

0 1 2 em=13 df hfg"xf];\

3 4 5 6 7 8 9 10

11= P;=Pn=;L= jf ;f] ;/x

12= cfO{=P= jf ;f] ;/x

14= la=P= jf ;f] ;/x

tkfO{sf] a"jfn] 2053 ;fnkl% :s'n jf sn]h÷SofDk;df cyjf k|f}( lzIff k(\g 
hfg"eof] cyjf s"g} lsl;dsf] kl/Iff lbg"eof] ls ePg <

65

16= Pd=P= jf ;f] ;/x

18= lkPr=*L= jf ;f] ;/x

csf]{ kfgfsf] em=19 df hfg"xf];\\

em=13em=13em=13em=13 tkfO{{sf] a"jfn] g]kfnLdf n]v]sf] lr¶L k(\g ;Sg"x"G% jf ;Sg"x"GYof] < 

1= ;Sg"x"G% 5= ;Sg"x"Gg csf]{ kfgfsf] em=19 df hfg"xf];\\

65



em=14 tkfO{{sf] a"jfn] g]kfnLdf lr¶L n]Vg ;Sg"x"G% jf ;Sg"x"GYof] <

1= ;Sg"x"G% 5= ;Sg"x"Gg

em=15-em=18 k|Zg g+= em=15 b]lv em=18 ;Dd vfnL /flvPsf] %

em=19em=19em=19em=19 tkfO{{sf] cfdfsf] hDdf slt j^f %f]/f%f]/L %g\ jf lyP <
 j^f

em=20 tkfO{{sf] a"jfsf] hDdf slt j^f %f]/f%f]/L %g\ jf lyP <
  j^f

em=21=0em=21=0em=21=0em=21=0 k'j{ ;Dkfbg ug]{sf] nfluM k'j{ ;Dkfbg ug]{sf] nfluM k'j{ ;Dkfbg ug]{sf] nfluM k'j{ ;Dkfbg ug]{sf] nfluM 

66

-2053 ;fnsf] hfgsf/Lsf] em=21 x]/]/ lrGx nufpg"xf];\_-2053 ;fnsf] hfgsf/Lsf] em=21 x]/]/ lrGx nufpg"xf];\_-2053 ;fnsf] hfgsf/Lsf] em=21 x]/]/ lrGx nufpg"xf];\_-2053 ;fnsf] hfgsf/Lsf] em=21 x]/]/ lrGx nufpg"xf];\_

1 2053 ;fnsf] hfgsf/Lsf] em=21 df "%}g÷lyPg" pQ/ cfPsf]

2 2053 ;fnsf] hfgsf/Lsf] em=11 df "%÷lyof]" pQ/ cfPsf]

csf]{ kfgfsf] em=28 df hfg"xf];\

em=21 tkfO{{sf] a"jf cyjf cfdfn] kl/jf/ lgof]hg ug"{ePsf] % < cyjf slxNo} 
kl/jf/ lgof]hgsf ;fwg rnfpg"ePsf] % jf lyof] <  

1= %÷lyof] 5= %}g÷lyPg

66



em=22-em=27 k|Zg g+= em=22 b]lv em=27 ;Dd vfnL /flvPsf] %

em=28

1= c;fWo} v"zL %" 

2= w]/} v"zL %" 

3= clncln v"zL %" 

4= slQ klg v"zL %}g 

5= ;f;' g} x"g"x"Gg 

em=29

;/;/tL x]bf{, tkfO{{ / tkfO{{sL ;f;' aLrsf] ;DaGwaf^ tkfO{{ c;fWo} v"zL x"g"x"G% ls, 
w}/} v"zL x"g"x"G% ls, clncln v"zL x"g"x"G% ls, slQ klg v"zL x"g"x"Gg <

;/;/tL x]bf{, tkfO{{ / tkfO{{sf] ;;"/f aLrsf] ;DaGwaf^ tkfO{{ c;fWo} v"zL x"g"x"G% 

67

em=29

1= c;fWo} v"zL %" 

2= w]/} v"zL %" 

3= clncln v"zL %" 

4= slQ klg v"zL %}g 

5= ;;"/f g} x"g"x"Gg 

;/;/tL x]bf{, tkfO{{ / tkfO{{sf] ;;"/f aLrsf] ;DaGwaf^ tkfO{{ c;fWo} v"zL x"g"x"G% 
ls, w}/} v"zL x"g"x"G% ls, clncln v"zL x"g"x"G% ls, slQ klg v"zL x"g"x"Gg <
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of] kfgf vfnL /flvPsf] % .of] kfgf vfnL /flvPsf] % .of] kfgf vfnL /flvPsf] % .of] kfgf vfnL /flvPsf] % .
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^=1

1= Psbd} &Ls nfU% 

2= clncln dfq &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g 

^=2

1= Psbd} &Ls nfU% 

2= clncln dfq &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g 

v)* ^M wf/)ffv)* ^M wf/)ffv)* ^M wf/)ffv)* ^M wf/)ff

:jf:gLn] aRrf l(nf] kfcf];\ cyjf aRrf kfp¤b} gkfcf];\ eg]/ nf]Ug]÷:jf:gLn] kl/jf/ 
lgof]hgsf ;fwg rnfpg" cyjf kl/jf/ lgof]hg ug"{ /fd|f] xf]Og eGg] s"/f tkfO{nfO{ 
s:tf] nfU% <

casf k|Zgx¿df xfdLn] kfl/jfl/s hLjg ;DaGwL ljleGg s"/fx¿df dflg;x?sf ljrf/ 
a"em\g rfx]sf %f+} . d tn n]v]sf egfOx¿ PsPs u/]/ k(]/ ;"gfp¤%" . klxnf tkfO{ 
/fd|/L ;"Gg"xf]; / tkfO{nfO{ tL s"/f s:tf] nfU% < Psbd} &Ls nfU% ls, clncln 
dfq &Ls nfU% ls, &Ls nfUb}g ls, Psbd} &Ls nfUb}g atfO{lbg"xf];\ x} t .

lax] ug]{ kSsf-kSsL eO;s]sf s]^fs]^Ln] lax] ug"{cufl* ;+u} ;"t] klg x"G% eGg] s"/f 
tkfO{nfO{ s:tf] nfU% <

69



^=3

1= Psbd} &Ls nfU% 

2= clncln dfq &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g 

^=4

1= Psbd} &Ls nfU% 

2= cln cln dfq &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g 

;a} s"/f ljrf/ ubf{ lax] ug"{eGbf slxNo} klg lax] gu/L a:g"df w]/} kmfObfx? %g\ 
eGg] s"/f tkfO{nfO{ s:tf] nfU% < -Psbd} &Ls nfU% ls, clncln dfq &Ls nfU% 
ls, &Ls nfUb}g ls, Psbd} &Ls nfUb}g <_

#/ kl/jf/df d"Vo-d"Vo sfd s] s] ug]{ eGg] s"/f #/sf] nf]Ug] dfG%]n] g} ug"{k%{ 
eGg] s"/f tkfO{nfO{ s:tf] nfU% < -Psbd} &Ls nfU% ls, cln cln dfq &Ls nfU% 
ls, &Ls nfUb}g ls, Psbd} &Ls nfUb}g <_ 
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^=5

1= Psbd} &Ls nfU% 

2= clncln dfq &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g 

^=6

 
1= Psbd} &Ls nfU% 

2= clncln dfq &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g 

nf]Ug]÷:jf:gLsf] s"/f gldn] klg %"l§g x"b}g eGg] s"/f tkfO{nfO{ s:tf] nfU% < -Psbd} 
&Ls nfU% ls, clncln dfq &Ls nfU% ls, &Ls nfUb}g ls, Psbd} &Ls nfUb}g <_

s]lx dflg;x¿ :yfoL kl/jf/ lgof]hg u/]sf] nf]Ug] dfG%]n] k'hfcfhf u/]sf] kmn ldNb}g 
eGg] ljZjf; u%{g\ . tkfO{nfO{ of] s"/f Psbd} &Ls nfU% ls, clncln dfq &Ls 
nfU% ls, &Ls nfUb}g ls, Psbd} &Ls nfUb}g <
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^=7

1= Psbd} &Ls nfU% 

2= clncln dfq &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g 

^=8

1= Psbd} &Ls nfU% 

2= clncln dfq &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g 

lax] ug"{ cufl* s]^fs]^L ;+u} ;"Tg" x"¤b}g eGg] s"/f tkfO{nfO{ s:tf] nfU% < -Psbd} 
&Ls nfU% ls, clncln dfq &Ls nfU% ls, &Ls nfUb}g ls, Psbd} &Ls nfUb}g <_ 

nf]Ug] :jf:gLsf] s"/f ldNg} g;Sg] eof] eg] %f]*kq ug"{ /fd|f] pkfo xf] eGg] s"/f 
tkfO{nfO{ s:tf] nfU% < -Psbd} &Ls nfU% ls, clncln dfq &Ls nfU% ls, &Ls 
nfUb}g ls, Psbd} &Ls nfUb}g <_ 

72



^=9

1= Psbd} &Ls nfU% 

2= clncln dfq &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g 

^=10

 
1= Psbd} &Ls nfU% 

2= clncln dfq &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g 

s]lx dflg;x¿ a'(f e};s]sf afa"cfdf;+u lax] e};s]sf %f]/fx? ;+u} a:g"k%{ eG&fG%g\, 
tkfO{nfO{ of] s"/f Psbd} &Ls nfU% ls, clncln dfq &Ls nfU% ls, &Ls nfUb}g 
ls, Psbd} &Ls nfUb}g < 

nf]Ug] dfG%]n] sfddf gfd sdfpg"" eGbf kl/jf/;+u a(L ;do latfpg" k%{ eGg] s"/f 
tkfO{nfO{ Psbd} &Ls nfU% ls, clncln dfq &Ls nfU% ls, &Ls nfUb}g ls, Psbd} 
&Ls nfUb}g < 
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of] kfgf vfnL /flvPsf] % .of] kfgf vfnL /flvPsf] % .of] kfgf vfnL /flvPsf] % .of] kfgf vfnL /flvPsf] % .
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(=1

1= Psbd} &Ls nfU%  

2= clncln dfq} &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g

(=2

 
1= Psbd} &Ls nfU%  

2= clncln dfq} &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g

v)* (M wf/)ffv)* (M wf/)ffv)* (M wf/)ffv)* (M wf/)ff

klxnf] :jf:gLaf^ aRrf geP klg nf]Ug]n] bf];|f] lajfx ug"{x"b}g eGg] s"/f tkfO{nfO{ 
Psbd} &Ls nfU% ls, clncln dfq} &Ls nfU% ls, &Ls nfUb}g ls, Psbd} &Ls 
nfUb}g <

%f]/f%f]/Ln] #/af^ ^f(f uP/ sdfPsf] ;a} k};f pgLx¿ cfkm}n] /fv] klg x"G% eGg] 
s"/f tkfO{nfO{ Psbd} &Ls nfU% ls, clncln dfq} &Ls nfU% ls, &Ls nfUb}g ls, 
Psbd} &Ls nfUb}g <

casf k|Zgx?df xfdLn] kfl/jfl/s hLjg ;DaGwL ljleGg s"/fx?df dflg;x?sf larf/ 
a"e\mg rfx]sf %f}+ . d tn n]v]sf egfOx? PsPs u/]/ k(]/ ;"gfp¤%" . klxnf tkfO{ 
/fd|/L ;"Gg"xf];\ / tkfO{nfO{ tL s"/f s:tf] nfU% Psbd} &Ls nfU% ls, clncln dfq} 
&Ls nfU% ls, &Ls nfUb}g ls, Psbd} &Ls nfUb}g atfO{ lbg"xf];\ x} t !
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(=3

1= Psbd} &Ls nfU%  

2= clncln dfq} &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g

 
(=4

1= Psbd} &Ls nfU%  

2= clncln dfq} &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g

cfkm\gf %F]/F%F]/Lsf] lax] ug{sf] nflu s]^f jf s]^L hlxn] klg afa"cfdfn] g} %fGg"k%{ 
eGg] s"/f tkfO{nfO{ s:tf] nfU% < -Psbd} &Ls nfU% ls, clncln dfq} &Ls nfU% 
ls, &Ls nfUb}g ls, Psbd} &Ls nfUb}g <_

cfkm\gf] hft eft %f]*]/ lax] ug]{ %f]/f%f]/L x"g" eGbf %f]/f%f]/L g} gx"g" /fd|f] eGg] s"/f 
tkfO{nfO{ s:tf] nfU% < -Psbd} &Ls nfU% ls, clncln dfq} &Ls nfU% ls, &Ls 
nfUb}g ls, Psbd} &Ls nfUb}g <_ 
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(=5

1= Psbd} &Ls nfU%  

2= clncln dfq} &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g

(=6

1= Psbd} &Ls nfU%  

2= clncln dfq} &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g

sf]xL dfG%]x¿n] %f]/f%f]/L g} gkfpg] ljrf/ ug"{ &Ls xf] eGg] s""/f tkfO{nfO{ s:tf] 
nfU% < -Psbd} &Ls nfU% ls, clncln dfq} &Ls nfU% ls, &Ls nfUb}g ls, Psbd} 
&Ls nfUb}g <_ 

Pp^f dfG%]n] Psk^sdf PseGbf a(L cfOdfO{;+u lax] ug"{ x"¤b}g eGg] s"/f tkfO{nfO{ 
Psbd} &Ls nfU% ls, clncln dfq} &Ls nfU% ls, &Ls nfUb}g ls, Psbd} &Ls 
nfUb}g <
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(=7

1= Psbd} &Ls nfU%  

2= clncln dfq} &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g

(=8

1= Psbd} &Ls nfU%  

2= clncln dfq} &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g

 

bzhgf %f]/f%f]/L ePsf] dfG%]n] df}sfdf a"l$ gk"¥ofPsf] xf] eGg] s"/f tkfO{nfO{ s:tf] 
nfU% < -Psbd} &Ls nfU% ls, clncln dfq} &Ls nfU% ls, &Ls nfUb}g ls, Psbd} 
&Ls nfUb}g <_ 

pd]/ ePsL] ljwjf cfO{dfO{n]] csf]{ nf]Ug]dfG%];+u lax] ug"{k%{ eGg] s"/f tkfO{nfO{ s:tf] 
nfU% < -Psbd} &Ls nfU% ls, clncln dfq} &Ls nfU% ls, &Ls nfUb}g ls, Psbd} 
&Ls nfUb}g <_ 
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(=9

1= Psbd} &Ls nfU%  

2= clncln dfq} &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g

(=10

1= Psbd} &Ls nfU%  

2= clncln dfq} &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g

%f]/f%f]/L gkfpg] af¤emL cfO{dfO{ x"g" eg]sf] slxNo} klg hGdb} ghGdg" h:tf] xf] eGg] 
s"/f tkfO{nfO{ s:tf] nfU% < -Psbd} &Ls nfU% ls, clncln dfq} &Ls nfU% ls, 
&Ls nfUb}g ls, Psbd} &Ls nfUb}g <_ 

s]^Lsf] lax] pgL klxnf]k^s dlxgfjf/L x"g"eGbf cl# ug"{k%{ eGg] s"/f tkfO{nfO{ Psbd} 
&Ls nfU% ls, clncln dfq} &Ls nfU% ls, &Ls nfUb}g ls, Psbd} &Ls nfUb}g <
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(=11

1= Psbd} &Ls nfU%  

2= clncln dfq} &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g

(=12

1= Psbd} &Ls nfU%  

2= clncln dfq} &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g

w]/} k};f x"g"eGbf w]/} %f]/f%f]/L ePsf] hflt eGg] s"/f tkfO{nfO{ s:tf] nfU% < -Psbd} 
&Ls nfU% ls, clncln dfq} &Ls nfU% ls, &Ls nfUb}g ls, Psbd} &Ls nfUb}g <_

Pp^f cf¤vf s] cf¤vf Pp^f %f]/f s] %f]/f eGg] pvfg tkfO{nfO{ s:tf] nfU% < -Psbd} 
&Ls nfU% ls, clncln dfq} &Ls nfU% ls, &Ls nfUb}g ls, Psbd} &Ls nfUb}g <_  
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(=13

1= Psbd} &Ls nfU%  

2= clncln dfq} &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g

(=14

1= Psbd} &Ls nfU%  

2= clncln dfq} &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g

;a} hgfn] kl/jf/ lgof]hgsf] ;fwg rnfpg" k%{ eGg] s"/f tkfO{nfO{ s:tf] nfU% < -
Psbd} &Ls nfU% ls, clncln dfq} &Ls nfU% ls, &Ls nfUb}g ls, Psbd} &Ls 
nfUb}g <_  

%f]/f%f]/L gePsf dfG%] :ju{ hfg ;Sb}gg\ eGg] s"/f tkfO{nfO{ Psbd} &Ls nfU% ls, 
clncln dfq} &Ls nfU% ls, &Ls nfUb}g ls, Psbd} &Ls nfUb}g <
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(=15

1= Psbd} &Ls nfU%  

2= clncln dfq} &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g

(=16

1= Psbd} &Ls nfU%  

2= clncln dfq} &Ls nfU% 

3= &Ls nfUb}g 

4= Psbd} &Ls nfUb}g

a"xf/L #/ cfPkl% ;f;'n] h] eGof]] ToxL ug"{k%{ eGg] s"/f tkfO{nfO{ Psbd} &Ls nfU% 
ls, clncln dfq} &Ls nfU% ls, &Ls nfUb}g ls, Psbd} &Ls nfUb}g <

cfhsn aRrfaRrL x"sf{pg ;:tf] % eGg] s"/f tkfO{nfO{ Psbd} &Ls nfU% ls, 
clncln dfq} &Ls nfU% ls, &Ls nfUb}g ls, Psbd} &Ls nfUb}g <
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sc=1 clxn]sf] &Ls ;doM===================

sc=2

1= c:ktfndf
csf]{ kfgfsf] sc=4 df hfg"xf];\

5= #/df

7= cGo

8= yfxf %}g

v)*M sc ;fdflhs d'No / dfGotfv)*M sc ;fdflhs d'No / dfGotfv)*M sc ;fdflhs d'No / dfGotfv)*M sc ;fdflhs d'No / dfGotf

;a} s"/fnfO{ ljrf/ u/]/ eGg" kbf{, tkfO{+sf] ljrf/df, cfhsn, g]kfnLx?sf] nflu 
c:ktfndf aRrf hGdfpg] ;dfh /fd|f] x"G% ls, #/df aRrf hGdfpg] ;dfh /fd|f] 
x"G% < 

dflg;x? ljleGg lsl;dsf ;dfhdf a;f]af; ub{%g\ . d tkfO{+nfO{ To:tf s]xL 
s"/fx?sf] af/]df s"g rflx¤ /fd|f] x"G% eg]/ ;f]Wb}%" . tL s"/fx¿dWo] w]/}h;f] 
g]kfnLx?sf] nflu s"g rflx¤ ;dfh /fd|f] x"G% atfOlbg";\ x} .

83

8= yfxf %}g

sc=3

1= c:ktfndf

5= #/df

7= cGo

8= yfxf %}g

x"gt tkfO{+n] eGg"ePsf] s"/f klg xf], t}klg, tkfO{+sf] ljrf/df c:ktfndf aRrf 
hGdfpg] ;dfh /fd|f] x"G% ls #/df aRrf hGdfpg] ;dfh /fd|f] x"G% < 
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sc=4sc=4sc=4sc=4

1= cd]l/sfsf] h:tf]
csf]{ kfgfsf] sc=6 df hfg"xf];\

5= g]kfnsf] h:tf]

7= cGo

8= yfxf %}g

sc=5

1= cd]l/sfsf] h:tf]

;a} s"/fnfO{ ljrf/ u/]/ eGg" kbf{, tkfO{+sf] ljrf/df cfhsn, g]kfnLx?sf] nflu 
cd]l/sfsf] h:tf] rngrNtL÷/xg;xg -;+:s[lt_ /fd|f] x"G% ls, g]kfnsf] h:tf] 
rngrNtL÷/xg;xg -;+:s[lt_ /fd|f] x"G% < 

x"gt tkfO{+n] eGg"ePsf] s"/f klg xf], t}klg, tkfO{+sf] ljrf/df, cd]l/sfsf] h:tf] 
rngrNtL÷/xg;xg -;+:s[tL_ /fd|f] x"G% ls, g]kfnsf] h:tf] rngrNtL÷/xg;xg -
;+:s[lt_ /fd|f] x"G% < 
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5= g]kfnsf] h:tf]

7= cGo

8= yfxf %}g

84



sc=6sc=6sc=6sc=6

1= emf/km"s ug]{ -emf¤qmL_ sxf¤
csf]{ kfgfsf] sc=8 df hfg"xf];\

5= *fS^/ sxf¤

7= cGo

8= yfxf %}g

sc=7

1= emf/km"s ug]{ -emfqmL_ sxf¤

x"gt tkfO{+n] eGg"ePsf] s"/f klg xf], t}klg, tkfO{+sf] ljrf/df, la/fdL x"+bf emf/km"s 
ug]{ -emfqmL_ sxf¤ hfg" /fd|f] x"G% ls, *fS^/ sxf¤ hfg" /fd|f] x"G% < 

;a} s"/fnfO{ ljrf/ u/]/ eGg" kbf{, tkfO{+sf] ljrf/df cfhsn, g]kfnLx?nfO{ dflg; 
la/fdL x"+bf emf/km"s ug]{ -emf¤qmL_ sxf¤ hfg" /fd|f] x"G% ls, *fS^/ sxf¤ hfg" /fd|f] 
x"G% < 
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5= *fS^/ sxf¤

7= cGo

8= yfxf %}g

85



sc=8sc=8sc=8sc=8

1= ^]lnlehg gePsf] ;dfh
csf]{ kfgfsf] sc=10df hfg"xf];\

5= ^]lnlehg ePsf] ;dfh

7= cGo

8= yfxf %}g

sc=9

1= ^]lnlehg gePsf] ;dfh

5= ^]lnlehg ePsf] ;dfh

;a} s"/fnfO{ ljrf/ u/]/ eGg" kbf{, tkfO{+sf] ljrf/df cfhsn, g]kfnLx?sf] #/df 
^]lnlehg gePsf] ;dfh /fd|f] x"G% ls, ^]lnlehg ePsf] ;dfh /fd|f] x"G% < 

x"gt tkfO{+n] eGg"ePsf] s"/f klg xf], t}klg, tkfO{+sf] ljrf/df, #/df ^]lnlehg gePsf] 
;dfh /fd|f] x"G% ls, ^]lnlehg ePsf] ;dfh /fd|f] x"G% < 
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7= cGo

8= yfxf %}g

86



sc=10sc=10sc=10sc=10

1= #/sf] dfq} sfd ug]{ ;dfh
csf]{ kfgfsf] sc=12df hfg"xf];\

5= Hofnfbf/L÷hfuL/ ug]{ ;dfh

7= cGo

8= yfxf %}g

sc=11

1= #/sf] dfq} sfd ug]{ ;dfh

;a} s"/fnfO{ ljrf/ u/]/ eGg" kbf{, tkfO{+sf] ljrf/df cfhsn, w]/}h;f] g]kfnLx?sf] 
nflu dflg;x? cfkm\gf] #/sf] dfq} sfd ug]{ ;dfh /fd|f] x"G% ls k};f sdfpgsf] 
nflu Hofnfbf/L / hfuL/ ug]{ ;dfh /fd|f] x"G% < 

x"gt tkfO{+n] eGg"ePsf] s"/f klg xf], t}klg, tkfO{+n] eg]h:tf] x"g] eP, tkfO{+sf] ljrf/df 
dflg;x? cfkm\gf] #/sf] dfq} sfd ug]{ ;dfh /fd|f] x"G% ls k};f sdfpgsf] nflu 
Hofnfbf/L / hflu/ ug]{ ;dfh /fd|f] x"G% <
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5= Hofnfbf/L÷hflu/ ug]{ ;dfh

7= cGo

8= yfxf %}g
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sc=12sc=12sc=12sc=12

1= cfkm'n] rfx]sf] h:tf] ug{ kfpg] 
csf]{ kfgfsf] v)* vc df hfg"xf];\

5= cfkm'n] rfx]sf] h:tf] ug{ gkfpg] 

7= cGo

8= yfxf %}g

sc=13 x"gt tkfO{+n] eGg"ePsf] s"/f klg xf], t}klg, tkfO{+sf] ljrf/df, cfkm'n] rfx]sf] h:tf] ug{ 
kfpg] jf JolQmut :jtGqtf a(L ePsf] ;dfh /fd|f] x"G% ls, cfkm'n] rfx]sf] h:tf] ug{ 
gkfpg] jf JolQmut :jtGqtf sd ePsf] ;dfh /fd|f] x"G% < 

;a} s"/fnfO{ ljrf/ u/]/ eGg" kbf{, tkfO{+sf] ljrf/df cfhsn, g]kfnLx?sf] nflu cfkm'n] 
rfx]sf] h:tf] ug{ kfpg] jf JolQmut :jtGqtf a(L ePsf] ;dfh /fd|f] x"G% ls, cfkm'n] 
rfx]sf] h:tf] ug{ gkfpg] jf JolQmut :jtGqtf sd ePsf] ;dfh /fd|f] x"G% < 
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1= cfkm'n] rfx]sf] h:tf] ug{ kfpg] 

5= cfkm'n] rfx]sf] h:tf] ug{ gkfpg] 

7= cGo

8= yfxf %}g

88



vc=1

1= Psbd} x"G% 2= clncln x"G% 3= slQ klg x"b}g

vc=2

1= Psbd} x"G% 2= clncln x"G% 3= slQ klg x"b}g

v)* vcM #/fo;L ;/;"lawfv)* vcM #/fo;L ;/;"lawfv)* vcM #/fo;L ;/;"lawfv)* vcM #/fo;L ;/;"lawf

ca xfdL tkfO{+sf] #/df ljleGg lsl;dsf ;/-;"lawf x"g" slQsf] dxTjk')f{ x"G% eGg] 
af/]df s]xL s"/f u/f}+ .

tkfO{+sf] #/df /]l*of] x"g" slQsf] dxTjk')f{ x"G% < Psbd} dxTjk')f{ x"G% ls, clncln 
dxTjk')f{ x"G% ls, slQ klg dxTjk')f{ x"b}g <

tkfO{+sf] #/df ^L=eL= x"g" slQsf] dxTjk')f{ x"G% < Psbd} dxTjk')f{ x"G% ls, clncln 
dxTjk')f{ x"G% ls, slQ klg dxTjk')f{ x"b}g <
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vc=3

1= Psbd} x"G% 2= clncln x"G% 3= slQ klg x"b}g

vc=4

1= Psbd} x"G% 2= clncln x"G% 3= slQ klg x"b}g

tkfO{+sf] #/df df]^/;fO{sn x"g" slQsf] dxTjk')f{ x"G% < -Psbd} dxTjk')f{ x"G% ls, 
clncln dxTjk')f{ x"G% ls, slQ klg dxTjk')f{ x"b}g <_

tkfO{+sf] #/df lel*of] cyjf l;=l*= *]s x"g" slQsf] dxTjk')f{ x"G% < -Psbd} 
dxTjk')f{ x"G% ls, clncln dxTjk')f{ x"G% ls, slQ klg dxTjk')f{ x"b}g <_ 

89



vc=5

1= Psbd} x"G% 2= clncln x"G% 3= slQ klg x"b}g

vc=6

1= Psbd} x"G% 2= clncln x"G% 3= slQ klg x"b}g

vc=7

1= Psbd} x"G% 2= clncln x"G% 3= slQ klg x"b}g

tkfO{+sf] #/df Uof¤; r"Nxf] x"g" slQsf] dxTjk')f{ x"G% < -Psbd} dxTjk')f{ x"G% ls, 
clncln dxTjk')f{ x"G% ls, slQ klg dxTjk')f{ x"b}g <_

tkfO{+sf] #/df lk|mh x"g" slQsf] dxTjk')f{ x"G% < Psbd} dxTjk')f{ x"G% ls, clncln 
dxTjk')f{ x"G% ls, slQ klg dxTjk')f{ x"b}g <

tkfO{+sf] #/df sDKo"^/ x"g" slQsf] dxTjk')f{ x"G% < Psbd} dxTjk')f{ x"G% ls, 
clncln dxTjk')f{ x"G% ls, slQ klg dxTjk')f{ x"b}g <
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vc=8

1= Psbd} x"G% 2= clncln x"G% 3= slQ klg x"b}g

tkfO{+sf] #/df ^]lnkmf]g jf df]jfOn kmf]g x"g" slQsf] dxTjk')f{ x"G% < Psbd} 
dxTjk')f{ x"G% ls, clncln dxTjk')f{ x"G% ls, slQ klg dxTjk')f{ x"b}g <
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uc=1

1= afa"cfdf jf ;f;'-;;""/f;+u} a:g"
csf]{ kfgfsf] uc=3 df hfg"xf];\

5= %"l§P/ a:g"

7= b"j} p:t} p:t} xf]

8= yfxf %}g

ca d tkfO{+nfO{ ljleGg lsl;dsf kfl/jfl/s cj:yfx?sf] af/]df ;f]Wb} %" . tL 
kfl/jfl/s cj:yfx? dWo] cfhsn g]kfnLx?sf] nflu s"grflx¤ kfl/jfl/s cj:yf /fd|f] 
x"G% atfO{lbg";\ x} t !

;a} s"/fnfO{ ljrf/ u/]/ eGg" kbf{, tkfO{+sf] ljrf/df cfhsn, g]kfnLx¿sf] nflu lax] 
u/]sf %f]/f%f]/Lx?, cfkm\gf afa"cfdf jf ;f;'-;;"/f;+u} a:g" /fd|f] x"G% ls, %"l§P/ a:g" 
/fd|f] x"G% < 

v)* ucM cfw"lgs kl/jf/sf kIfx¿ /fd|f] xf] eGg] v)* ucM cfw"lgs kl/jf/sf kIfx¿ /fd|f] xf] eGg] v)* ucM cfw"lgs kl/jf/sf kIfx¿ /fd|f] xf] eGg] v)* ucM cfw"lgs kl/jf/sf kIfx¿ /fd|f] xf] eGg] 
ljZjf;ljZjf;ljZjf;ljZjf;

91

uc=2

1= afa"cfdf jf ;f;'-;;""/f;+u} a:g"

5= %"l§P/ a:g"

7= b"j} p:t} p:t} xf]

8= yfxf %}g

x"gt tkfOn] eGg"ePsf] s"/f klg xf], t}klg, tkfO{+sf] ljrf/df, lax] u/]sf %f]/f%f]/Lx?, 
cfkm\gf afa"cfdf jf ;f;'-;;"/f;+u} a:g" /fd|f] x"G% ls, %"l§P/ a:g" /fd|f] x"G% < 

91



uc=3uc=3uc=3uc=3

1= cfkm}+n] /f]h]sf]
csf]{ kfgfsf] uc=5 df hfg"xf];\

5= afa"cfdfn] %fg]sf]

7= b"j} p:t} p:t} xf]

8= yfxf %}g

uc=4

1= cfkm}+n] /f]h]sf]

;a} s"/fnfO{ ljrf/ u/]/ eGg" kbf{, tkfO{+sf] ljrf/df cfhsn, g]kfnLx¿sf] nflu 
cfkm'n] lax] ug]{ s]^f jf s]^L cfkm}+n] /f]h]sf] /fd|f] x"G% ls, afa"cfdfn] %fg]sf] /fd|f] 
x"G% < 

x"gt tkfO{+n] eGg"ePsf] s"/f klg xf], t}klg, tkfO{+sf] ljrf/df, cfkm}+n] /f]h]sf] /fd|f] 
x"G% ls, afa"cfdfn] %fg]sf] /fd|f] x"G% < 
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5= afa"cfdfn] %fg]sf]

7= b"j} p:t} p:t} xf]

8= yfxf %}g

92



uc=5uc=5uc=5uc=5

1= ;+u} a:g kfpg] ;dfh
csf]{ kfgfsf] uc=7 df hfg"xf];\

5= ;+u} a:g gkfpg] ;dfh

7= b"j} p:t} p:t} xf]

8= yfxf %}g

uc=6

1= ;+u} a:g kfpg] ;dfh

;a} s"/fnfO{ ljrf/ u/]/ eGg" kbf{, tkfO{+sf] ljrf/df cfhsn, g]kfnLx¿sf] nflu lax] 
gu/] klg, nf]Ug] :jf:gL h:t} u/L ;+u} a:g kfpg] ;dfh /fd|f] x"G% ls, lax] 
gubf{;Dd ;+u} a:g gkfpg] ;dfh /fd|f] x"G% < 

x"gt tkfO{+n] eGg"ePsf] s"/f klg xf], t}klg, tkfO{+sf] ljrf/df, lax] gu/] klg, nf]Ug] 
:jf:gL h:t} u/L ;+u} a:g kfpg] ;dfh /fd|f] x"G% ls, lax] gubf{;Dd ;+u} a:g 
gkfpg] ;dfh /fd|f] x"G% < 
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5= ;+u} a:g gkfpg] ;dfh

7= b"j} p:t} p:t} xf]

8= yfxf %}g

93



uc=7uc=7uc=7uc=7

1= lax] u/]kl% dfq zf/Ll/s ;Dks{ ug"{
csf]{ kfgfsf] uc=9 df hfg"xf];\

5= lax] ug"{cl# zf/Ll/s ;Dks{ ug"{

7= cGo

8= yfxf %}g

uc=8

1= lax] u/]kl% dfq zf/Ll/s ;Dks{ ug"{

;a} s"/fnfO{ ljrf/ u/]/ eGg" kbf{, tkfO{+sf] ljrf/df cfhsn, g]kfnLx¿sf] nflu lax] 
u/]kl% dfq s]^f / s]^L ;+u} ;"Tg" jf zf/l/s ;Dks{ ug"{ /fd|f] x"G% ls, lax] 
ug"{cl# g} ;+u} ;"Tg" jf zf/Ll/s ;Dks{ ug"{ /fd|f] x"G% < 

x"gt tkfO{+n] eGg"ePsf] s"/f klg xf], t}klg, tkfO{+sf] ljrf/df, lax] u/]kl% dfq s]^f 
/ s]^L ;+u} ;"Tg" jf zf/Ll/s ;Dks{ ug"{ /fd|f] x"G% ls, lax] ug"{cl# g} ;+u} ;"Tg" jf 
zf/Ll/s ;Dks{ ug"{ /fd|f] x"G% < 
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5= lax] ug"{cl# zf/Ll/s ;Dks{ ug"{

7= cGo

8= yfxf %}g

94



uc=9uc=9uc=9uc=9

1= %f]*kq u/]sf] /fd|f]
csf]{ kfgfsf] uc=11 df hfg"xf];\

5= ;+u} a;]sf] /fd|f]

7= cGo

8= yfxf %}g

uc=10

1= %f]*kq u/]sf] /fd|f]

;a} s"/fnfO{ ljrf/ u/]/ eGg" kbf{, tkfO{+sf] ljrf/df cfhsn, g]kfnLx¿sf] nflu nf]Ug] 
:jf:gLsf] s"/f ldNg} g;Sg] eP %f]*kq u/]sf] /fd|f] x"G% ls, s"/f gldn] klg ;+u} 
a;]sf] /fd|f] x"G% <  

x"gt tkfO{+n] eGg"ePsf] s"/f klg xf], t}klg, tkfO{+sf] ljrf/df, nf]Ug] :jf:gLsf] s"/f 
ldNg} g;Sg] eP %f]*kq u/]sf] /fd|f] x"G% ls, s"/f gldn] klg ;+u} a;]sf] /fd|f] x"G% 
<  
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5= ;+u} a;]sf] /fd|f]

7= cGo

8= yfxf %}g

95



uc=11uc=11uc=11uc=11

1= sfg"gL ¿kdf %"^ lbg] ;dfh 
csf]{ kfgfsf] uc=13 df hfg"xf];\

5= sfg"gL ¿kdf %"^ glbg] ;dfh 

7= cGo

8= yfxf %}g

98= k|Zg g} a"lemg csf]{ kfgfsf] uc=13 df hfg"xf];\

uc=12

;a} s"/fnfO{ ljrf/ u/]/ eGg" kbf{, tkfO{+sf] ljrf/df cfhsn, g]kfnLx¿sf] nflu 
s]^fn] s]^f;+u / s]^Ln] s]^L;+u, nf]Ug]:jf:gL h:t} u/L ;+u} a:g, sfg"gL ¿kdf %"^ -
dfGotf_ lbg] ;dfh /fd|f] x"G% ls, %"^ -dfGotf_ glbg] ;dfh /fd|f] x"G% < 

x"gt tkfO{+n] eGg"ePsf] s"/f klg xf], t}klg, tkfO{+sf] ljrf/df, s]^fn] s]^f;+u / s]^Ln] 
s]^L;+u, nf]Ug]:jf:gL h:t} u/L ;+u} a:g sfg"gL ?kdf %"^ -dfGotf_ lbg] ;dfh /fd|f] 
x"G% ls, %"^ -dfGotf_ glbg] ;dfh /fd|f] x"G% < 
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1= sfg"gL ¿kdf %"^ lbg] ;dfh 

5= sfg"gL ¿kdf %"^ glbg] ;dfh 

7= cGo

8= yfxf %}g
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uc=13uc=13uc=13uc=13

1= JolQmsf] vf¤rf] / rfxgf
csf]{ kfgfsf] uc=15 df hfg"xf];\

5= #/kl/jf/sf] vf¤rf] / rfxgf

7= b"j} p:t} p:t} xf]

8= yfxf %}g

uc=14

1= JolQmsf] vf¤rf] / rfxgf

;a} s"/fnfO{ ljrf/ u/]/ eGg" kbf{, tkfO{+sf] ljrf/df cfhsn, g]kfnLx¿sf] nflu 
JolQmut vf¤rf] / rfxgf klxnf k'/f ug"{ /fd|f] x"G% ls, #/kl/jf/sf] vf¤rf] / rfxgf 
klxnf k'/f ug"{ /fd|f] x"G% < 

x"gt tkfO{+n] eGg"ePsf] s"/f klg xf], t}klg, tkfO{+sf] ljrf/df, JolQmut vf¤rf] / 
rfxgf klxnf k'/f ug"{ /fd|f] x"G% ls, #/kl/jf/sf] vf¤rf] / rfxgf klxnf k'/f ug"{ 
/fd|f] x"G% < 
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5= #/kl/jf/sf] vf¤rf] / rfxgf

7= b"j} p:t} p:t} xf]

8= yfxf %}g
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uc=15uc=15uc=15uc=15

1= cfkm\g} hftleq lax] u/]sf]
csf]{ kfgfsf] uc=17 df hfg"xf];\

5= c¿ hft;+u lax] u/]sf]

7= b"j} p:t} p:t} xf]

8= yfxf %}g

uc=16

1= cfkm\g} hftleq lax] u/]sf]

5= c¿ hft;+u lax] u/]sf]

x"gt tkfO{+n] eGg"ePsf] s"/f klg xf], t}klg, tkfO{+sf] ljrf/df, cfkm\g} hftleq lax] 
u/]sf] /fd|f] x"G% ls, c¿ hft;+u lax] u/]sf] /fd|f] x"G% < 

;a} s"/fnfO{ ljrf/ u/]/ eGg" kbf{, tkfO{+sf] ljrf/df cfhsn, g]kfnLx¿sf] nflu 
cfkm\g} hftleq lax] u/]sf] /fd|f] x"G% ls, c¿ hft;+u lax] u/]sf] /fd|f] x"G% < 
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7= b"j} p:t} p:t} xf]

8= yfxf %}g
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uc=17uc=17uc=17uc=17

1= km]l/ csf]{ lax] ug"{ /fd|f] 
csf]{ kfgfsf] uc=19 df hfg"xf];\

5= lax] gu/L a:g" /fd|f]

7= b"j} p:t} p:t} xf]

8= yfxf %}g

uc=18

1= km]l/ csf]{ lax] ug"{ /fd|f] 

x"gt tkfO{+n] eGg"ePsf] s"/f klg xf], t}klg, tkfO{+sf] ljrf/df, pd]/ %b}  ljwjf 
ePsf g]kfnL cfO{dfO{x¿n] km]l/ csf]{ lax] ug"{ /fd|f] x"G% ls, lax] gu/L a:g" /fd|f] 
x"G% < 

;a} s"/fnfO{ ljrf/ u/]/ eGg" kbf{, tkfO{+sf] ljrf/df cfhsn, pd]/ %b} ljwjf ePsf 
g]kfnL cfO{dfO{x¿n] km]l/ csf]{ lax] ug"{ /fd|f] x"G% ls, lax] gu/L a:g" /fd|f] x"G% < 
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5= lax] gu/L a:g" /fd|f]

7= b"j} p:t} p:t} xf]

8= yfxf %}g

99



uc=19uc=19uc=19uc=19

1= lax] ug"{ /fd|f] 
csf]{ kfgfsf] v)* rc df hfg"xf];\

5= lax] gu/L a:g" /fd|f]

7= b"j} p:t} p:t} xf]

8= yfxf %}g

uc=20

1= lax] ug"{ /fd|f] 

5= lax] gu/L a:g" /fd|f]

;a} s"/fnfO{ ljrf/ u/]/ eGg" kbf{, tkfO{+sf] ljrf/df cfhsn, g]kfnLx¿sf] nflu lax] 
ug"{ /fd|f] x"G% ls, slxNo} klg lax] gu/L a:g" /fd|f] x"G% < 

x"gt tkfO{+n] eGg"ePsf] s"/f klg xf], t}klg, tkfO{+sf] ljrf/df, lax] ug"{ /fd|f] x"G% ls, 
slxNo} klg lax] gu/L a:g" /fd|f] x"G% < 
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7= b"j} p:t} p:t} xf]

8= yfxf %}g
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ca, cfpg] 20 jif{df g]kfn s:tf] xf]nf eGg] ljrf/ ug"{xf]; x} t !

rc=1

1= a(\% h:tf] nfU% 2= #^\% h:tf] nfU% 3= p:t}p:t} x"G%

rc=2

1= /fd|f] xf] 2= g/fd|f] xf] 3= s]xL km/s kb}{g

rc=3

1= a(\% h:tf] nfU% 2= #^\% h:tf] nfU% 3= p:t}p:t} x"G%

rc=4

1= /fd|f] xf] 2= g/fd|f] xf] 3= s]xL km/s kb}{g

v)* rcM kfl/jfl/s kl/jt{g ;DaGwL ljZjf; / v)* rcM kfl/jfl/s kl/jt{g ;DaGwL ljZjf; / v)* rcM kfl/jfl/s kl/jt{g ;DaGwL ljZjf; / v)* rcM kfl/jfl/s kl/jt{g ;DaGwL ljZjf; / 
dfGotfdfGotfdfGotfdfGotf

tkfO{+nfO{ ca cfpg] 20 jif{df, g]kfndf s]^Lx?sf] lax] ug]{ pd]/ a(\% h:tf] nfU% 
ls #^\% h:tf] nfU% <

-dflglnpm¤_ ca cfpg] 20 jif{df g]kfndf, s]^Lx?sf] lax] ug]{ pd]/ a(\of] eg] Tof] 
s"/f /fd|f] xf] ls, g/fd|f] xf] ls, s]xL km/s kb}{g <

tkfO{+nfO{, ca cfpg] 20 jif{df, g]kfndf, lax] gu/L, nf]Ug] :jf:gL h:t} ul/ ;+u} a:g] 
s]^fs]^Lx¿?sf] ;+Vof a(\% h:tf] nfU% ls, #^\% h:tf] nfU% <

-dflglnpm¤_ ca cfpg] 20 jif{df g]kfndf, lax] gu/L nf]Ug] :jf:gL h:t} u/L ;+u} a:g] 
s]^fs]^Lx?sf] ;+Vof a(\of] eg], Tof] s"/f /fd|f] xf] ls, g/fd|f] xf] ls, s]xL km/s kb}{g<

cGt/jftf{ lng]sf] nfluM olb pQ/bftfn] yfxf %}g jf s]xL dtna %}g eGg] pQ/ cGt/jftf{ lng]sf] nfluM olb pQ/bftfn] yfxf %}g jf s]xL dtna %}g eGg] pQ/ cGt/jftf{ lng]sf] nfluM olb pQ/bftfn] yfxf %}g jf s]xL dtna %}g eGg] pQ/ cGt/jftf{ lng]sf] nfluM olb pQ/bftfn] yfxf %}g jf s]xL dtna %}g eGg] pQ/ 
lbg"ePdf k|Zg bf]xf]¥ofP/ ;f]Wg"xf];\ .lbg"ePdf k|Zg bf]xf]¥ofP/ ;f]Wg"xf];\ .lbg"ePdf k|Zg bf]xf]¥ofP/ ;f]Wg"xf];\ .lbg"ePdf k|Zg bf]xf]¥ofP/ ;f]Wg"xf];\ .
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rc=5

1= a(\%g\ h:tf] nfU% 2=#^\%g\ h:tf] nfU% 3= p:t}p:t} x"G%

rc=6

1= /fd|f] xf] 2= g/fd|f] xf] 3= s]xL km/s kb}{g

rc=7

1= a(\% h:tf] nfU% 2= #^\% h:tf] nfU% 3= p:t}p:t} x"G%

rc=8

1= /fd|f] xf] 2= g/fd|f] xf] 3= s]xL km/s kb}{g

rc=9

1= a(\% h:tf] nfU% 2= #^\% h:tf] nfU% 3= p:t}p:t} x"G%

tkfO{+nfO{, ca cfpg] 20 jif{df, g]kfndf lah"nL, ^]lnkmf]g, oftfoft, sDKo"^/ h:tf 
gof¤ gof¤ k|ljlwsf] ljsf;df dflg;x?sf] hf]* a(\% h:tf] nfU% ls #^\% h:tf] nfU% 
<

tkfO{+nfO{, ca cfpg] 20 jif{df, g]kfndf cfkm\gf afa"cfdf jf ;f;'-;;"/f;+u ;+u} a:g] 
lax] ePsf dflg;x?sf] ;+Vof a(\% h:tf] nfU% ls, #^\% h:tf] nfU% <

-dflglnpm¤_ ca cfpg] 20 jif{df, g]kfndf cfkm\gf afa"cfdf jf ;f;'-;;"/f;+u ;+u} a:g] 
lax] ePsf dflg;x?sf] ;+Vof #^\of]] eg] Tof] s"/f /fd|f] xf] ls, g/fd|f] xf] ls, s]xL 
km/s kb}{g <

-dflglnpm¤_ ca cfpg] 20 jif{df g]kfndf, %f]*kq ug]{x? a(\of] eg] Tof] s"/f /fd|f] xf] 
ls, g/fd|f] xf] ls, s]xL km/s kb}{g <

tkfO{+nfO{, ca cfpg] 20 jif{df, g]kfndf %f]*kq ug]{x? a(\%g\ h:tf] nfU% ls, 
#^\%g\ h:tf] nfU% <
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rc=10

1= /fd|f] xf] 2= g/fd|f] xf] 3= s]xL km/s kb}{g

rc=11

1= a(\%g\ h:tf] nfU% 2= #^\%g\ h:tf] nfU% 3= p:t}p:t} x"G%

rc=12

1= /fd|f] xf] 2= g/fd|f] xf] 3= s]xL km/s kb}{g

rc=13

1= a(\%g\ h:tf] nfU% 2= #^\%g\ h:tf] nfU% 3= p:t}p:t} x"G%

rc=14

1= /fd|f] xf] 2= g/fd|f] xf] 3= s]xL km/s kb}{g

tkfO{+nfO{, ca cfpg] 20 jif{df, g]kfndf #/kl/jf/sf] vf¤rf] / rfxgf eGbf JolQmut 
vf¤rf] / rfxgfnfO{ dxTj lbg] dflg;x? a(\%g\ h:tf] nfU% ls, #^\%g\ h:tf] nfU% <

-dflglnpm¤_ ca cfpg] 20 jif{df, g]kfndf #/kl/jf/sf] vf¤rf] / rfxgf eGbf JolQmut 
vf¤rf] / rfxgfnfO{ dxTj lbg]x? a(\of] eg] Tof] s"/f /fd|f] xf] ls, g/fd|f] xf] ls, s]xL 
km/s kb}{g <

-dflglnpm¤_ ca cfpg] 20 jif{df, g]kfndf lah"nL, ^]lnkmf]g, oftfoft, sDKo"^/ h:tf 
gof¤ gof¤ k|ljlwsf] ljsf;df dflg;x?sf] hf]* a(\of] eg] Tof] s"/f /fd|f] xf] ls, g/fd|f] 
xf] ls, s]xL km/s kb}{g <

tkfO{+nfO{, ca cfpg] 20 jif{df, g]kfndf kbdf /x]sf jf clwsf/jfnf JolQmnfO{ cfb/ 
ug]{x? a(\%g\ h:tf] nfU% ls #^\%g\ h:tf] nfU% <

-dflglnpm¤_ ca cfpg] 20 jif{df, g]kfndf kbdf /x]sf jf clwsf/jfnf JolQmnfO{ cfb/ 
ug]{]{x? #^\of] eg] Tof] s"/f /fd|f] xf] ls, g/fd|f] xf] ls, s]xL km/s kb}{g <
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rc=15

1= a(\% h:tf] nfU% 2= #^\% h:tf] nfU% 3= p:t}p:t} x"G%

rc=16

1= /fd|f] xf] 2= g/fd|f] xf] 3= s]xL km/s kb}{g

rc=17

1= a(\% h:tf] nfU% 2= #^\% h:tf] nfU% 3= p:t}p:t} x"G%

rc=18

1= /fd|f] xf] 2= g/fd|f] xf] 3= s]xL km/s kb}{g

tkfO{+nfO{, ca cfpg] 20 jif{df, g]kfndf %f]/f%f]/Lsf] lax] ug{sf] nflu s]^f jf s]^L 
afa"cfdfn] g} %fGg] rng a(\% h:tf] nfU% ls #^\% h:tf] nfU% <

-dflglnpm¤_ ca cfpg] 20 jif{df, g]kfndf %f]/f%f]/Lsf] lax] ug{sf] nflu s]^f jf s]^L 
afa"cfdfn] g} %fGg] rng #^\of] eg] Tof] s"/f /fd|f] xf] ls, g/fd|f] xf] ls, s]xL km/s 
kb}{g <

tkfO{+nfO{, ca cfpg] 20 jif{df, g]kfndf lax] gu/L ;+u} ;"Tg] jf zf/Ll/s ;Dks{ ug]{ 
s]^fs]^Lx?sf] ;+Vof a(\% h:tf] nfU% ls #^\% h:tf] nfU% <

-dflglnpm¤_ ca cfpg] 20 jif{df, g]kfndf lax] gu/L ;+u} ;"Tg] jf zfl//Ls ;Dks{ 
ug]{ s]^fs]^Lx?sf] ;+Vof a(\of] eg] Tof] s"/f /fd|f] xf] ls, g/fd|f] xf] ls, s]xL km/s 
kb}{g <
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rc=19

1= a(\%g\ h:tf] nfU% 2= #^\%g\ h:tf] nfU% 3= p:t}p:t} x"G%

98= k|Zg g} a"lemg

rc=20

1= /fd|f] xf] 2= g/fd|f] xf] 3= s]xL km/s kb}{g

rc=21

1= a(\% h:tf] nfU% 2= #^\% h:tf] nfU% 3= p:t}p:t} x"G%

rc=22

1= /fd|f] xf] 2= g/fd|f] xf] 3= s]xL km/s kb}{g

rc=23

1= a(\% h:tf] nfU% 2= #^\% h:tf] nfU% 3= p:t}p:t} x"G%

tkfO{+nfO{, ca cfpg] 20 jif{df, g]kfndf slxNo} klg lax] g}} gu/L a:g] s]^Lx?sf] 
;+Vof a(\% h:tf] nfU% ls #^\% h:tf] nfU% <

tkfO{+nfO{, ca cfpg] 20 jif{df, g]kfndf csf]{ hft;+u lax] ug]{ dflg;x?sf] ;+Vof 
a(\% h:tf] nfU% ls #^\% h:tf] nfU% <

-dflglnpm¤_ ca cfpg] 20 jif{df, g]kfndf csf]{ hft;+u lax] ug]{ dflg;x?sf] ;+Vof 
a(\of] eg] Tof] s"/f /fd|f] xf] ls, g/fd|f] xf] ls, s]xL km/s kb}{g <

tkfO{+nfO{, ca cfpg] 20 jif{df, g]kfndf s]^fn] s]^f;+u / s]^Ln] s]^L;+u nf]Ug] :jf:gL 
h:t} ul/ a:g]x? a(\%g\ h:tf] nfU% ls #^\%g\ h:tf] nfU% <

-dflglnpm¤_ ca cfpg] 20 jif{df, g]kfndf s]^fn] s]^f;+u / s]^Ln] s]^L;+u nf]Ug] 
:jf:gL h:t} ul/ a:g]x? a(\of] eg] Tof] s"/f /fd|f] xf] ls, g/fd|f] xf] ls, s]xL km/s 
kb}{g <
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rc=24

1= /fd|f] xf] 2= g/fd|f] xf] 3= s]xL km/s kb}{g

rc=25

1= a(\nf h:tf] nfU% 2= #^\nf h:tf] nfU% 3= p:t}p:t} x"G%

rc=26

1= /fd|f] xf] 2= g/fd|f] xf] 3= s]xL km/s kb}{g

rc=27

1= a(\%g\ h:tf] nfU% 2= #^\%g\ h:tf] nfU% 3= p:t}p:t} x"G%

rc=28

1= /fd|f] xf] 2= g/fd|f] xf] 3= s]xL km/s kb}{g

tkfO{+nfO{, ca cfpg] 20 jif{df, g]kfndf lax] u/]kl% klxnf] aRrf l(nf] kfpg] 
dflg;x? a(\%g\ h:tf] nfU% ls #^\%g\ h:tf] nfU% <

-dflglnpm¤_ ca cfpg] 20 jif{df, g]kfndf lax] u/]kl% klxnf] aRrf l(nf] kfpg] 
dflg;x? a(] eg] Tof] s"/f /fd|f] xf] ls, g/fd|f] xf] ls, s]xL km/s kb}{g <

-dflglnpm¤_ ca cfpg] 20 jif{df, g]kfndf, slxNo} klg lax] g}} gu/L a:g] s]^Lx?sf] 
;+Vof a(\of] eg] Tof] s"/f /fd|f] xf] ls, g/fd|f] xf] ls, s]xL km/s kb}{g <

tkfO{+nfO{, ca cfpg] 20 jif{df, g]kfndf pd]/ %b} ljw"jf ePsf cfO{dfO{x¿dWo], csf]{ 
lax] ug]{ law"jf cfO{dfO{x¿sf] ;+Vof a(\nf h:tf] nfU% ls, #^\nf h:tf] nfU% <

-dflglnpm¤_ ca cfpg] 20 jif{df, pd]/ %b} ljw"jf ePsf cfO{dfO{x¿dWo], csf]{ lax] 
ug]{ law"jf cfO{dfO{x¿sf] ;+Vof a(\of] eg] Tof] s"/f /fd|f] xf] ls, g/fd|f] xf] ls, s]xL 
km/s kb}{g <
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hc=1

1= a(\nf 3= s]xL klg km/s kb}{g 5= #^\nf

hc=2

1= a(\nf 3= s]xL klg km/s kb}{g 5= #^\nf

hc=3

1= a(\nfg\ 3= s]xL klg km/s kb}{g 5= #^\nfg\

hc=4

1= a(\nfg\ 3= s]xL klg km/s kb}{g 5= #^\nfg\

xfd|f] b]z wgL eof] eg], lax] gu/]sf s]^f s]^L nf]Ug] :jf:gL h:t} u/L ;+u} a:g]x? 
a(\nfg\ ls #^\nfg\ <

xfd|f] b]z wgL eof] eg], nf]Ug] :jf:gLsf] s"/f gldn]/ #/af/ lau|g] dflg;x? a(\nfg\ 
ls #^\nfg\ <

v)* hcM ljsf;sf] sf/)fn] kfl/jfl/s kl/jt{gv)* hcM ljsf;sf] sf/)fn] kfl/jfl/s kl/jt{gv)* hcM ljsf;sf] sf/)fn] kfl/jfl/s kl/jt{gv)* hcM ljsf;sf] sf/)fn] kfl/jfl/s kl/jt{g

s]xL dflg;x? xfd|f] b]z g]kfn eljiodf wgL x"G% eG&fG%g\ . ca xfdL xfd|f] b]z 
g]kfn kl% wgL eof] eg] ljleGg s"/fx?dWo] s"gs"g rng a(\%g\ / s"gs"g rng 
#^\%g\ eGg] af/]df s"/f u/f}+ .

xfd|f] b]z wgL eof] eg], cfkm\gf] %f]/f%f]/Lsf] lax] ug{sf] nflu s]^f jf s]^L afa"cfdfn] 
g} %fGg] rng a(\nf ls #^\nf <

xfd|f] b]z wgL eof] eg], 18 aif{ gk"Ub} lax] ug]{ s]^Lx?sf] ;+Vof a(\nf ls #^\nf <
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hc=5

1= a(\nfg\ 3= s]xL klg km/s kb}{g 5= #^\nfg\

hc=6

1= a(\nfg\ 3= s]xL klg km/s kb}{g 5= #^\nfg\

hc=7

1= a(\nfg\ 3= s]xL klg km/s kb}{g 5= #^\nfg\

hc=8

1= a(\nfg\ 3= s]xL klg km/s kb}{g 5= #^\nfg\

hc=9

1= a(\nfg\ 3= s]xL klg km/s kb}{g 5= #^\nfg\

xfd|f] b]z wgL eof] eg], slxNo} klg lax] g} gu/L a:g] s]^Lx? a(\nfg\ ls #^\nfg\ <

xfd|f] b]z wgL eof] eg], csf]{ hft;+u lax] ug]{ dflg;x? a(\nfg ls #^\nfg\ <

xfd|f] b]z wgL eof] eg], #/kl/jf/sf] vf¤rf] / rfxgf eGbf, JolQmut vf¤rf] / 
rfxgfnfO{ dxTj lbg] dflg;x? a(\nfg\ ls #^\nfg\ <

xfd|f] b]z wgL eof] eg], afa"cfdf cyjf ;f;'-;;"/f;+u ;+u} a:g] lax] ePsf dflg;x? 
a(\nfg\ ls #^\nfg\ <

xfd|f] b]z wgL eof] eg], lax] cl# g} ;+u} ;"Tg] jf zf/Ll/s ;Dks{ ug]{  s]^fs]^Lx? 
a(\nfg\ ls #^\nfg\ <
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hc=10

1= a(\nf 3= s]xL klg km/s kb}{g 5= #^\nf

hc=11

1= a(\nfg\ 3= s]xL klg km/s kb}{g 5= #^\nfg\

98= k|Zg g} a"lemg

hc=12

1= a(\nfg\ 3= s]xL klg km/s kb}{g 5= #^\nfg\

xfd|f] b]z wgL eof] eg], lax] u/]kl% klxnf] aRrf l(nf] kfpg]x? a(\nfg\ ls #^\nfg\<

xfd|f] b]z wgL eof] eg], pd]/ %b} ljw"jf ePsf cfO{dfO{x?dWo], csf]{ lax] ug]{ law"jf 
cfO{dfO{x?sf] ;+Vof a(\nf ls #^\nf <

xfd|f] b]z wgL eof] eg], s]^fn] s]^f;+u / s]^Ln] s]^L;+u nf]Ug] :jf:gL h:t} u/L ;+u} 
a:g]x? a(\nfg\ ls #^\nfg\ <
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of] kfgf vfnL /flvPsf] % .of] kfgf vfnL /flvPsf] % .of] kfgf vfnL /flvPsf] % .of] kfgf vfnL /flvPsf] % .

110



emc=1

1= wgL agfp¤% 3= s]xL klg km/s kfb}{gYof] 5= ul/a agfp¤%

emc=2

1= wgL agfp¤% 3= s]xL klg km/s kfb}{gYof] 5= ul/a agfp¤%

emc=3

1= wgL agfp¤% 3= s]xL klg km/s kfb}{gYof] 5= ul/a agfp¤%

emc=4

1= wgL agfp¤% 3= s]xL klg km/s kfb}{gYof] 5= ul/a agfp¤%

olb nf]Ug] :jf:gLsf] s"/f gldn]/ #/af/ lau|g] dflg;x?sf] ;+Vof a(\of] eg], o;n] 
xfd|f] b]znfO{ s:tf] agfp¤% xf]nf < -wgL agfp¤% xf]nf ls, cem} ul/a agfp¤% xf]nf<_

lax] gu/] klg nf]Ug] :jf:gL h:t} ul/, ;+u} a:g] s]^fs]^Lx?sf] ;+Vof w]/} eof] eg], 
o;n] xfd|f] b]znfO{ s:tf] agfp¤% xf]nf < -wgL agfp¤% xf]nf ls, cem} ul/a agfp¤% 
xf]nf <_

v)* emcM kfl/jf/Ls kl/jt{gsf] sf/)fn] ljsf;v)* emcM kfl/jf/Ls kl/jt{gsf] sf/)fn] ljsf;v)* emcM kfl/jf/Ls kl/jt{gsf] sf/)fn] ljsf;v)* emcM kfl/jf/Ls kl/jt{gsf] sf/)fn] ljsf;

dflg;x? g]kfn wgL eof] eg] kfl/jf/df s:tf] xf]nf eGg] af/]df s"/f u%{g\ . ca 
xfdL g]kfnL kl/jf/sf] s"g} s"/fdf km/s cfof] eg] To;n] g]kfnnfO{ s:tf] agfp¤% eGg] 
af/]df s"/f u/f}+ . tkfO{sf] ljrf/df tnsf s"/fx?n] xfd|f] b]znfO{ wgL agfp¤% ls, 
cem} ul/a agfp¤% xf]nf < atfO{lbg";\ x} t !

olb 18 aif{ gk"Ub} lax] ug]{ s]^Lx? sd eP eg], o;n] xfd|f] b]znfO{ wgL agfp¤% 
xf]nf ls, cem} ul/a agfp¤% xf]nf < 

olb %f]/f%f]/Lsf] lax] ug{sf] nflu s]^f jf s]^L afa"cfdfn] %flglbg] rng #^\b} uof] 
eg], o;n] xfd|f] b]znfO{ wgL agfp¤% xf]nf ls, cem} ul/a agfp¤% xf]nf < 
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emc=5

1= wgL agfp¤% 3= s]xL klg km/s kfb}{gYof] 5= ul/a agfp¤%

emc=6

1= wgL agfp¤% 3= s]xL klg km/s kfb}{gYof] 5= ul/a agfp¤%

emc=7

1= wgL agfp¤% 3= s]xL klg km/s kfb}{gYof] 5= ul/a agfp¤%

emc=8

1= wgL agfp¤% 3= s]xL klg km/s kfb}{gYof] 5= ul/a agfp¤%

emc=9

1= wgL agfp¤% 3= s]xL klg km/s kfb}{gYof] 5= ul/a agfp¤%

olb slxNo} klg lax] g}} gu/L a:g] s]^Lx?sf] ;+Vof al( eof] eg], o;n] xfd|f] b]znfO{ 
s:tf] agfp¤% xf]nf < -wgL agfp¤% xf]nf ls, cem} ul/a agfp¤% xf]nf <_

olb csf]{ hft;+u lax] ug]{ dflg;x? w]/} eP eg], o;n] xfd|f] b]znfO{ wgL agfp¤% 
xf]nf ls, cem} ul/a agfp¤% xf]nf <

lax] gub}{ ;+u} ;"Tg] jf zf/Ll/s ;Dks{ ug]{ s]^fs]^Lx? w]/} eP eg], o;n] xfd|f] 
b]znfO{ s:tf] agfp¤% xf]nf < -wgL agfp¤% xf]nf ls, cem} ul/a agfp¤% xf]nf <_

olb #/kl/jf/sf] vf¤rf] / rfxgf eGbf JolQmut vf¤rf] / rfxgfnfO{ dxTj lbg] 
dflg;x? w]/} eP eg], o;n] xfd|f] b]znfO{ s:tf] agfp¤% xf]nf < -wgL agfp¤% xf]nf 
ls, cem} ul/a agfp¤% xf]nf <_

olb cfkm\gf afa"cfdf jf ;f;'-;;"/f;+u ;+u} a:g] lax] ePsf dflg;x? sd eP eg], 
o;n] xfd|f] b]znfO{ s:tf] agfp¤% xf]nf < -wgL agfp¤% xf]nf ls, cem} ul/a agfp¤% 
xf]nf <_

112



emc=10

1= wgL agfp¤% 3= s]xL klg km/s kfb}{gYof] 5= ul/a agfp¤%

emc=11

1= wgL agfp¤% 3= s]xL klg km/s kfb}{gYof] 5= ul/a agfp¤%

98= k|Zg g} a"lemg

emc=12

1= wgL agfp¤% 3= s]xL klg km/s kfb}{gYof] 5= ul/a agfp¤%

olb lax] u/]kl% klxnf] aRrf l(nf] kfpg]x? w]/} eP eg], o;n] xfd|f] b]znfO{ wgL 
agfp¤% xf]nf ls, cem} ul/a agfp¤% xf]nf <

olb pd]/ %b} ljw"jf ePsf cfO{dfO{x?dWo], csf]{ lax] ug]{ law"jf cfO{dfO{x?sf] ;+Vof 
w]/} eof] eg] o;n] xfd|f] b]znfO{ s:tf] agfp¤% xf]nf < -wgL agfp¤% xf]nf ls, cem} 
ul/a agfp¤% xf]nf <_

olb s]^fn] s]^f;+u / s]^Ln] s]^L;+u nf]Ug] :jf:gL h:t} ul/ ;+u} a:g]x? w]/} eP eg], 
o;n] xfd|f] b]znfO{ wgL agfp¤% xf]nf ls, cem} ul/a agfp¤% xf]nf <
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of] kfgf vfnL /flvPsf] % .of] kfgf vfnL /flvPsf] % .of] kfgf vfnL /flvPsf] % .of] kfgf vfnL /flvPsf] % .
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cGt/jftf{sf/sf] nfluMcGt/jftf{sf/sf] nfluMcGt/jftf{sf/sf] nfluMcGt/jftf{sf/sf] nfluM

`c=1 tkfO{+n] hfkfgnfO{ slt gDa/df /fVg"x"G% <

ca xfdL ;+;f/sf laleGg b]zdf ePsf ljsf;sf af/]df s"/f u/f}+ . s"g b]zdf slQsf] 
ljsf; ePsf] % eGg] s"/f gfKgsf] nflu xfdLn] ;"Go b]lv bz gDa/ ;Ddsf] Pp^f gfk 
agfPsf %f} .                                                
Psbd} ljsf; gePsf b]znfO{ ;"Go gDa/df, &Ls &Ls} ljsf; ePsf b]z kf¤r gDa/df / 
w]/} ljsf; ePsf b]znfO{ 10 gDa/ lbPsf %f}+ . o;df tkfO{+n] b"O{ jf b"O{ eGbf a(L 
b]znfO{ Pp^} gDa/ lbg klg ;Sg" x"G% . ca Psbd} ljsf; gePsf] b]znfO{ ;'Go 
gDa/df / w]/} ljsf; ePsf] b]znfO{ bz gDa/df /fVg] xf] eg], 

cGt/jftf{sf/sf] nfluM olb pQ/bftfn] hfkfg sxf¤ k%{ eg]/ 
;f]w]df of] b]z Pl;of dxfb]zdf k%{ eGg"xf];\

v)* `cv)* `cv)* `cv)* `c: ljsf;sf] gfk ljsf;sf] gfk ljsf;sf] gfk ljsf;sf] gfk

ljsf;sf] sf*{ b]vfpg";\ / o;sf] af/]df cfjZostfcg";f/ JofVof ug"{xf];\ ;fy} 
Pp^} gDa/ klg b"O{j^f b]znfO{ lbg kfOG% eg]/ eGg"xf];\ .
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0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010 csf]{ kfgfsf] `c=3 df hfg"xf];\

98= yfxf %}g

`c=2

0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010 98= yfxf %}g

&\ofSs} yfxf geP klg cGbfh u/]/ eGg" kbf{, tkfO{+n] hfkfgnfO{ slt gDa/df /fVg"x"G% <
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`c=3`c=3`c=3`c=3 tkfO{+n] gfOh]l/ofnfO{ slt gDa/df /fVg"x"G% <

0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010 `c=5 df hfg"xf];\

98= yfxf %}g

`c=4

0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010 98= yfxf %}g

`c=5`c=5`c=5`c=5 tkfO{+n] ef/tnfO{ slt gDa/df /fVg"x"G% <

cGt/jftf{sf/sf] nfluM olb pQ/bftfn] gfO{h]l/of sxf¤ k%{ eg]/ 
;f]w]df of] b]z clk|msf dxfb]zdf k%{ eGg"xf];\

cGt/jftf{sf/sf] nfluM olb pQ/bftfn] ef/t sxf¤ k%{ eg]/ ;f]w]df 
of] b]z Pl;of dxfb]zdf k%{ eGg"xf];\

&\ofSs} yfxf geP klg cGbfh u/]/ eGg" kbf{, tkfO{+n] gfO{h]l/ofnfO{ slt gDa/df 
/fVg"x"G% <
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0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010 csf]{ kfgfsf] `c=7df hfg"xf];\

98= yfxf %}g

`c=6

0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010 98= yfxf %}g

of] b]z Pl;of dxfb]zdf k%{ eGg"xf];\

&\ofSs} yfxf geP klg cGbfh u/]/ eGg" kbf{, tkfO{+n] ef/tnfO{ slt gDa/df /fVg"x"G% <
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`c=7`c=7`c=7`c=7 tkfO{+n] cd]l/sfnfO{ slt gDa/df /fVg"x"G% <

0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010 `c=9 df hfg"xf];\

98= yfxf %}g

`c=8

0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010 98= yfxf %}g

`c=9`c=9`c=9`c=9 tkfO{+n] rLgnfO{ slt gDa/df /fVg"x"G% <

cGt/jftf{sf/sf] nfluM olb pQ/bftfn] cd]l/sf sxf¤ k%{ eg]/ 
;f]w]df of] b]z pQ/ cd]l/sf dxfb]zdf k%{ eGg"xf];\

cGt/jftf{sf/sf] nfluM olb pQ/bftfn] rLg sxf¤ k%{ eg]/ ;f]w]df 
of] b]z Pl;of dxfb]zdf k%{ eGg"xf];\

&\ofSs} yfxf geP klg cGbfh u/]/ eGg" kbf{, tkfO{+n] cd]l/sfnfO{ slt gDa/df /fVg"x"G% 
<
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0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010 csf]{ kfgfsf] `c=11df hfg"xf];\

98= yfxf %}g

`c=10

0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010 98= yfxf %}g

of] b]z Pl;of dxfb]zdf k%{ eGg"xf];\

&\ofSs} yfxf geP klg cGbfh u/]/ eGg" kbf{, tkfO{+n] rLgnfO{ slt gDa/df /fVg"x"G% <
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`c=11`c=11`c=11`c=11 tkfO{+n] dWo clk|msg l/klAnsnfO{ slt gDa/df /fVg"x"G% <

0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010 `c=13 df hfg"xf];\

98= yfxf %}g

`c=12

0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010 98= yfxf %}g

`c=13`c=13`c=13`c=13 tkfO{+n] a]nfotnfO{ slt gDa/df /fVg"x"G% <

&\ofSs} yfxf geP klg cGbfh u/]/ eGg" kbf{, tkfO{+n] dWo clk|msg l/klAnsnfO{ slt 
gDa/df /fVg"x"G% <

cGt/jftf{sf/sf] nfluM olb pQ/bftfn] clk|msg l/kJnLs sxf¤ k%{ 
eg]/ ;f]w]df of] b]z clk|msf dxfb]zdf k%{ eGg"xf];\

cGt/jftf{sf/sf] nfluM olb pQ/bftfn] a]nfot sxf¤ k%{ eg]/ 
;f]w]df of] b]z o'/f]k dxfb]zdf k%{ eGg"xf];\
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0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010 csf]{ kfgfsf] `c=15df hfg"xf];\

98= yfxf %}g

`c=14

0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010 98= yfxf %}g

&\ofSs} yfxf geP klg cGbfh u/]/ eGg" kbf{, tkfO{+n] a]nfotnfO{ slt gDa/df /fVg"x"G% 
<

;f]w]df of] b]z o'/f]k dxfb]zdf k%{ eGg"xf];\
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`c=15`c=15`c=15`c=15 tkfO{+n] a|fhLnnfO{ slt gDa/df /fVg"x"G% <

0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010 `c=17 df hfg"xf];\

98= yfxf %}g

`c=16

0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010 98= yfxf %}g

`c=17`c=17`c=17`c=17 tkfO{+n] kfls:tfgnfO{ slt gDa/df /fVg"x"G% <

cGt/jftf{sf/sf] nfluM olb pQ/bftfn] a|fhLn sxf¤ k%{ eg]/ 
;f]w]df of] b]z blIf)f cd]l/sf dxfb]zdf k%{ eGg"xf];\

cGt/jftf{sf/sf] nfluM olb pQ/bftfn] kfls:tfg sxf¤ k%{ eg]/ 
;f]w]df of] b]z Pl;of dxfb]zdf k%{ eGg"xf];\

&\ofSs} yfxf geP klg cGbfh u/]/ eGg" kbf{, tkfO{+n] a|fhLnnfO{ slt gDa/df /fVg"x"G% 
<
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0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010 csf]{ kfgfsf] `c=19 df hfg"xf];\

98= yfxf %}g

`c=18

0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010 98= yfxf %}g

;f]w]df of] b]z Pl;of dxfb]zdf k%{ eGg"xf];\

&\ofSs} yfxf geP klg cGbfh u/]/ eGg" kbf{, tkfO{+n] kfls:tfgnfO{ slt gDa/df 
/fVg"x"G% <
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`c=19`c=19`c=19`c=19 tkfO{+n] g]kfnnfO{ slt gDa/df /fVg"x"G% <

0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010

98= yfxf %}g

`c=20

0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010 98= yfxf %}g

&\ofSs} yfxf geP klg cGbfh u/]/ eGg" kbf{, tkfO{+n] g]kfnnfO{ slt gDa/df /fVg"x"G% <

csf]{ kfgfsf] v)* ^c df 
hfg"xf];\
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^c=1

1= cfkmgf] sfd cfkm} ug]{

2= cfkmgf] larf/ / sfddf kSsf

3= wd{sd{df ljZjf; /fVg]

4= eg]sf] dfGg]

^c=2

1= cfkm\gf] sfd cfkm} ug]{

2= cfkm\gf] larf/ / sfddf kSsf

3= wd{sd{df ljZjf; /fVg]

4= eg]sf] dfGg] 

1_ =======================, 2_===================/ 3_============ dWo] tkfO{+ bf];|f] dxTjk')f{ s"g 
nfO{ &fGg"x"G% <

v)* ^cM k/Dk/fjfbL tyf gfl:ts d'No / dfGotfv)* ^cM k/Dk/fjfbL tyf gfl:ts d'No / dfGotfv)* ^cM k/Dk/fjfbL tyf gfl:ts d'No / dfGotfv)* ^cM k/Dk/fjfbL tyf gfl:ts d'No / dfGotf

ca d tkfO{+nfO{{ s]^fs]^Lx?nfO{ cfkmg} #/df l;sfpg ;lsg] rf/j^f u")fx? k(]/ 
;"gfp%"" . 1= cfkmgf] sfd cfkm} ug]{ 2= cfkmgf] larf/ / sfddf kSsf 3= wd{sd{df 
ljZjf; /fVg] 4= eg]sf] dfGg], oL rf/ j^f u")fx?dWo] tkfO{+ s"gnfO{ ;a} eGbf 
dxTjk')f{ &fGg"x"G% <

To;kl%sf af¤sL tLgj^f u")fx? 

cGt/jftf{sf/sf] nfluM s= 2 df cfPsf] pQ/ afx]ssf af¤sL tLgj^f ;Defljt 
pQ/x? k(]/ ;"gfpg"xf]nf .
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^c=3

1= zflGt ;"-Joj:yf sfod ug"{

2= hgtfn] eg] cg";f/ ug"{

3= dxéLsf] lj/f]w ug"{

4= af]Ng kfpg] clwsf/sf] /Iff ug"{{

^c=4

1= zflGt ;"-Joj:yf sfod ug"{

2= hgtfn] eg] cg";f/ ug"{

3= dxéLsf] lj/f]w ug"{

4= af]Ng kfpg] clwsf/sf] /Iff ug"{{

olb tkfO{+n] eg] h:tf] x"g]] eP, tkfO{+nfO{ ;a} eGbf dxTjk")f{ s"g s"/f nfU% < 1= 
b]zdf zflGt ;"-Joj:yf sfod ug"{, 2= ;/sf/L lg)f{ox?df hgtfn] eg] cg";f/ x"g", 3= 
dxéLsf] lj/f]w ug"{, 4= af]Ng kfpg] clwsf/sf] /Iff ug"{ . oL rf/j^f s"/fx?dWo] 
tkfO{+nfO{ s"g rflx ;a}eGbf dxTjk')f{ nfU% <

To;kl%sf af¤sL tLgj^f s"/fx? 
cGt/jftf{sf/sf] nfluM s 6 df cfPsf] pQ/ afx]ssf af¤sL tLgj^f ;Defljt pQ/x? 
k(]/ ;"gfpg"xf]nf .
1_=================, 2_================== / 3_============= dWo] tkfO{+ bf];|f] dxTjk')f{ s"gnfO{ 
&fGg"x"G% <
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^c=5

1= Psbd} v"zL %"

2= clncln v"zL %"

3= v"zL %}g

4= slQklg v"zL %}g

98= yfxf %}g

^c=6

1= Psbd} v"zL jf uj{ nfU%

2= w]/} g} v"zL jf uj{ nfU%

3= Tolt v"zL jf uj{ nfUb}g

4= slQklg v"zL jf uj{ nfUb}g

98= yfxf %}g

;a} s"/fx?nfO{ larf/ ubf{ clxn], tkfO{+ Psbd} v"zL x"g"x"G% ls, clncln v"zL 
x"g"x"G% ls, v"zL x"g"x"Gg ls, slQ klg v"zL x"g"x"Gg <

tkfO{+nfO{ cfkm' g]kfnL ePsf]df slQsf] v"zL jf uj{ nfU% < Psbd} v"zL jf uj{ 
nfU% ls, w]/} g} v"zL jf uj{ nfU% ls, Tolt v"zL jf uj{ nfUb}g ls, slQ klg 
v"zL jf uj{ nfUb}g <
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cGt/jftf{sf/sf] nfluMcGt/jftf{sf/sf] nfluMcGt/jftf{sf/sf] nfluMcGt/jftf{sf/sf] nfluM
lgikIftfsf] sf*{ b]vfpg";\ / o;sf] af/]df cfjZostf cg";f/ JofVof ug"{xf];\ 

^c=7

0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010 98= yfxf %}g

cGt/jftf{sf/sf] nfluMcGt/jftf{sf/sf] nfluMcGt/jftf{sf/sf] nfluMcGt/jftf{sf/sf] nfluM
dxTjsf] sf*{ b]vfpg";\ / o;sf] af/]df cfjZostf cg";f/ JofVof ug"{xf];\ 

^c=8

0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010 98= yfxf %}g

tkfO{+sf] hLjgdf eujfg\ slQsf] dxTjk')f{ x"g"x"G% eGg] s"/fnfO{ tkfO{+ slt gDa/df 
/fVg"x"G% <

ca cln km/s gfk lnp¤, h;df, slQ klg dxTjk')f{ gePsf]nfO{ z'Go gDa/ clncln 
dxTjk')f{ ePsf]nfO{ kf¤r gDa/ / Psbd} dxTjk')f{ ePsf]nfO{ bz gDa/ lbg] xf] eg],

dflg;x?n] df}sf kfP eg] ;w} tkfO{+af^ kmfObf lng vf]H%g\ h:tf] nfU% eg] z'Go 
gDj/ / df}sf k¥of] eGb}df To;f] u/L xfNb}gg\ h:tf] nfU% eg] bz gDj/df /fVg] xf] 
eg], w]/}h;f] dflg;x?n] df}sf kfP eg] tkfO{+af^ kmfO{bf lng vf]H%g\ eGg] s"/fnfO{ 
tkfO{+ slt gDa/df /fVg"x"G% <
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cGt/jftf{sf/sf] nfluMcGt/jftf{sf/sf] nfluMcGt/jftf{sf/sf] nfluMcGt/jftf{sf/sf] nfluM

^c=9

0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010 98= yfxf %}g

^c=10

0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010 98= yfxf %}g

^c=11

0000 1111 2222 3333 4444 5555 6666 7777 8888 9999 10101010 98= yfxf%}g

ug{ x"g] gx"g]sf] sf*{ b]vfpg";\ / o;sf] af/]df cfjZostfcg";f/ JofVof ug"{xf];\ 
;fy} Pp^} gDa/ c¿ k|ZgnfO{ klg lbg kfOG% eg]/ eGg"xf];\ .

To;}u/L ca csf]{ gfk h;df 0 b]lv 10 gDa/sf] gfkdf slxNo} klg ug{ gx"g] s"/f 
eP 0 gDa/ u/] klg km/s gkg]{ eP 5 gDa/df / ;w} ug{ x"g] s"/f eP 10 
gDa/df /fVg] xf] eg]  

k]^df ePsf] aRrf kmfNg"" -ue{kft u/fpg"_ nfO{ tkfO{+ slt gDa/df /fVg"x"G% <

To;}u/L s]^fn] s]^f;¤u / s]^Ln] s]^L;¤u nf]Ug] :jf:gL h:t} u/L ;+u} a:g"nfO{ tkfO{+ 
slt gDa/df /fVg"x"G% <

cfkm}n] ug"{kg]{ sfd u/] afkt klg, #"; lng] s"/fnfO{ tkfO{+ slt gDa/df /fVg"x"G% <
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of] kfgf vfnL /flvPsf] % .of] kfgf vfnL /flvPsf] % .of] kfgf vfnL /flvPsf] % .of] kfgf vfnL /flvPsf] % .
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&c=1

1= &Ls nfU% 2= &Ls nfUb}g 8= yfxf %}g

&c=2

1= &Ls nfU% 2= &Ls nfUb}g 8= yfxf %}g

&c=3

1= &Ls nfU% 2= &Ls nfUb}g 8= yfxf %}g

&c=4

1= &Ls nfU% 2= &Ls nfUb}g 8= yfxf %}g

/fhgLlt ug{ cfO{dfO{x? eGbf nf]Ug] dflg;x? :jefj}n] /fd|f x"G%g\ eGg] s"/f tkfO{+nfO{ 
&Ls nfU% ls, &Ls nfUb}g <

cfkm\gf %f]/f%f]/Lsf] ljrf/nfO{ gdfGg] afa"cfdf d'v{ x"g\ eGg] s"/f tkfO{+nfO{ s:tf] 
nfU% < -&Ls nfU% ls, &Ls nfUb}g <_

v)* &cM :jtGqtf / ;dfgtfv)* &cM :jtGqtf / ;dfgtfv)* &cM :jtGqtf / ;dfgtfv)* &cM :jtGqtf / ;dfgtf

ca d tkfO{+nfO{ s]lx egfO{x? k(]/ ;"gfp¤%" . tkfO{+nfO{ tL egfOx? &Ls nfU% ls 
&Ls nfUb}g atfOlbg";\ x} !

dlxgfjf/L ePsL cfO{dfO{n] efG%f %"g" x"¤b}g eGg] s"/f tkfO{+nfO{ &Ls nfU% ls, &Ls 
nfUb}g <

hfteftsf] cfwf/df dflg;nfO{ e]befj ug"{ jf %"§ofpg" x"b}g eGg] s"/f tkfO{+nfO{ &Ls 
nfU% ls, &Ls nfUb}g <

127



&c=5

1= &Ls nfU% 2= &Ls nfUb}g 8= yfxf %}g

&c=6

1= &Ls nfU% 2= &Ls nfUb}g 8= yfxf %}g

%f]/fn] dgk/]sf] s]^L;+u lax] ug{ kfPg eg], afa"cfdfnfO{ a"(];sfndf x]/rfx gug]{ 
ul/ #/} %f]*]/ hfg ;S% eGg] s"/f tkfO{+nfO{ s:tf] nfU% < -&Ls nfU% ls, &Ls 
nfUb}g <_

plxn]sf s"/f v"OlnP clxn]sf s"/f km}lnP, eGg] pvfg tkfO{+nfO{ &Ls nfU% ls, &Ls 
nfUb}g <
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*c=1

1111 2222 3333 4444 5555 6666 98= yfxf %}g

*c=2

1111 2222 3333 4444 5555 6666 98= yfxf %}g

;+;f/sf k|To]s dfG%]nfO{ ;dfg ¿kdf Jojxf/ ul/g" k%{ eGg]s"/f dxTjk')f{ &fGg]] / 
hLjgdf ;a}n] ;dfg cj;/ kfpg"k%{ eGg] ljZjf; ug]{ AolQmnfO{ tkfO{+{+{ slt gDa/df 
/fVg"x"G% <

ca tn eg]sf cfgLafgL / ;f]rfO{ ePsf dflg;x? tkfO{+{+{;+u Psbd} ldN% eg] 6 
gDa/ / slQklg ldNb}g eg] 1 gDa/df /fVg] xf] eg],

v)* *cM dfGotfv)* *cM dfGotfv)* *cM dfGotfv)* *cM dfGotf

cGt/jftf{sf/sf] nfluMcGt/jftf{sf/sf] nfluMcGt/jftf{sf/sf] nfluMcGt/jftf{sf/sf] nfluM
ljj/)fsf] sf*{ b]vfpg";\ / o;sf] af/]df cfjZostfcg";f/ JofVof ug"{xf];\ ;fy} Pp^} 
gDa/ c¿ k|Zgx?nfO{ klg lbg ;lsG% eg]/ eGg"xf];\ . olb pQ/bftfn] ;f]w]df 
elgPsf cfgLafgL tyf ;f]rfO ePsf dflg;x? tkfO{+{+{nfO{{ Psbd} tkfO{+{+{ h:tf] nfU% eg] 
6 gDj/, slQ klg tkfO{+{+{ h:tf] nfUb}g eg] 1 gDj/ eg]/ ;Demfpg ;Sg"x"g] % .

ca xfdL dflg;x?sf] ljleGg cfgLafgL / ;f]rfO{sf] af/]df s"/f u/f}+ . lt cfgLafgL / 
;f]rfO{ tkfO{+{+{;+u slQsf] ldN% eg]/ gfKgsf] nflu xfdLn] 1 b]lv 6 gDa/ ;Ddsf] gfk 
agfPsf %f}+ . To:tf] cfgLafgL / ;f]rfO{ ePsf dflg;x? Psbd} tkfO{+{+{ h:tf] nfU% eg] 
6 gDa/, clncln tkfO{+{+{ h:tf] nfU% eg] 3 gDa/ / slQ klg tkfO{+{+{ h:tf] nfUb}g 
eg] 1 gDa/ lbPsf %f}+ . o;df tkfO{+{+{n] Pp^} gDa/ 2 jf 2 eGbf al( k|Zgdf klg 
lbg ;Sg"x"G% . 

gof¤ gof¤ s"/f ;f]lr/xg" / cfkmg} tl/sfn] sfd ug"{nfO{ dxTjk')f{ &fGg] / cfkm\g} 
tl/sfn] sfd ug{ dgk/fpg] AolQmnfO{ tkfO{+{+{ slt gDa/df /fVg"x"G% <
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*c=3

1111 2222 3333 4444 5555 6666 98= yfxf %}g

*c=4

1111 2222 3333 4444 5555 6666 98= yfxf %}g

*c=5

1111 2222 3333 4444 5555 6666 98= yfxf %}g

*c=6

1111 2222 3333 4444 5555 6666 98= yfxf %}g

*c=7

1111 2222 3333 4444 5555 6666 98= yfxf %}g

%Ss kfg]{ s"/fx? ug{ dgk/fpg], ;w}+ gof¤ gof+¤ s"/f ug{ vf]Hg] / hLjgdf y/L y/Lsf 
sfd ug{" dxTjk')f{ x"G% eG&fGg] dfG%]nfO{ tkfO{+{+{ slt gDa/df /fVg"x"G% <

dflg;n] c?n] eg]sf] s"/f dfGg"k%{ eGg] s"/fdf ljZjf; ug]{ / c?n] gx]/] klg cfkm'n] 
;w} lgod sfg'g kfngf ug"{k%{ eG&fGg] dfG%]nfO{ tkfO{+{+{ slt gDa/df /fVg"x"G%<

cfkm' eGbf km/s lsl;dsf dflg;x?sf] klg s"/f ;"Gg" k%{ eGg] s"/f dxTjk')f{ x"G% 
eG&fGg] / c?sf] s"/f cfkm'nfO{ lrQ ga"em] klg pgLx?nfO{ a"em\g rfxg] dfG%]nfO{ 
tkfO{+{+{ slt gDa/df /fVg"x"G% <

;fwf/)f / &'nf] gklN^g] s"/f dxTjk')f{ &fGg] / cfkm'nfO{ slQklg &'nf] b]vfpg grfxg] 
dfG%]nfO{ tkfO{+{+{ slt gDa/df /fVg"x"G% <

cfkm'n] ug]{ sfdsf] cfkm}n] lg)f{o ug{" dxTjk')f{ x"G% eG&fGg] / c?sf] e/ gk/L 
cfkm'v"zL ug{ dgk/fpg] dfG%]nfO{ tkfO{+{ slt gDa/df /fVg"x"G% <
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*c=8

1111 2222 3333 4444 5555 6666 98= yfxf %}g

*c=9

1111 2222 3333 4444 5555 6666 98= yfxf %}g

*c=10

1111 2222 3333 4444 5555 6666 98= yfxf %}g

;w} /fd|f] Jojxf/ ug{ dxTjk')f{ x"G% eG&fGg] / c?n] unt jf g/fd|f] sfd xf] eg] 
kl% ;s];Dd Tof] sfd ug{ ^fg{ vf]Hg]] dfG%]nfO{ tkfO{+{ slt gDa/df /fVg"x"G% <

k"/fgf] rngrNtLnfO{ dxTj lbg] / cfkm\gf] wd{ cyjf kl/jf/sf] l/tLlytL] dfGg nflukg]{ 
dfG%]nfO{ tkfO{+{ slt gDa/df /fVg"x"G% <

;fxl;nf] sfdug{ vf]Hg], hf]lvd lng rfxg] / Psbd} /dfOnf] lhGbuL latfpg rfxg] 
dfG%]nfO{ tkfO{+{ slt gDa/df /fVg"x"G% <
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of] kfgf vfnL /flvPsf] % .of] kfgf vfnL /flvPsf] % .of] kfgf vfnL /flvPsf] % .of] kfgf vfnL /flvPsf] % .
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(c=1

1= &Ls nfU% 2= &Ls nfUb}g 8= yfxf %}g

(c=2

1= &Ls nfU% 2= &Ls nfUb}g 8= yfxf %}g

(c=3

1= &Ls nfU% 2= &Ls nfUb}g 8= yfxf %}g

(c=4

1= &Ls nfU% 2= &Ls nfUb}g 8= yfxf %}g

v)* (cM efUojfbv)* (cM efUojfbv)* (cM efUojfbv)* (cM efUojfb

dflg;sf lhGbuL jf #/ Jojxf/df ljleGg lsl;dsf #^gf jf s"/fx? lsg / s;/L 
x""G%g\ eGg] ljifodf dflg;x?sf cf-cfkmg} ts{ / ljrf/x? x"G%g\ . d To:tf ts{ / 
ljrf/x? lsg cyjf s;/L x""G%g\ eGg] af/]df ljleGg egfOx? k(]/ ;""gfp¤%" . tL ts{ 
/ ljrf/x¿ tkfO{+nfO{ &Ls nfU% ls &Ls nfUb}g s[kof atfO lbg"xf];\ x} t !

efUodf n]v]sf] dfq kfOG%, b]v]sf] kfOGg eGg] s"/f tkfO{+nfO{ s:tf] nfU% < &Ls 
nfU% ls, &Ls nfUb}g <

sf] ;¤u lax] ug]{ eGg] s"/f klxNo} efUodf n]v]/ cfPsf] x"G% eGg] s"/f tkfO{+nfO{ &Ls 
nfU% ls &Ls nfUb}g <

cfkm\gf] efUodf eP dfq kfO{G% eGg] s"/f tkfO{+nfO{ s:tf] nfU% < -&Ls nfU% ls 
&Ls nfUb}g <_

efUodf % eGb}df *f]sf]df b'w b"x]/ c*\b}g eGg] s"/f tkfO{+nfO{ s:tf] nfU% < -&Ls 
nfU% ls, &Ls nfUb}g <_
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(c=5

1= &Ls nfU% 2= &Ls nfUb}g 8= yfxf %}g

(c=6

1= &Ls nfU% 2= &Ls nfUb}g 8= yfxf %}g

eujfgn] lbP hlt xft yfKg} k¥of] eGg] s"/f tkfO{+nfO{ s:tf] nfU% < -&Ls nfU% ls 
&Ls nfUb}g <_

cfhef]nL &fp¤df cfkm\gf] dfG%] geO{sg s"g} klg sfd ug{ ;ls¤b}g eGg] s"/f tkfO{+nfO{ 
&Ls nfU% ls, &Ls nfUb}g <
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)fc=1 cGt/jftf{ lng]sf] nfluM -hLjg kfqf] x]/]/ lrGx nufpg"xf];\_cGt/jftf{ lng]sf] nfluM -hLjg kfqf] x]/]/ lrGx nufpg"xf];\_cGt/jftf{ lng]sf] nfluM -hLjg kfqf] x]/]/ lrGx nufpg"xf];\_cGt/jftf{ lng]sf] nfluM -hLjg kfqf] x]/]/ lrGx nufpg"xf];\_

1 pQ/bftf 34 jf Tof] eGbf sd jif{sf] x"g"x"G% .

2 pQ/bftf 35 jf Tof] eGbf w]/} jif{sf] x"g"x"G% .

kfgf g+=141 sf] v)* tc df hfg"xf];\

)fc=2 cGt/jftf{ lng]sf] nfluM -hLjg kfqf] x]/]/ lrGx nufpg"xf];\_cGt/jftf{ lng]sf] nfluM -hLjg kfqf] x]/]/ lrGx nufpg"xf];\_cGt/jftf{ lng]sf] nfluM -hLjg kfqf] x]/]/ lrGx nufpg"xf];\_cGt/jftf{ lng]sf] nfluM -hLjg kfqf] x]/]/ lrGx nufpg"xf];\_

1 pQ/bftf :s'n÷SofDk; hfg" x"Gg .

2 pQ/bftf :s'n÷SofDk; hf¤b} x"g"x"G% .

csf]{ kfgfsf] )fc=4 df hfg"xf];\

v)* )fcM lzIff / sfdsf] rfxgfv)* )fcM lzIff / sfdsf] rfxgfv)* )fcM lzIff / sfdsf] rfxgfv)* )fcM lzIff / sfdsf] rfxgf

135

)fc=3 tkfO{+sf] ljrf/df tkfO{ -k]ml/_ :s'n jf SofDk; k(\g hfg"x"G% xf]nf <

1= hfG%" 5= hf¤lbg kfgf g+=139 sf] )fc=9 df hfg"xf];\
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)fc=4)fc=4)fc=4)fc=4 tkfO{+ :s"n jf SofDk;df slt;Dd k(\g rfxg"x"G% <

1 2 3 4 5 6 7 8 9 10

11= P;=Pn=;L= jf ;f] ;/x

12= cfO{=P= jf ;f] ;/x

14= la=P= jf ;f] ;/x

16= Pd=P= jf ;f] ;/x

18= lkPr=*L= jf ;f] ;/x

csf]{ kfgfsf] )fc=6 df hfg"xf];\

97= k(\g ;s] hlt 98= yfxf %}g 

136136



)fc=5 tkfO{+n] eg] hlts} k(\g ;Sg] eP tkfO{ ;a}eGbf w]/} slt ;Dd k(\g"x"GYof] <

1 2 3 4 5 6 7 8 9 10

11= P;=Pn=;L= jf ;f] ;/x

12= cfO{=P= jf ;f] ;/x

14= la=P= jf ;f] ;/x

16= Pd=P= jf ;f] ;/x

18= lkPr=*L= jf ;f] ;/x

97= k(\g ;s] hlt
csf]{ kfgfsf] )fc=7 df hfg"xf];\

98= yfxf%}g 

137

)fc=6)fc=6)fc=6)fc=6

1= Psbd} nfU%

2= clncln nfU%

3= slQ klg nfUb}g

98= yfxf %}g

cGt/jftf{sf/sf] nfluM )fc=4 jf )fc=5 df cfPsf] pQ/nfO{ tnsf] vfln &fp¤df 
n]v]/ k(\g"xf];\ .

slxn]sf¤xL dflg;n] eg]hlt k(\g ufx|f] k%{, olb tkfO{n] ;fRr} g} k(\g rfxg" ePsf] 
% / To;sf] nflu s*f d]xgt ug"{eof] eg] tkfO{+n] ============= ;Dd k(\g ;lsG% 
h:tf] slQsf] nfU% < Psbd} nfU% ls, clncln nfU% ls slQ klg nfUb}g <
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)fc=7)fc=7)fc=7)fc=7 tkfO{nfO{ slDtdf slt;Dd k(] k"U% h:tf] nfU% <

1 2 3 4 5 6 7 8 9 10

11= P;=Pn=;L= jf ;f] ;/x

12= cfO{=P= jf ;f] ;/x

14= la=P= jf ;f] ;/x

16= Pd=P= jf ;f] ;/x

18= lkPr=*L= jf ;f] ;/x

csf]{ kfgfsf] )fc=9 df hfg"xf];\

97= k(\g ;s] hlt 98= yfxf %}g 
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)fc=8 tkfO{+n] rfx] hlt dfq} k(\g] eP tkfO+{ slDtdf slt ;Dd k(\g"x"GYof] <

1 2 3 4 5 6 7 8 9 10

11= P;=Pn=;L= jf ;f] ;/x

12= cfO{=P= jf ;f] ;/x

14= la=P= jf ;f] ;/x

16= Pd=P= jf ;f] ;/x

18= lkPr=*L= jf ;f] ;/x

97= k(\g ;s] hlt

98= yfxf %}g 

139

)fc=9)fc=9)fc=9)fc=9

1= Psbd} dxTjk')f{ %

2= clncln dxTjk')f{ %

3= slQ klg dxTjk')f{ %}g

tkfO{nfO{ cfkm' cd]l/sf, o"/f]k cyjf ci^«]lnof h:tf] &fp¤df k(\g cyjf sfd ug{ hfg" 
slQsf] dxTjk')f{ % < Psbd} dxTjk')f{ % ls, clncln dxTjk')f{ % ls, slQ klg 
dxTjk')f{ %}g < 
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)fc=10

1= Psbd} nfU% 2= clncln nfU% 3= slQ klg nfUb}g

-slxn]sf¤xL dflg;nfO{ cfkm'n] eg] h:tf] x"b}g_, tkfO{n] cd]l/sf, o"/f]k cyjf ci^]«lnof 
h:tf] &fp¤df k(\g cyjf sfd ug{ hfG%" h:tf] slQsf] nfU% < Psbd} nfU% ls, 
clncln nfU% ls slQ klg nfUb}g <
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tc=1 k'j{ ;Dkfbg ug]{sf] nfluMk'j{ ;Dkfbg ug]{sf] nfluMk'j{ ;Dkfbg ug]{sf] nfluMk'j{ ;Dkfbg ug]{sf] nfluM
#/w"/L kfl/jfl/s ;DjGw x]/]/ k'j{ ;Dkfbg ug"{xf];\#/w"/L kfl/jfl/s ;DjGw x]/]/ k'j{ ;Dkfbg ug"{xf];\#/w"/L kfl/jfl/s ;DjGw x]/]/ k'j{ ;Dkfbg ug"{xf];\#/w"/L kfl/jfl/s ;DjGw x]/]/ k'j{ ;Dkfbg ug"{xf];\

1 pQ/bftfsf] slxNo} lax] gePsf 12-34 jif{sf %f]/f%f]/L %}gg\

2 pQ/bftfsf] lax] gePsf 12-34 jif{sf %f]/f%f]/L %g\

tc=2

wGojfb wGojfb wGojfb wGojfb !

v)* tcM lax] gePsf] 12v)* tcM lax] gePsf] 12v)* tcM lax] gePsf] 12v)* tcM lax] gePsf] 12 -34 jif{ pd]/sf %f]/f%f]/Lk|lt 34 jif{ pd]/sf %f]/f%f]/Lk|lt 34 jif{ pd]/sf %f]/f%f]/Lk|lt 34 jif{ pd]/sf %f]/f%f]/Lk|lt 
afa"cfdfsf] rfxgf afa"cfdfsf] rfxgf afa"cfdfsf] rfxgf afa"cfdfsf] rfxgf 

tkfO{+n] cfk\mgf] cd'No ;do lbO{ ;xof]u ul/lbg" ePsf]df xfdL tkfO{nfO{ wGojfb lbg tkfO{+n] cfk\mgf] cd'No ;do lbO{ ;xof]u ul/lbg" ePsf]df xfdL tkfO{nfO{ wGojfb lbg tkfO{+n] cfk\mgf] cd'No ;do lbO{ ;xof]u ul/lbg" ePsf]df xfdL tkfO{nfO{ wGojfb lbg tkfO{+n] cfk\mgf] cd'No ;do lbO{ ;xof]u ul/lbg" ePsf]df xfdL tkfO{nfO{ wGojfb lbg 
rfxfG%f} . xfdL km]l/ km]l/ klg tkfO{+sf] ;xof]usf] cfzf /fVb%f} .rfxfG%f} . xfdL km]l/ km]l/ klg tkfO{+sf] ;xof]usf] cfzf /fVb%f} .rfxfG%f} . xfdL km]l/ km]l/ klg tkfO{+sf] ;xof]usf] cfzf /fVb%f} .rfxfG%f} . xfdL km]l/ km]l/ klg tkfO{+sf] ;xof]usf] cfzf /fVb%f} .

k|To]s %f]/f%f]/Lsf] nflu %"§f%"§} "%f]/f%f]/Lsf] kfgf" 
k'j{ ;Dkfbg ug"{xf];\ .

141

clxn]sf] &Ls ;do====================clxn]sf] &Ls ;do====================clxn]sf] &Ls ;do====================clxn]sf] &Ls ;do====================

141



cGt/jftf{sf/sf] cg"ejcGt/jftf{sf/sf] cg"ejcGt/jftf{sf/sf] cg"ejcGt/jftf{sf/sf] cg"ej



ljj/)f klxnf] k^s bf]>f] k^s t];|f] k^s s}lkmot

ldlt
cGt/jftf{ lng]sf] gfd
kl/)ffd*
;do
csf]{ k^s hfg] ldlt

;Dks{ ljj/)f;Dks{ ljj/)f;Dks{ ljj/)f;Dks{ ljj/)f

* 1= cGt/jftf{ k"/f ePsf] 2= pQ/bftf #/ gePsf] 3= cGt/jftf{ lar}df /f]Sg" k/]sf]

 4= cGt/jftf{ lbg grfx]sf] 5= cGt/jftf{ cf+lzs k"/f ePsf] 6= cGo eP v"nfpg]M=================
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